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IZECH | 10,72 25 10,48 13
B/H 0. 12 (504)4912 (504 | 5,219 4l 4,919 0
B/HO. 24074, 5Ton, #Z ~HHAIE | ow 11,278 1404 8,501 1,283
BH 0.0, 41 i ow 2,610 2% 1,908 w
BJHE 04074 5Ton, IR &~ 8% | ow 9,667 1,497 6,951 1,269
B/H 08 XHE T4 07 i ow 14,3 4,354 6,34 3,618
21013t =3 | 34,64 34,94
210131 L=3m i ow 3,817 3,817
4RO | ow 243,840 2,050 225,913 15,670
t=20cn01 0o 2,09 et 1,32 (4
AZEH03 | ow 243,840 2,050 225,913 15,670
t=20cn01 0o 2,09 753 1,502 3
83232 W) 4803 | 786,06 2,652 265,20 18,372
R0 i ow 243,840 2,259 225,913 15,670
B-Type | 4587 15 4.2 1%
H)IZA28(1=30) 21013t L=3m | ow 4,585 0,585
BIHIRATHOTA 5Ton, B ~ER | ow 31,0 31,29
4791 o 7.3 50 6,43 (a1
47914 | 6,866 0 6,031 (i3
ENpE i ow 14,52 1,597 11,408 1.577
RSC-41401 /2) 0o 10 | %
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v o

&=
&F = = g A M ZH L 24 Z i

* p21SH
@ I (100%), ESEAM) MY
= NNE €8 @ FHN 25, 188

BAIZE A HE L2

>A=8/8x115=1.15
1. QLI (100%)
= 2538 1H,3-2-1 P132
* 129 NS 0=3.6 m/Y

SO 1 221,506 » 101 / 3.6 » 1.15=70,758.8 70,758.8 70,758.8

| 70,758.8 70,758.8

g A 70,758.8 70,758.8

g 70,758 70,758




2 or o =
&F = = A g A M Z 4l L2l &4 i
x* p2 o 25H
@ BB/ 0.12m (90W)+1 & (10%), 28EAN) ; Mg
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
20 10 %+ I 90 %
1. QI THII(10%)
= 2538 1H,3-2-1 P132
* 12E NS 0=3.6 m/Y
SZoIL 221,506 * 121 / 3.6 * 0.1« 1.15=7,075.8 7,075.8 7,075.8
| 7,075.8 7,075.8
2. JIETHII(90%, B/H 0.12m)
= 2528 1H,8-2-3 P266
=012, K=09, f=1/12=08
E=0.70 - 0.05=0.65
Cn = 18(135%)
Q=3600  0.12 x 0.9 = 0.80 = 0.65 / 18 =11.23M3/HR
MEHl @ 4,882 / 11.23 = 0.9 = 391.2 391.2 391.2
L2l 57,077 / 11.23 * 0.9 « 1.15 = 5,260.4 5,260.4 5,260.4
Z Hl 19,226/ 11.23 »0.9=739.3 739.3 739.3
| 6,390.9 391.2 5,260.4 739.3
g A 13,466.7 391.2 12,336.2 739.3
g 13,466 391 12,336 739




2 or o =
&F = = A g A M Z 4l L 24 &4 i
* p2 35H
@ BB/ 0.2m (90%)+21 2 (10%), EEEAM) ; mE
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
1. CIZETHII(10%)
= 2538 1H,3-2-1 P132
* 129 NS 0=3.6 m/Y
SZ0IL 221,506 = 121 / 3.6 * 0.1+ 1.15=7,075.8 7,075.8 7,075.8
| 7,075.8 7,075.8
2. JIIEIHII(90%), B/H 0.2m
= 2528 1H,8-2-3 P266
0=02K=09, f=1/12=0.8
E=0.70 - 0.05=0.65
Cn = 18(135%)
0 =3600 * 0.2 0.9  0.80  0.65 / 18 =18.72M3/HR
MEHl : 7,629 / 18.72 = 0.9 = 366.7 366.7 366.7
L2l 57,077 / 18.72 x 0.9 « 1.15 = 3,155.6 3,155.6 3,155.6
3 Hl ;13,309 / 18.72 % 0.9 = 644.1 644.1 644.1
| 4,166.4 366.7 3,155.6 644.1
g 11,242.2 366.7 10,231.4 644.1
g 11,241 366 10,231 644




2 or o =
&F = = A g A M Z 4l L 24 &4 i
* p2 A4S H
@ BIDI(B/H 0.6m (90%)+212(10%), ESEA) ; mE
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
1. CIZETHII(10%)
= 2538 1H,3-2-1 P132
* 129 NS 0=3.6 m/Y
SZ0IL 221,506 = 121 / 3.6 * 0.1+ 1.15=7,075.8 7,075.8 7,075.8
E | 7,075.8 7,075.8
2. JIEIHII(90%), B/H 0.6m
= 2528 1H,8-2-3 P266
g=06K=09, f=1/12=0.8
E=0.70 - 0.05=0.65
Cn = 20(135%)
0 =3600 0.6 » 0.9  0.80 * 0.65 / 20 =50.54M3/HR
MEHl : 15,691 / 50.54 = 0.9 = 279.4 219.4 219.4
L2l 57,077 / 50.54 x 0.9  1.15=1,168.8 1,168.8 1,168.8
Z Hl 22,791/ 50.54 = 0.9 = 405.8 405.8 405.8
| 1,854.0 219.4 1,168.8 405.8
g 8,929.8 219.4 8,244.6 405.8
g 8,928 279 8,244 405




F

v o

I

=

]

@ SHSILOA(E4PC 1.5ton, EA) ; mE
CEAN 25, 1NEE
BAIZE A HE L2

>A=8/8+115=115

& OHXIDI(CHE S M30cn, EAH)
* 199 NS Qd=24 m/d

® NG NS Q=24 m/g [ 8hr =3 mihr

1) fhxiole
(1) szos

© 221,506 » 121 / 24 = 1.15 = 10,613.8
© 169,804 = 101 / 24 » 1.15 = 8,136.4

2) N8I
(1) SA0IESHE (1.5ton)
MEHl 1,705 / 3.00 = 568.3

\J

& Hl 599 /3.00=199.6

b

H
H

el

10,613.8
8,136.4

18,750.2

568.3

568.3
568.3

10,613.8
8,136.4

18,750.2

18,750.2

199.6

199.6
199.6

o

H

568

18,750




= 258

1#,3-4-3 P141

oo & =
& = 2 A g A 24| = 2H| Z
N
@& SIHRIILCHE (2AE) (B/H 0.12m4PC 1.5t0n) ; M
= NHE 85 0 FHX 5, 15E2
BAIZE RAIS HF L2
>AM=8/8x115=1.15
1. S & CHR(B/H 0.12m, 90%)
= 5EM 1B 3-4-6 P142
% 19Y AIZY 1 0d =98 m/Y
% AZY AIBE 0 Q=98 m/Y /8 hr/Y=12.25m/hr
1) HiZxloI®
(1) SZoIL 1 221,506 » 19 / 98 * 0.9 » 1.15 = 2,339.3 2,339.3 2,339.3
(2) 2S012 1 169,804 = 19 / 98 x 0.9 » 1.15 = 1,793.3 1,793.3 1,793.3
A 4,132.6 4,132.6
2) NI
(1) 2J1 (B/H 0.12m)
WEHl : 4,882 / 12.25 % 0.9 = 358.6 358.6 358.6
LS9 1 57,077 / 12.25 % 0.9 * 1.15 = 4,822.4 4,82.4 4,82.4
2 Hl 9,26/ 12,25+ 0.9 =677.8 677.8 677.8
(2) I=SZ22f (BSIIOISAl 0.7ton)
WEHl : 3,134 / 12.25 % 0.9 = 230.2 230.2 230.2
2 Hl:1,902 /12,25 % 0.9 = 139.7 139.7 139.7
(3) 443 (55004 )
WEHl : 15,245 / 12.25 0.5 * 0.9 = 560.0 560.0 560.0
L 2H| ;49,479 / 12.25 % 0.5 * 0.9 * 1.15 = 2,090.2 2,090.2 2,090.2
2 Hl 9,765/ 12.25 % 0.5 % 0.9 = 358.7 358.7 358.7
A 9,237.6 1,148.8 6,912.6 1,176.2
2. 2 ZE(10%)




o Jr g =
aly = = A g M=l L 24| e S|
& OHXIDI(CHE S M30cm, EAH)
#* 199 NS Qd=24 m/d
® AN2E ANBE Q=24 m/L /8B =3 m/hr
1) X«
(1) S22 : 221,506 121 / 24 + 0.1 * 1.15 = 1,061.3 1,061.3 1,061.3
(2) 250182 : 169,804 = 101 / 24 = 0.1 » 1.15 = 813.6 813.6 813.6
EN: | 1,874.9 1,874.9
2) A2IIH
ZYO0IE2HH (1.5ton)
MSHl @ 1,705/ 3.00 » 0.1 =56.8 56.8 56.8
4 Hl 599 /3.00=*0.1=19.9 19.9 19.9
| 76.7 56.8 19.9
g A 15,321.8 1,205.6 12,920.1 1,196.1
&t H 15,321 1,205 12,920 1,196




oo & =
& = 2 A g A 24| = 2H| Z
ENN
@& SIHRIILCHE (2IATH (B/H 0.2m4PC 1.5ton) 5 Mg
= MY 5 0 FHI 23, 1%ES
BAIZE RAIS HF L2
>AM=8/8x115=1.15
1. SR & CHE(B/H 0.2, 90%)
= 5EM 1B 3-4-6 P142
% 19 AIBZ 1 Qd =130 m/L
% A2 AIBE 0 Q=130 m/2 /8 hr/Y =16.25 m/hr
1) HiZxloI®
(1) SEoIL 1 221,506 » 12 / 130 * 0.9 * 1.15 = 1,763.5 1,763.5 1,763.5
(2) 2SQI2 1 169,804 » 19 / 130 * 0.9 * 1.15 = 1,351.9 1,351.9 1,351.9
A 3,115.4 3,115.4
2) NI
(1) 2=J1 (8/H0.2m)
WEHl : 7,629 / 16.25 % 0.9 = 422.5 4225 4225
24| 1 57,077 / 16.25 0.9 * 1.15 = 3,635.3 3,635.3 3,635.3
3l : 13,399 / 16.25 * 0.9 = 742.0 742.0 742.0
(2) I=SZ22f (BSIIOISAl 0.7ton)
W2t : 3,134 / 16.25 » 0.9 = 173.5 173.5 173.5
3 Hl: 1,902/ 16.25 % 0.9 = 105.3 105.3 105.3
(3) 443 (55004 )
W&t : 15,245 / 16.25 0.5 * 0.9 = 422.1 422 1 422 1
2| 1 49,479 / 16.25 x 0.5 0.9 * 1.15 = 1,575.7 1,575.7 1,575.7
3 Hl: 9,765/ 16.25 % 0.5 % 0.9 = 270.4 270.4 270.4
A 7,346.8 1,018.1 5,211.0 1,117.7
2. 2 ZE(10%)
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o Jr g =
aly = = A g M=l L 24| e S|
& OHXIDI(CHE S M30cm, EAH)
#* 199 NS Qd=24 m/d
® AN2E ANBE Q=24 m/L /8B =3 m/hr
1) X«
(1) S22 : 221,506 121 / 24 + 0.1 * 1.15 = 1,061.3 1,061.3 1,061.3
(2) 250182 : 169,804 = 101 / 24 = 0.1 » 1.15 = 813.6 813.6 813.6
EN: | 1,874.9 1,874.9
2) A2IIH
ZYO0IE2HH (1.5ton)
MSHl @ 1,705/ 3.00 » 0.1 =56.8 56.8 56.8
4 Hl 599 /3.00=*0.1=19.9 19.9 19.9
| 76.7 56.8 19.9
g A 12,413.8 1,074.9 10,201.3 1,137.6
&t H 12,412 1,074 10,201 1,137
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= APl
&F = = A g A M Z 4l L 24 &4 i

Qg =7.46/0.10="74.6

M2l 15,245 / 74.60 « to = 126.7 #/m 126.7 126.7

L Rl 49,479 / 7460 + 1.15 = 762.7 H/m 762.7 762.7

d Bl 9,765/ 74.60 = 130.8 #/m 130.8 130.8

| 1,147.2 253.7 762.7 130.8

g A 22,627.4 253.7 22,242.9 130.8
g 22,625 253 22,242 130
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= APl
&F = = A g A M Z 4l L 24 &4 i

Qg =7.46/0.10="74.6

M2l 15,245 / 74.60 « to = 126.7 #/m 126.7 126.7

L Rl 49,479 / 7460 + 1.15 = 762.7 H/m 762.7 762.7

d Bl 9,765/ 74.60 = 130.8 #/m 130.8 130.8

| 1,147.2 253.7 762.7 130.8

g A 22,627.4 253.7 22,242.9 130.8
g 22,625 253 22,242 130
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HELLCHA (22=21) (B/H 0.12m (90%)+01& (10%)+2 Pé.)
, mg

= AN &5 1 0 €3, 15%E8
BAIZE ZHAIQ AE L2
>A=8/8+11=115
1. IHO(2H) : g5
2.0 A (2EI]0.12m, 90%)
= 2534 1M ,8-2-3 P266
g=0.12m , K=1.1,f=0.9/1.15=0.78
Cm =18 sec(135°) , E=10.75
0=3600*q*«K+*fxE/Cn=15.44 m'/hr
WEHl 4,882 / 15.44 « 0.9 = 284.5 W/m
CRH] ¢ 57,077 / 15.44 « 0.9 « 1.15 = 3,826.0 W/m
Z Bl 9,226 / 15.44 « 0.9 = 537.7 W/m

v AUZH 1H,3-2-1 P1%6
.15=2,148.0 /m

LQatabl = QMC - NMC = 13% - 8% = 5%
5 =W/ (2.0 t/m) x 100
0.05=W/2.0

284.5
3,826.0
537.7

4,648.2

2,148.0

2,148.0

284.5

284.5

3,826.0

3,826.0

2,148.0

2,148.0

537.7

537.7




k=i =
s = = H [ | =4a] L 2H| HI
m g 824 1 1,270 » 0.10 = 127.0 127.0 127.0
2) A=Hl(L=1.0km)
L=1.0km, V=55m
E=09(2C20&3A 42QYEX)
t1="bnin (EYZEHI)
t2=1/25 2 x 60 = 4.8 min (EFAIZ})
t3 = 10min(EYAI2H)
t4 = 20min(&=Al2H)
cm=11+ 12+ t3+ t4=239.8 min
to = (t2 + t4) / cmn = 0.62 min
Qw=260*V+*E/cm=7.46 ton/hr
Qg =7.46/0.10=74.6
M = 8l 15,245 / 74.60 « to = 126.7 W/m 126.7 126.7
L 2 Hl 49,479 / 74.60 1,15 = 762.7 W/m 762.7 762.7
Z Bl 9,765 / 74.60 = 130.8 #/m 130.8 130.8
EA| 1,147.2 253.7 762.7 130.8
g A 7,943.4 538.2 6,736.7 668.5
g A 7,942 538 6,736 668
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]

HELLOHE (2FR) (B/H 0.2m (90%)+1 (10%)+S CHE )
; Mg

= AN &5 1 0 €3, 15%E8
BAIZE ZHAIQ AE L2
>A=8/8+11=115
1. IHO(2H) : g5
2. 01 A (&I 0.2m, 90%)
= 25348 1H,8-2-3 P266
g=0.2m ,K=11,f=09/1.15=0.78
Cm =18 sec(135°) , E=10.75
0=3600*q*«K+*fxE/Cn=2574 m/hr
WEHl - 7,629 / 25.74 « 0.9 = 266.7 W/m
28l 2 57,077 / 25.74 « 0.9 + 1.15 = 2,295.0 W/m
Z bl @ 13,399 / 25.74 « 0.9 = 468.4 W/m

b

Al
3. o E(10%)
o UZE 18 ,3-2-1 P136
BS0L 1 169,804 » 0.11 » 0.1 + 1.15 = 2,148.0 /m

LQatabl = QMC - NMC = 13% - 8% = 5%
5 =W/ (2.0 t/m) x 100
0.05=W/2.0

266.7
2,29.0
468.4

3,030.1

2,148.0

2,148.0

266.7

266.7

2,29.0

2,29.0

2,148.0

2,148.0

468.4

468.4




k=i =
s = = H [ | =4a] L 2H| HI
m g 824 1 1,270 » 0.10 = 127.0 127.0 127.0
2) A=Hl(L=1.0km)
L=1.0km, V=55m
E=09(2C20&3A 42QYEX)
t1="bnin (EYZEHI)
t2=1/25 2 x 60 = 4.8 min (EFAIZ})
t3 = 10min(EYAI2H)
t4 = 20min(&=Al2H)
cm=11+ 12+ t3+ t4=239.8 min
to = (t2 + t4) / cmn = 0.62 min
Qw=260*V+*E/cm=7.46 ton/hr
Qg =7.46/0.10=74.6
M = 8l 15,245 / 74.60 « to = 126.7 W/m 126.7 126.7
L 2 Hl 49,479 / 74.60 1,15 = 762.7 W/m 762.7 762.7
Z Bl 9,765 / 74.60 = 130.8 #/m 130.8 130.8
EA| 1,147.2 253.7 762.7 130.8
g A 6,325.3 520.4 5,205.7 599.2
g 6,324 520 5,205 599
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HELLOHE (2FR) (B/H 0.6m (90%)+1 (10%)+SCHE )
; Mg

= NHE 25 0 FAHXN 25, 1%8E
BAIZE A HE L2
>A=8/8+11=115
1. IHO(2H) : g5
2.1 A (2EI1 0.6m, 90%)
= 2524 1H,8-2-3 P266
g=0.6m ,K=11,f=09/1.15=0.78
Cn =20 sec(135°) , E=0.75
0=23600*q+*K=*fxE/Cn=2695 m/hr
M=Hl @ 15,691 / 69.50 0.9 = 203.1 W/m 203.1 203.1
L2H| ¢ 57,077 / 69.50 + 0.9 * 1,15 = 849.9 W/m 849.9 849.9
Z 22,791 / 69.50 + 0.9 = 295.1 W/m 295. 1 295. 1

b

Al 1,348.1 2083.1 849.9 295.1
3. o E(10%)

o UZE 18 ,3-2-1 P136
BS0L 1 169,804 » 0.11 » 0.1 + 1.15 = 2,148.0 /m 2,148.0 2,148.0

| 2,148.0 2,148.0

LQatabl = QMC - NMC = 13% - 8% = 5%
5 =W/ (2.0 t/m) x 100
0.05=W/2.0




k=i =
s = = H [ | =4a] L 2H| HI
m g 824 1 1,270 » 0.10 = 127.0 127.0 127.0
2) A=Hl(L=1.0km)
L=1.0km, V=55m
E=09(2C20&3A 42QYEX)
t1="bnin (EYZEHI)
t2=1/25 2 x 60 = 4.8 min (EFAIZ})
t3 = 10min(EYAI2H)
t4 = 20min(&=Al2H)
cm=11+ 12+ t3+ t4=239.8 min
to = (t2 + t4) / cmn = 0.62 min
Qw=260*V+*E/cm=7.46 ton/hr
Qg =7.46/0.10=74.6
M = 8l 15,245 / 74.60 « to = 126.7 W/m 126.7 126.7
L 2 Hl 49,479 / 74.60 1,15 = 762.7 W/m 762.7 762.7
Z Bl 9,765 / 74.60 = 130.8 #/m 130.8 130.8
EA| 1,147.2 253.7 762.7 130.8
g A 4,643.3 456.8 3,760.6 425.9
g 4,641 456 3,760 425




2 or o =
&F = = A g A M=t L 24 &4 i
* p2 135 H
@ ABARBHI2HR) L=30m(100%) ; mE
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
w2538 18, 1-2-7 P57
1. A8 TIH28H-100%
1) 248
V= 2000M/HR, T =45082
L = 30, t0 = 1.58
rt = 1900Kg/m
qg=2%g / rt=0013m
N = VT / (120+L + Vxt0) = 136.36
Q=N=xqg=1773m
L2l ¢ 191%169,804 / 1.773 * 1.15 = 110,137.9 110,137.9 110,137.9
| 110,137.9 110,137.9
g A 110,137.9 110,137.9
g 110,137 110,137




2 or o =
&F = = A g A M=t L 24 &4 i
* p214SH
@ UAAREHDHF) L=30m( L A50%+2I O13t50%) & mE
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
w2538 18, 1-2-7 P57
1. AR RH28)-50%
1) 248
V= 2000M/HR, T =45082
L = 30, t0 = 1.58
rt = 1900Kg/m
qg=2%g / rt=0013m
N = VT / (120+L + Vxt0) = 136.36
Q=N=xqg=1773m
L2l ¢ 191+169,804 / 1.773 * 1.15 » 0.5 = 55,068.9 55,068.9 55,068.9
| 55,068.9 55,068.9
2. A28H(2I013t)-50%
1) 248
V= 2500M/HR, T =45082
L = 30, t0 = 52
rt = 1900Kg/m
q=250Kg / rt =0.132 m
N = VT / (120L + Vxt0) = 69.88
Q=N=xqg=9.224m
2| ¢ 201+169,804 / 9.224 * 1.15 x 0.5 = 21,170.2 21,170.2 21,170.2
| 21,170.2 21,170.2
g A 76,239.1 76,239.1
g 76,239 76,239




2 or o =
&F = = A g A M=t L 24 &4 i
* p2 155 H
@ ABARBHEAR) L=30m(21Z100%) ; mE&
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
w2538 18, 1-2-7 P57
1. A8 TIH28H-100%
1) EANB
V= 2000M/HR, T =45082
L = 30, t0 = 1.58
rt = 1800Kg/m
q=2Kg / rt=0.014m
N = VT / (120+L + Vxt0) = 136.36
Q=N=*qg=1.909 m
L2l ¢ 191%169,804 / 1.909 * 1.15 = 102,291.5 102,291.5 102,291.5
| 102,291.5 102,291.5
g A 102,291.5 102,291.5
g 102,291 102,291




2 or o =
&F = = A g A M=t L 24 &4 i
* p2 162 H
@ UAAREHEAMST) L=30m( I 5002 15t50%) & mE
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
w2538 18, 1-2-7 P57
1. AR RH28)-50%
1) EANB
V= 2000M/HR, T =45082
L = 30, t0 = 1.58
rt = 1800Kg/m
q=2Kg / rt=0.014m
N = VT / (120+L + Vxt0) = 136.36
Q=N=*qg=1.909 m
L2l ¢ 101+169,804 / 1.909 * 1.15 » 0.5 = 51,145.7 51,145.7 51,145.7
| 51,145.7 51,145.7
2. A28H(2I013t)-50%
1) EANB
V= 2500M/HR, T =45082
L = 30, t0 = 52
rt = 1800Kg/m
q=250Kg / rt =0.139 m
N = VT / (120L + Vxt0) = 69.88
Q=Nxqg=9.713 m
L2l ¢ 201%169,804 / 9.713  1.15 * 0.5 = 20,104.4 20,104.4 20,104.4
| 20,104.4 20,104.4
g A 71,250.1 71,250.1
g 71,250 71,250




2 or o =
&F = = A g A M=t L 24 &4 i
* p2 7S H
@ USAAREHIHT) L=30n(2I03t) ¢ mE
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
w2538 18, 1-2-7 P57
1. A28H2l03H)
1) 248
V= 2500M/HR, T =45082
L = 30, t0 = 52
rt = 1900Kg/m
q=250Kg / rt =0.132 m
N = VT / (120L + Vxt0) = 69.88
Q=N=xqg=9.224m
L2l ¢ 201%169,804 / 9.224 + 1.15 = 42,340.5 42,340.5 42,340.5
| 42,340.5 42,340.5
g A 42,340.5 42,340.5
g 42,340 42,340




2 or o =
&F = = A g A M=t L 24 &4 i
x p2 185 H
@ QSEAREHEMST) L=30n(2I03t) & mE
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
w2538 18, 1-2-7 P57
1. A28H2l03H)
1) EANB
V= 2500M/HR, T =45082
L = 30, t0 = 52
rt = 1800Kg/m
q=250Kg / rt =0.139 m
N = VT / (120L + Vxt0) = 69.88
Q=Nxqg=9.713 m
2| ¢ 201%169,804 / 9.713 * 1.15 = 40,208.9 40,208.9 40,208.9
| 40,208.9 40,208.9
g A 40,208.9 40,208.9
g 40,208 40,208
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& 2XHE(ASEHATHI(EAN) B/H 0.2 ; Mg
= NNE €8 @ FHN 25, 188

BAIZE A HE L2

>A=8/8+115=115

1. & X (2&J10.2m)

= 2528 1H,8-2-3 P266
g=02K=09, f=1/12=0.8
E=0.75, Cm = 13(45%)
0=23600 g+ K+ f+E/Cn=29.91M3/HR
MEHl © 7,629 / 29.91 = 285.0
L2l 57,077 / 29.91 x 1.15=2,194.5

Z Hl 13,399 / 29.91 = 447.9

© 28 :450/T "
© 28tHel L=2.0kM

V=20Kn/h " vkl

2.2 BH(45TND.T)

= 2528 1H,8-2-8 P82
L=2.0KN E=0.9, f=1/1.25=0.8
T=4.5T0N, q=T/1.8+1.25=23.13 m/CH
g5 =02, K=0.9 n=q/ (as *K) = 17.39
cms = 13sec, Es = 0.70
t1=(cms = n) / (60 x Es) =5.38 &
t2=((L/20)+(L/25)) * 60 = 10.8 =
t3=10.8, t4=0.42, t5=3.77(UHLEHNEX)
Cm=523+1080+08+042+3.77=21.17 2
Q=(60+*q+*f=*E)/Cn=6.39 m/hr
MEHl @ 8,700 / 6.39 = 1,361.5 W/m

255.0
2,194.5
447.9

2,897 .4

255.0

255.0

2,194.5

2,194.5

447.9

447.9
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| M Z 4l L2l Z i
149,479 / 6.39 « 1.15= 8,904.6 W/m 8,904.6 8,904.6
D7,472 /6.39= 1,169.3 #/m 1,169.3 1,169.3

11,435.4 1,361.5 8,904.6 1,169.3
14,332.8 1,616.5 11,099.1 1,617.2

o

14,332 1,616 11,099 1,617




gt =
&t e = A g A X 2 i L2yl 4 i
* M2 N3 HE
@ SHERBHL=2.00M) (BE~IIEXE) ; mg
= NME 82 0 =AM 25, 15988
BAIZE A Y L2
>A=8/8+11=115
© 2B :450/T "
O 28AC L=2.0KM
[=2.0Km L=2.0Km
HE - IEIE - 8%
V=20Km/h V=25Km/h
1.2 B (45TOND.T)
e 2hZ4d 1H,8-2-8 P282
L=2.0KN E=0.9, f=1/1.25=0.8
T=45T0N, q=T/1.8+1.25=3.13 m'/(}
gs=0.2, K=0.9, n=q/ (as xK) = 17.39
cms = 18sec(135° ), Es = 0.70
t1="(cms *n) / (60 » Es) =7.45 &
t2=((L/20)+(L/25)) = 60 = 10.8 &
t3=108, t4=0.42, t5=23.77(ALFHLR)
Cm=7.45+10.80+0.8+0.42+3.77=23.24 2
Q=(60*qx*fxE)/Cn=>582mhr
M=Hl @ 8,700 / 5.82 = 1,494.8 W/m 1,494.8 1,494.8
L2H 49,479 / 5.82 « 1.15= 9,776.7 W/m 9,776.7 9,776.7
Z bl 17,472 /58 = 12838 Wm 1,283.8 1,283.8
EA| 12,555.3 1,494.8 9,776.7 1,283.8
g A 12,555.3 1,494.8 9,776.7 1,283.8
g 12,553 1,494 9,776 1,283




oo & =
s = 2 H [ | M= 8l L 2H| 4 i
* M2 215 H
& ZHESVH(L=2.0M) (BE~HEAE) ; mg
= NNg 82 @ AN 3, 15988
BAIZE ZAHAIQ AE L2
>A=8/8+11=115
O 28t 450/T "
O 28AC L=2.0KM
[=2.0Km L=2.0Km
oY - - ERE ——— - H%
V=20Km/h V=25Km/h
1.2 B (45TOND.T)
e 2hZ4d 1H,8-2-8 P282
L=2.0KM, E=0.9 f=1/1.2-0.8
T=45T0N, q=T/1.8+1.25=3.13 m'/(}
gs=0.6,K=0.9, n=q/ (as*K) =58
cms = 20sec(135° ), Es = 0.70
t1="(cms * n) / (60 » Es) = 2.76 &
t2=((L/20)+(L/25)) = 60 = 10.8 &
t3=108, t4=0.42, t5=23.77(ALFHLR)
Cm=2.76+10.80+0.84+0.42+3.77=18.55 &2
Q=(60*qx*fxE)/Cn=7.29 m/hr
M=Hl @ 8,700 / 7.29 = 1,193.4 W/m 1,193.4 1,193.4
L2l 249,479 / 7.29 « 1.15= 7,805.3 W/m 7,805.3 7,805.3
d Bl :7,472/7.29= 1,024.9 W/ 1,024.9 1,024.9
EA| 10,023.6 1,193.4 7,805.3 1,024.9
g A 10,023.6 1,193.4 7,805.3 1,024.9
g 10,022 1,193 7,805 1,024




= =
s = = A g A =4 Bl Bl
* M2 RS H
& SEESEH(L=2.0M ORI~ F) ; mE
- NAE 85 =HH 223, N8
BAIZE A HE L2
Al=8/8x1.15=1.15
* 28 450/T
# 28HHE ¢ L=2.0kM
[=2.0Km L=2.0Km
IHEXE & IHEXE
V=20Km/h V=25Km/h
1.4 I (2RI 1.0m)
= 2554 1M ,8-2-3 P266
=1.0,K=09, f=1/12=028
E=0.75, Cm = 21(136%)
Q=3600*q*K=*fxE/Cn=92.57M3/HR
M=l : 29,999 / 92.57 = 324.0 324.0 324.0
L2l 57,077 / 92.57 * 1.15 =709.0 709.0 709.0
Z Hl 28,95/ 92.57 = 312.7 312.7 312.7
& A 1,345.7 324.0 709.0 312.7
2. 2 B (4.5T0ND.T)
= 2554 1M ,8-2-8 P282
L=2.0KM E=0.9 f=1/1.25=0.8
T=45T0N, q=T/1.8¢1.25=23.13 m/O
gs=1.0,K=12,n=q/ (as * K) = 2.61
cms = 21sec, Es = 0.6
t1=(cms * n) / (60 » Es) = 1.52 &
t2=((L/20)+(L/25)) « 60 = 10.8 &
t3=0.8, t4=0.42, t5=3.77(AHLNLX)
Cm=1.52+10.80+08+042+3.77=17.31 &
Q=(60*qx*fxE)/Cn=7.81m/hr
MEHl ;8,700 / 7.81 = 1,113.9 W/m 1,113.9 1,113.9




o [0
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*
I

= =

| M Z 4l L 24 2 dl
149,479 | 7.81 « 1.15= 7,285.6 W/m 7,285.6 7,285.6
D7.472 /7.81= 956.7 H/m 956.7 956.7
9,356.2 1,113.9 7,285.6 956.7
10,701.9 1,437.9 7,994.6 1,269.4

o

10,700 1,437 7,994 1,269
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0>

fOXE(2R11.0m)

~ 2534 18 ,8-2-3 P266

g=1.0K=09, f=1/12=0.8
E=0.75, Cm = 21(135%)

0=23600 g * K+ f+E/Cn=92.57M3/HR
MEHl © 29,999 / 92.57 = 324.0

‘R4l 57,077 / 92.57 = 616.5

Z Hl ot 28,955/ 92.57 = 312.7

|

.2 B (24.0TOND.T)

o 25B 4 1H ,8-0-8 P82

L=20.0KM, E=0.9, f=1/1.250.8
T=24.000N, q=T/1.8+1.25=16.67 m' /U4
gs=1.0,K=0.9 n=q/ (as  K) = 18.52
cms = 21(sec), Es = 0.60

t1=(cms = n) / (60  Es) = 10.8 &

t2 = 60.00 (28l £H

]
oz

HX)
t3=0.8, t4=0.42, t5=0.50(NHSLNHEX)
(m=t1+t2+t3+t4+th=722 2
Q=(60*qx*fxE)/Cn=29.9 m/hr

324.0

324.0




= APl
&F = = A g A M Z 4l L 24 2 dl

MEHl : 40,024 / 9.93 = 4,030.6 #/m 4,030.6 4,030.6

CRH 57,077 /9.93 = 5,747.9 H/m 5747.9 5,747.9

g Bl ¢ (32,323 +499) / 9.93= 3,306.3 #/m 3,305.3 3,305.3

| 13,083.8 4,030.6 5,747.9 3,305.3

g A 14,337.0 4,354.6 6,364.4 3,618.0
g 14,336 4,354 6,364 3,618




2 or o =
&F = = A g A M Z 4l L 24 2 dl
* p2 25 H
@ OLAZEZZNM(AEEYOIS) 3 M
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
o 2524 5 3-1-1 P1103
® UG A3 1 0d=2.7 m/d
* ANZY ABE 1 Q=27/8hr=0.34 m/hr
OLAZEZZINI
1) Xl
Y3 220,081 x2Q /2.7 1.15=187,476.4 #/m 187,476.4 187,476.4
SE2 169,804 + 1 Q1 /2.7 » 1.15 = 72,323.9 #/m 72,323.9 72,323.9
E | 259,800.3 259,800.3
2) 2801 (1.5m /min, HIIA)
Z H 338 x8hrx2 0 /0.34=15670.5 #/m 15,670.5 15,670.5
E | 15,670.5 15,670.5
3) ZMEHI (=12 1%)
M 2 dl:259,800.3 = 0.01 =2,598.0 #/m 2,598.0 2,598.0
| 2,598.0 2,598.0
g 278,068.8 2,508.0|  259,800.3 15,670.5
g 278,068 2,598 259,800 15,670




2 or o =
&F = = A g A M Z 4l L 24 2 dl

x p2 265 H
@ OFAZEZZIII(T=30cm DIRH) ; mE
= NNE €8 @ FHN 25, 188

BAIZE A HE L2

>A=8/8+115=115
o 252 1#,8-2-13 P308

1 ZEWI (HEEH0PH2RD] 0.12m)

Q=23.0 m/hr

MEHl @ 4,882 / 3.0 = 1,627.3 #/m 1,627.3 1,627.3

L2l 257,077 / 3.0 « 1.15 = 21,879.5 H/m 21,879.5 21,879.5

3 ¢ (2,92649,226) / 3.0 = 4,050.6 #/m 4,050.6 4,050.6

E | 27,557.4 1,627.3 21,879.5 4,050.6
2. NE 224 (0.12 m)

(0.008 =/hr * 83,000) / 3.0 = 221.3 #/m 221.3 221.3

E | 221.3 221.3
3. BRO=

101 + 169,804 / (18 * 3.0 ) * 1.15=8,136.4 #/m 8,136.4 8,136.4

E | 8,136.4 8,136.4

g Al 35,915.1 1,848.6 30,015.9 4,050.6
g 35,913 1,848 30,015 4,050




oo & =
s = = H [ | M= 8l L 2H| 4t

* M2 263 H
@ OLAZEZZINII(T=30cn OIS 5 mg
= NAEg &5 0N 25, 588

BAIZE ZAHAIQ AE L2

At=8/8+*115=1.15

= 2534 1M 8-2-13 P308

1. ZRWII (HEEH0IPH=ZED] 0.2m)

Q=41 m/hr

WEHl @ 7,629 / 4.1=1,860.7 W/m 1,860.7 1,860.7

SR8l 157,077 / 4.1 « 1,15 = 16,009.4 W/m 16,009.4 16,009.4

Z ol ¢ (2,926+13,399) / 4.1 =23,981.7 W/m 3,981.7 3,981.7

E| 21,851.8 1,860.7 16,009.4 3,981.7
2. X& 224 (0.2 m)

(0.008 2/hr + 83,000) / 4.1 =161.9 W/m 161.9 161.9

E| 161.9 161.9
3. Bxog

101 + 169,804 / (8 * 4.1 ) « 1,15 =5,953.4 #/m 5,953.4 5,953.4

E| 5,953.4 5,953.4

g A 27,967 .1 2,022.6 21,962.8 3,981.7
g 27,965 2,022 21,962 3,981




g s
&k = 2 p g A 24 = 2H H

« N2 75 H
® OAZEZZJNII(T=30cn OIQF) ; MY
= Mg &5 1 FHI €3, 15%E8

BAIZE RIS HE L 2|

S>AM=8/8x115=115
= 25ZH 1M 8-2-13 P30S

1. ZZMI (HEEAI019H22D] 0.6 )

Q=16.0 m/hr

M2l : 15,691 / 16.0 = 980.6 /' 980.6 980.6

LC2Hl 1 57,077 / 16.0 % 1.15 = 4,102.4 #/ 4,102.4 4,102.4

Z dl: (9,100422,791) / 16.0 = 1,993.1 #/m 1,998. 1 1,993. 1

2 A 7,076. 1 980.6 4,102.4 1,993. 1
2. XIZ AZH (0.6 )

(0.01 2/hr * 220,000) / 16.0 = 137.5 #/m 137.5 137.5

2 A 137.5 137.5

3. BXoI8

101 « 169,804 / (8 % 16.0 ) * 1.15 = 1,525.5 H/m’ 1,525.5 1,525.5

2 A 1,525.5 1,525.5

g 8,739.1 1,118.1 5,627.9 1,993. 1
g A 8,738 1,118 5,627 1,993




= APl
&F = = A g A M Z 4l L 24 &4 i
x p2 285 H
@ OIAZEZY ZH(t=20cm0I5H) ; NE
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
= 2534 58 ,2-1-2 P1057
* 129 ANSE 1 Qd =500 n/
# A2 ANSE 1 0=500n/2 /8 hr/2 =62.5m/hr
1. BhxIeI
1) SEOIL : 221,506 » 19 / 500 = 1.15 = 509.4 H/m 509.4 509.4
2) 2802 : 160,804 121 / 500  1.15 = 390.5 H/m 390.5 390.5
E | 899.9 899.9
2. NEIIA
1) A E(320-400mm) : 47,138 / 62.50 = 754.2 H/m 754.0 152.7 569.7 31.6
2) SBERII(4.85w) 1 2,468 + 0.5 / 62.50 = 19.7 W/m 19.7 7.7 2.0
E | 773.7 170.4 569.7 33.6
3. M & Hi
Scfl0E(14x3.2mm) © 169,800 *0.002704 = 458.4 458.4 458.4
1.2/ x208=2.4 25.4 25.4
E | 483.8 483.8
g A 2,157.4 654.2 1,469.6 33.6
g 2,156 654 1,469 33




2 or o =
&F = = A g A M Z 4l L 24 2 dl
* p2 205 H
& ZACEXFMINI(AEEYO0IS)  mE
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
o 2524 5 3-1-1 P1103
® UG A3 1 0d=2.7 m/d
* ANZY ABE 1 Q=27/8hr=0.34 m/hr
1. Z2UEZZEMII
1) Xl
Y3 220,081 %20 /2.7« 1.15 = 187,476.4 #/m 187,476.4 187,476.4
SE2 169,804 + 1 Q1 /2.7 » 1.15 = 72,323.9 #/m 72,323.9 72,323.9
E | 259,800.3 259,800.3
2) AES 013 (1.5, &D[4])
Z H 338 x8hrx2 0 /0.34=15670.5 #/m 15,670.5 15,670.5
E | 15,670.5 15,670.5
3) ZMEHI (=12 1%)
M 2 dl:259,800.3 = 0.01 =2,598.0 #/m 2,598.0 2,598.0
| 2,598.0 2,598.0
g 278,068.8 2,508.0|  259,800.3 15,670.5
g 278,068 2,598 259,800 15,670




St e =
&k = 2 p g A T2 = 2H 2

» N2 305 H
& 232/EZZMII(T=30cn 012F) ; Mg
= Mg &5 1 FHI €3, 15%E8

BAIZE RIS HE L 2|

S>AM=8/8x115=115
= 25ZH 1M 8-2-13 P30S

1. ZZI (SHOBPH2EI] 0.12 m)

Q=1.18 m/hr

MWEHl @ 4,882/ 1.18 = 4,137.2 W/m 4,137.2 4,137.2

LS8l ¢ 57,077 / 1.18 * 1.15 = 55,625.8 #/m 55,625.8 55,625.8

Zdl o (2,92619,226) / 1.18 = 10,298.3 #/m 10,298.3 10,298.3

2 A 70,061.3 4,137.2 55,625.8 10,298.3
2. XIZE AZH| (0.12 ™)

(0.008 =/hr = 83,000) / 1.18 = 562.7 H/m 562.7 562.7

2 A 562.7 562.7
3. BXoI8

101« 169,804 / (8 % Q) * 1.15 = 20,685.8 H/m 20,685.8 20,685.8

2 A 20,685.8 20,685.8

g 91,309.8 4,699.9 76,311.6 10,298.3
g A 91,308 4,699 76,311 10,298




2 or o =
&F = = A g A M Z 4l L 24 2 dl

* p2 1S H
@ ZIEZZMII(T=30cm DILH) ; MG
= NNE €8 @ FHN 25, 188

BAIZE A HE L2

>A=8/8+115=115
o 252 1#,8-2-13 P308

1. ZRNI (BH0PH=2RD] 0.2 m)

Q=175 m/hr

MEHl © 7,629 / 1.75 = 4,359.4 H/m 4,359.4 4,359.4

LRl 257,077 / 1.75 % 1.15 = 37,507.7 W/m 37,507.7 37,507.7

3 ¢ (2,926+13,399) / 1.75 = 9,328.5 H#/m 9,328.5 9,328.5

E | 51,195.6 4,359.4 37,507.7 9,328.5
2. XNIE 224 (0.2 m)

(0.008 &/hr * 83,000) / 1.75 = 379.4 #/m 379.4 379.4

E | 379.4 379.4
3. BRO=

101 = 169,804 / (8 + Q) * 1.15 = 13,948.1 #/m 13,948.1 13,948.1

E | 13,948.1 13,948.1

g Al 65,523.1 4,738.8 51,455.8 9,328.5
g 65,521 4,738 51,455 9,328




St e =
&k = 2 p g A T2 = 2H 2

» N2 RSH
& 232/EZZMII(T=30cn 010 Mg
= Mg &5 1 FHI €3, 15%E8

BAIZE RIS HE L 2|

S>AM=8/8x115=115
= 25ZH 1M 8-2-13 P30S

1, ZXWI (BHO0IHZ2D] 0.6 m)

Q= (3.345.9)/2 ™ /hr

MWZHl :15,691 / 4.60 = 3,411.0 W/m 3,411.0 3,411.0

28| 157,077 / 4.60 * 1.15 = 14,269.2 /' 14,269.2 14,269.2

ZHl :(9,100+22,791) / 4.60 = 6,932.8 #/m' 6,932.8 6,932.8

2 A 24,613.0 3,411.0 14,269.2 6,932.8
2. XIZ AZH (0.6 )

(0.01 2/hr * 220,000) / 4.60 = 478.2 W/ 478.2 478.2

2 A 478.2 478.2
3. BXoI8

101 « 169,804 / (8 * 4.60 ) * 1.15 = 5,306.3 W/m’ 5,306.3 5,306.3

2 A 5,306.3 5,306.3

g 30,397.5 3,889.2 19,575.5 6,932.8
g A 30,396 3,889 19,575 6,932




= APl
&F = = A g A M Z 4l L 24 &4 i
x p2 3BSH
@ 232EZY FH(t=20cm0I3t) ; N
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
= 2534 58 ,2-1-2 P1057
* 12 ANSE 1 Qd =450 n/€
# ANZE ANSE 1 Q=450 nm/2 / 8 hr/€ =56.25 m/hr
1. BhxIeI
1) SEOIL 221,506 » 19 / 450 = 1.15 = 566.0 H/m 566.0 566.0
2) 2802 : 160,804 121 / 450 = 1.15 = 433.9 H/m 433.9 433.9
E | 999.9 999.9
2. NEIIA
1) A E(320-400mm) : 47,138 / 56.25 = 838.0 H/m 837.9 169.7 633.0 3.2
2) SBERII(4.85w) 1 2,468 0.5 / 56.25 = 21.9 W/m 21.8 19.6 2.2
E | 859.7 189.3 633.0 37.4
3. M & Hi
Sall01E(14x3.2mm) © 169,800 *0.003104 = 526.3 526.3 526.3
2 :1.2r»304=38.1 38.1 38.1
E | 564.4 564.4
g A 2,424.0 753.7 1,632.9 37.4
g 2,422 753 1,632 37




St e =
&k = 2 p g A T2 = 2H 2 H
» N2 USH
L2232 ENII(T=30cmDI2) ; MG
= Mg &5 1 FHI €3, 15%E8
BAIZE RIS HE L 2|
S>AM=8/8x115=115
= 25ZH 1M 8-2-13 P30S
1. 2223CIEMWI (EHO0IH2RI] 0.12 )
Q=1.18=1.18 m/hr
MWEHl @ 4,882/ 1.18 = 4,137.2 W/m 4,137.2 4,137.2
LS8l ¢ 57,077 / 1.18 * 1.15 = 55,625.8 #/m 55,625.8 55,625.8
Zdl o (2,92619,226) / 1.18 = 10,298.3 #/m 10,298.3 10,298.3
2 A 70,061.3 4,137.2 55,625.8 10,298.3
2. XIZE AZH| (0.12 ™)
(0.008 =/hr = 83,000) / 1.18 = 562.7 H/m 562.7 562.7
2 A 562.7 562.7
3. BXoI8
101 « 169,804 / (18 » 1.18 ) * 1.15 = 20,685.8 H/m 20,685.8 20,685.8
2 A 20,685.8 20,685.8
g 91,309.8 4,699.9 76,311.6 10,298.3
g A 91,308 4,699 76,311 10,298




2 or o =
&F = = A g A M Z 4l L 24 2 dl

x p2 S H

S2232IEMII(T=30cn0l ) ; mE
= NNE €8 @ FHN 25, 188

BAIZE A HE L2

>A=8/8+115=115
o 252 1#,8-2-13 P308

1. R223ENI (B0PH=#D] 0.2 m)

0=1.75=1.75 m/hr

MEHl © 7,629 / 1.75 = 4,359.4 H/m 4,359.4 4,359.4

LRl 257,077 / 1.75 % 1.15 = 37,507.7 W/m 37,507.7 37,507.7

3 ¢ (2,926+13,399) / 1.75 = 9,328.5 H#/m 9,328.5 9,328.5

E | 51,195.6 4,359.4 37,507.7 9,328.5
2. XNIE 224 (0.2 m)

(0.008 &/hr * 83,000) / 1.75 = 379.4 #/m 379.4 379.4

E | 379.4 379.4
3. BRO=

101+ 169,804 / (18 = 1.75 ) = 1.15 = 13,948.1 #/m 13,948.1 13,948.1

E | 13,948.1 13,948.1

g Al 65,523.1 4,738.8 51,455.8 9,328.5

g 65,521 4,738 51,455 9,328




St e =
&k = 2 p g A T2 = 2H 2

=

L2232 ENII(T=30cmDI2) ; MG
= Mg &5 1 FHI €3, 15%E8

BAIZE RIS HE L 2|

S>AM=8/8x115=115
= 25ZH 1M 8-2-13 P30S

1. 2223EWI (ZHOIPH2EI] 0.6 ™)

0= (3.345.9)/2 = 4.6 m/hr

MW=Ebl @ 15,691 / 4.60 = 3,411.0 #/m 3,411.0 3,411.0

LS8l ¢ 57,077 / 4.60 * 1.15 = 14,269.2 H/m 14,269.2 14,269.2

Z Hl:(9,100422,791) / 4.60 = 6,932.8 H/m 6,932.8 6,932.8

2 A 24,613.0 3,411.0 14,269.2 6,932.8
2. XIZ A2H (0.6m)

(0.01 2/hr * 220,000) / 4.60 = 478.2 W/ 478.2 478.2

2 A 478.2 478.2
3. BXoI8

101 « 169,804 / (8 * 4.60 ) * 1.15 = 5,306.3 W/m’ 5,306.3 5,306.3

2 A 5,306.3 5,306.3

g 30,397.5 3,889.2 19,575.5 6,932.8

g A 30,396 3,889 19,575 6,932




St e =
&k = 2 p g A T2 = 2H 2

« N2 375 H
& H22321EMII(T=30cn0I2) 5 m'g
= Mg &5 1 FHI €3, 15%E8

BAIZE RIS HE L 2|

S>AM=8/8x115=115
= 25ZH 1M 8-2-13 P30S

1. B2223CIEMWII (BHO0IH2I] 0.12 m)

Q=1.08=1.08 m/hr(220.12,0.28|18 XE)

MW2Hl @ 4,882 / 1.08 = 4,520.3 /m 4,520.3 4,520.3

LS8l ¢ 57,077 / 1.08 * 1.15 = 60,776.4 W/ 60,776.4 60,776.4

Z dl:(2,92619,226) / 1.08 = 11,251.8 #/m 11,251.8 11,251.8

2 A 76,548.5 4,520.3 60,776.4 11,251.8
2. XIZE AZH| (0.12 ™)

(0.008 =/hr  83,000) / 1.08 = 614.8 H/m 614.8 614.8

2 A 614.8 614.8
3. BXoI8

101 « 169,804 / (18 * 1.08 ) * 1.15 = 22,601.2 H/m 22,601.2 22,601.2

2 A 22,601.2 22,601.2

g 99,764.5 5,135.1 83,377.6 11,251.8

g A 99,763 5,135 83,377 11,251




2 or o =
&F = = A g A M Z 4l L 24 2 dl

x p2 38SH
@ Z22232IEMII(T=30cm0IRt) ; mE
= NNE €8 @ FHN 25, 188

BAIZE A HE L2

>A=8/8+115=115
o 252 1#,8-2-13 P308

1. E2232ENI (BdloPH=#D] 0.2 m)

0=1.60=1.6 m/hr

MEHl : 7,629 / 1.60 = 4,768.1 #/m 4,768.1 4,768.1

LRl 57,077 / 1.60 * 1.15 = 41,024.0 W/m 41,024.0 41,024.0

& ¢ (9,100+13,399) / 1.60 = 14,061.8 #/m 14,061.8 14,061.8

E | 59,853.9 4,768.1 41,024.0 14,061.8
2. XNIE 224 (0.2 m)

(0.008 &/hr * 83,000) / 1.60 = 415.0 #/m 415.0 415.0

E | 415.0 415.0
3. BRO=

101 « 169,804 / (8 = 1.60 ) = 1.15 = 15,255.8 H/m 15,255.8 15,255.8

E | 15,255.8 15,255.8

g Al 75,524.7 5,183.1 56,279.8 14,061.8

g 75,523 5,183 56,279 14,061




St e =
&k = 2 p g A T2 = 2H 2
» M2 05 H
& H22321EMII(T=30cn0I2) 5 m'g
= Mg &5 1 FHI €3, 15%E8
BAIZE RIS HE L 2|
S>AM=8/8x115=115
= 25ZH 1M 8-2-13 P30S
1, 22232EWI (ZHOIPH2RI| 0.6 ™)
Q= (1.63.3)/2 = 2.45 m' /hr
W28l @ 15,691 / 2.45 = 6,404.4 W/ 6,404.4 6,404.4
LS8l ¢ 57,077 / 2.45 % 1.15 = 26,791.2 /m 26,791.2 26,791.2
Z B :(9,100422,791) / 2.45 = 13,016.7 #/m 13,016.7 13,016.7
2 A 46,212.3 6,404.4 26,791.2 13,016.7
2. XIZ A2H (0.6m)
(0.01 2/hr * 220,000) / 2.45 = 897.9 /' 897.9 897.9
2 A 897.9 897.9
3. BXoI8
101« 169,804 / (18 % 2.45 ) * 1.15= 9,962.9 #/m 9,962.9 9,962.9
2 A 9,962.9 9,962.9
g 57,073.1 7,302.3 36,754. 1 13,016.7
g A 57,072 7,302 36,754 13,016




St e =
&k = 2 p g A T2 = 2H 2

» N2 45H

& H2232EMII(T=30cn0l4) 5 m'g
= Mg &5 1 FHI €3, 15%E8

BAIZE RIS HE L 2|

S>AM=8/8x115=115
= 25ZH 1M 8-2-13 P30S

1, 22232EWI (ZHOIPH2RI| 0.6 ™)

Q= (1.4402.7)/2 = 2.05 m /hr

M=2bl @ 15,691 / 2.05 = 7,654.1 /m 7,654. 1 7,654. 1

LC2Hl : 57,077 / 2.05 * 1.15 = 32,018.8 #/m 32,018.8 32,018.8

Z Bl :(9,100+422,791) / 2.05 = 15,556.5 #/m 15,556.5 15,556.5

2 A 55,229.4 7,654. 1 32,018.8 15,556.5
2. XIZ A2H (0.6m)

(0.01 =/hr * 220,000) / 2.05 = 1,073.1 W/n' 1,073.1 1,073.1

2 A 1,073.1 1,073.1
3. BXoI8

101 « 169,804 / (8 % 2.05 ) * 1.15 = 11,906.9 #/m 11,906.9 11,906.9

2 A 11,906.9 11,906.9

g 68,209.4 8,727.2 43,925.7 15,556.5

g A 68,208 8,727 43,925 15,556




k=)
s = = H g A M=l L2l Z i
2 415 H
¢ 28 =5 ASFEN(B-Type) ; ME
= Mg &5 1 FHI €3, 15%E8
BAIZE A HE L2
> A=8/8+115=1.15
= 2534 5H 2-1-24 P1077
* B-Type
* 12 AIBE @ Qd = 260m' /Y
# NG ASE 1 Q=0d/ 8r =325 m/hr
1. Q12|
Z A3 267,989 201 /260 » 1.15 =2,370.6 2,370.6 2,370.6
2S¢ 169,804 + 121 / 260 = 1.15 = 751.0 751.0 751.0
& A 3,121.6 3,121.6
2. JIHZEY
HIZEZ(2.5Ton)
MEHl @ 5,046 / 32.50 = 155.2 155.2 155.2
L2l 49,479 / 32.50  1.15 = 1,750.7 1,750.7 1,750.7
Z Bl 16,400 / 32.50 = 196.9 196.9 196.9
2 A 2,102.8 155.2 1,750.7 196.9
g A 5,224 .4 155.2 4,872.3 196.9
g A 5,223 155 4,872 196




F

v o

I

=

@ HII2A28H(HCon'C

HASPE) L=30m(Q124100%) ; m&
CFEAN S, %EES
BAIZH HAAIQ AE L 24

>A=8/8+115=115

nNo

hEd 18, 1-2-7 P57

. AR XIHR28H-100%

1) HCon'C ¥ HASPS
V= 2000M/HR, T =4502

L = 30M, t0 = 22

rt = 2300Kg/ ™

q=25Kg / rt =0.011 m

N = VT / (12050 + V*t0) = 118.42

Q=Nx*qg=1.303m

24l 0 101%169,804 / 1.303 * 1.15 = 149,865.3

149,865.3

149,865.3

b
=

el
X

149,865.3
149,865.3

149,865.3
149,865.3

o

H

149,865

149,865




I

=

*

M2 L3S E

@ HIISA2EHHCon'C & HASPFE) L=30m(QI2150%+2! 013t50%)

l~x

; Mg
NHE &5 0 FHX &5, %8S
BAIZE ZAHAIQ AF L 2H|

>A=8/8+1.15=115

= 2538 18, 1-2-7 P57

. AR XIHIR28H-50%

1) HCon'C ¥ HASPS
V= 2000M/HR, T =4502
L = 30M, t0 = 22
rt = 2300Kg/ ™
q=25Kg / rt=0.011 m
N = V«T / (12051 + V*t0) = 118.42
Q=Nx*qg=1.303m
C2H  190%169,804 / 1.303 * 1.15 * 0.5 = 74,932.6

74,932.6

74,932.6

2.

& A

A28H(2I013t)-50%

1) HCon'C ¥ HASPZ
V= 2500M/HR, T =4502
L = 30M, t0 = 52
rt = 2300Kg/ ™
q=250Kg / rt =0.109 m
N = V«T / (120+L + V*t0) = 69.88
Q=N*qg=7617m
LR 1 200%169,804 / 7.617 * 1.15 0.5 = 25,636.6

74,932.6

25,636.6

74,932.6

25,636.6

25,636.6
100,569.2

25,636.6
100,569.2

100,569

100,569




2 or o =
&F = = A g A M=t L 24 &4 i
* p2 Mo H
@ HDOI2L28H(HCon'C ¥ HASPSE) L=30m(2I013+100%) 5 m&
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
w2538 18, 1-2-7 P57
1. 228Hel013t)-100%
1) HCon'C ¥ HASPS
V= 2500M/HR, T =4502
L = 30M, t0 = 52
rt = 2300Kg/ ™
q=250Kg / rt =0.109 m
N = V«T / (120+L + V*t0) = 69.88
Q=N*qg=7617m
R 201%169,804 / 7.617 * 1.15 = 51,273.3 51,273.3 51,273.3
| 51,273.3 51,273.3
g A 51,273.3 51,273.3
g 51,273 51,273




o [0
-
*
I

>
14
ry
=
=
tn
(=
H
10
o
Y
=

x A

()

ry
FHl

455

0

~Jt

A

) ;M3

o

Xl

o

@ HIIS28HL=2.0kM) (

= NNE €8 @ FHN 25, 188

BAIZE A HE L2
Al=8/8+1.15=1.15

O 28:450/T "
O 28l L=2.0KM
L=2.0km L:2.0Km
Y - IEXNE - HE
V=20Km/h V=25Km/h

1.& X =% 0.2m
= 253 1H,8-2-3 P266
=02 K=0.55, f=1/1.50=0.67
E=0.45, Cm = 18(135%)
0 =3600 * 0.2 » 0.55 = 0.67 = 0.45 / 18 =6.63M3/HR

MeHl 7,629 / 6.63 = 1,150.6 1,150.6 1,150.6

L2l ¢ 57,077 / 6.63 = 1.15 = 9,900.2 9,900.2 9,900.2

Z Hl 113,399 / 6.63 = 2,020.9 2,020.9 2,020.9
E | 13,071.7 1,150.6 9,900.2 2,020.9

2.2 BH(45TOND.T)

o 2hEd 1H,8-2-8 P282
L=2.0KM, E=0.9 f=1/1.50=0.67
T=45T0N, q=T/2.30+1.50 = 2.93 m'/(}
gs=0.2, K=10.55, n=q/ (gs * K) = 26.64
cms = 18(sec), Es = 0.45
t1="(cms = n) / (60 » Es) = 17.76 &
t2=((L/20)+(L/25)) = 60 = 10.8 &
t3=0.8, t4=042, t5=3.77(AHLNEX)
Cm=17.76 + 10.80 + 0.8 + 0.42 + 3.77 = 33.55 &
t0 = Cm-t1= 15.79

Q=(60*q=*f=*E)/Cn=23.16 m/hr




= APl
&F = = A g A M Z 4l L2l 2 dl

MZHl: 8,700 / 3.16 * (t0/Cn) = 1,295.7 H/m 1,295.7 1,295.7

LRI 49,479 / 3.16 + 1.15= 18,006.5 H/m 18,006.5 18,006.5

Z Hli 7,472/ 3.16= 2,364.5 W/m 2,364.5 2,364.5

| 21,666.7 1,295.7 18,006.5 2,364.5

g A 34,738.4 2,446.3 27,906.7 4,385.4
g 34,737 34,737




F

v o

z
[IA]
ry

I

-

A

()

ry
FHl

465

0

~Jt

J
o

X&) 5 M3

o

@ HIIS28HL=2.0kM) (

= NNE €8 @ FHN 25, 188

BAIZE A HE L2
Al=8/8+1.15=1.15

rc
_[>
(_)1
o
—~
—

oR
O 28AC L=2.0KM
V=20Km/h V= 25Km/h
.4 X: =& 0.6m
e 25348 1H,8-2-3 P266
g=0.6,K=0.55 f=1/150=0.67
E=0.45 Cm=20(135%)
Q=23600 * 0.6  0.55 « 0.67 « 0.45 / 20 =17.91M3/HR
=4l : 15,691 / 17.91 = 876.1
L 24] ¢ 57,077 / 17.91 = 1.15 = 3,664.9

Z Hl 22,791/ 17.91 = 1,272.5

2 A
2.2 BH(45TND.T)
w AEH 1H,8-2-8 P274
L=2.0KN E=0.9, f=1/1.50=0.67
T=45T0N, q=T/2.30+1.50 = 2.93 m'/(}
gs =0.6, K=10.55, n=q/ (os * K) = 8.88
cms = 20(sec), Es = 0.45
t1=(cms = n) / (60  Es) = 6.58 &
t2=((L/20)+(L/25)) * 60 = 10.8 =
t3=10.8, t4=0.42, t5=3.77(UHLEHNEX)
Cm=6.58+10.80+0.8+0.42+3.77=22.3 2
Q=(60*q«*f=*E)/Cn=4.74m/hr

MEHl: 8,700 / 4.74 = 1,835.4 #/m

876.1
3,664.9
1,272.5

5,813.5

1,835.4

1,835.4

876.1

876.1

3,664.9

3,664.9




o [0
-
[+
I

& = 2

| M Z 4l L 24 2 dl
LRI 49,479 [ 4.74 + 1,15 = 12,004.3 H/m 12,004.3 12,004.3
d Hl: 7,472/ 474 = 1,576.3 W/m 1,576.3 1,576.3
| 15,416.0 1,835.4 12,004.3 1,5676.3
g A 21,229.5 2,7111.5 15,669.2 2,848.8

o

A 21,228 21,228




2 or o =
&F = = A g A M Z 4l L 24 2 dl

* p2 4SS H
& IHEIUZHIISAR (22D 1.0m)

1. OIS &
= 252 1H,8-2-3 P266

g=1.0 K=0.55, f=1/1.50=0.67

E=10.45, Cm = 21(135%)

0=3600 * 1.0 » 0.55 = 0.67 = 0.45 / 21 =28.43M3/HR

HEHl 29,999 / 28.43 = 1,065.1 1,005.1 1,005.1

24| : 57,077 / 28.43 = 2,007.6 2,007.6 2,007.6

Z Hl 28,955/ 28.43 =1,018.4 1,018.4 1,018.4
| 4,081.1 1,065.1 2,007.6 1,018.4
g A 4,081.1 1,005.1 2,007.6 1,018.4

g 4,080 4,080




oot ot =
s = = A g A =3l Bl Bl
+ fh2 485 H
® EXIIE 2EHL=22.0kM) ORI 2 ~E) ; mg
= NHE 25 0 FAHX 25, 1%8E
BAIZE A HE L2
> A=8/8+115=1.15
* 28 450/T
# 2Bl ¢ L=2.0kM
[=2.0Km [=2.0Km
IHEXE & IHEXE
V=20Km/h V=25Km/h
1.4 I (2RI 1.0m)
= 2554 1M ,8-2-3 P266
g=1.0,K=0.9 f=1
E=0.75, Cm = 21(136%)
Q=3600*q*K=*fxE/Cn=115.71M3/HR
M=l 29,999 / 115.71 = 259.2 259.2 259.2
L2 57,077 / 115,71 = 493.2 493.2 493.2
Z Hl 28,95/ 115.71 = 250.2 250.2 250.2
& A 1,002.6 259.2 493.2 250.2
2. 2 B (4.5T0ND.T)
= 2454 1H 8-2-8 P274
L=2.0KN E=0.9, f=1
T=4.5T0N, q=T/1.85+1.175=2.86 m'/CH
gs=1.0,K=09 n=q/ (as*K) =3.18
cms = 21sec, Es = 0.65
t1="(cms *n) / (60 » Es) = 1.71 &
t2=((L/20)+(L/25)) « 60 = 10.8 &
t3=0.8, t4=0.42, t5=3.77(AHLNLX)
Cm=171+1080+08+042+3.77=1.52
Q=(60*qx*fxE)/Cn=28.83 m/hr
MEHl ;8,700 / 8.83 = 985.2 H/m 985.2 985.2




o [0
-
*
I

= =

| M Z 4l L 24 2 dl
149,479 / 8.83 « 1.15= 6,444.0 W/m 6,444.0 6,444.0
D 7,472 / 8.83= 846.2 H/m 846.2 846.2
8,275.4 985.2 6,444.0 846.2
9,278.0 1,244 .4 6,937.2 1,096.4

o

9,217 1,244 6,937 1,096




oot ot =
s = = A g A =4 Bl Bl
* f2 495 H
@ 2o 2EH(=2.0M) ORI E~8E) ; mE
= NAE 5 =HN 25, N8
BAIZE A HE L2
> A=8/8+115=1.15
* 28 450/T
# 28Hcl ¢ L=2.0kM
[=2.0Km L=2.0Km
IHEXE & IHEXE
V=20Km/h V=25Km/h
1.4 I (2RI 1.0m)
= 2554 1M ,8-2-3 P266
g=1.0,K=0.9 f=1
E=0.75, Cm = 21(136%)
Q=3600*q*K=*fxE/Cn=115.71M3/HR
M=l 29,999 / 115.71 = 259.2 259.2 259.2
L2 57,077 / 115,71 = 493.2 493.2 493.2
Z Hl 28,95/ 115.71 = 250.2 250.2 250.2
& A 1,002.6 259.2 493.2 250.2
2. 2 B (4.5T0ND.T)
= 2454 1H 8-2-8 P274
L=2.0KN E=0.9, f=1
T=45T0N, q=T/1.9¢1.15=2.72 m/TH
gs=1.0,K=12,n=q/ (as xK) =227
cms = 21sec, Es = 0.6
t1="(cms *n) / (60 » Es) = 1.32 &
t2=((L/20)+(L/25)) « 60 = 10.8 &
t3=0.8, t4=0.42, t5=3.77(AHLNLX)
Cm=1.32+10.80+08+042+3.77=17.11 &
Q=1(60*qx*fxE)/Cn=28.58 m/hr
MEHl @ 8,700 / 8.58 = 1,013.9 #/m 1,013.9 1,013.9




o [0
-
*
I

= =

| M Z 4l L 24 2 dl
149,479 / 8.58 + 1.15= 6,631.8 H/m 6,631.8 6,631.8
D 7,472 / 8.58 = 870.8 fH/m 870.8 870.8
8,5616.5 1,013.9 6,631.8 870.8
9,519.1 1,273.1 7,125.0 1,121.0

o

9,519 1,273 7,125 1,121




&F = = A FoA M Z 4l L2l Z i
* p2 K0S H
@ I (100%), ESEAM) MY
= ORISH HE HYSEMCE UdotH P83 20% B
SAM=1/(1-02)=12
= ORHEAY YES 50 HE = A2 =1.50
o OF2t BAIZE HHAIY HE L2
> A3=8/8+1.25*150=1.875
= 2538 1H,3-2-1 P132
* 12E NS 0=3.6 m/Y
SEOIR 1 221,506 » 101 / 3.6 = 1.875 = 115,367.7 115,367.7 115,367.7
| 115,367.7 115,367.7
g A 115,367.7 115,367.7
g 115,367 115,367




I

-

]

x p2 51

@t

tol
xa]

IFI(B/H 0.6m (90%)+21 (10%), ESEA):m

eAot0f TUES 200 NE

2.

l=a

JIHIEIH1(90%), B/H 0.6

2554 1H,8-2-3 P266

g=06K=09, f=1/12=0.8
E=0.70-0.05=10.65

Cn = 20(135%)

0 =3600 0.6 * 0.9  0.80 * 0.65 / 20 =50.54M3/HR
MEHl : 15,691 / 50.54 = 0.9 = 279.4

: 57,077 / 50.54 = 0.9 « 1.875 = 1,905.7

L2

o

Hl 22,791 / 50.54 0.9 = 405.8

=

A
A

o

11,536.7

11,536.7

219.4
1,905.7
405.8

2,590.9
14,127.6

219.4

219.4
219.4

11,536.7

11,536.7

1,905.7

1,905.7
13,442.4

405.8

405.8
405.8

o

H

279

13,442

405




2 or o =
&F = = A g A M Z 4l L2l &4 i
x p2 52SH
@ HHINLCHA (ZAE) (B.H0.6m+PC 1.5ton) ; M
= ORISH HE HYSEMCE UdotH P83 20% B
SAM=1/(1-02)=12
= ORHEAY YES 50 HE = A2 =1.50
o OF2t BAIZE HHAIY HE L2
> A3=8/8+1.25*150=1.875
1. €l0<I) & CHE(B/H 0.6m, 90%)
= 2538 1H,3-4-7 P143
* 12 ANSE 1 Qd =290 m/L
# ANZE ANSE 1 0=290 m/2 /8 hr/2 =236.25 m/hr
1) X
(1) S 221,506 = 121 / 290 = 0.9 = 1.875 = 1’2889 1,288.9 1,288.9
(2) 282 : 169,804 * 121 / 290 0.9 * 1.875 = 988.0 988.0 988.0
| 2,276.9 2,276.9
2) N8I
(1) 2371 (B/H 0.6m)
MEHl : 15,691 / 36.25 * 0.9 = 389.5 389.5 389.5
R 57,077 / 36.25 % 0.9 + 1.875 = 2,657.0 2,657.0 2,657.0
Z Hl 22,791 /3.2 0.9 = 565.8 565.8 565.8
(2) A5 (10ton)
MEHl : 23,605 / 36.25 * 0.9 = 586.0 586.0 586.0
R 57,077 / 36.25 % 0.9 + 1.875 = 2,657.0 2,657.0 2,657.0
Z Hl 26,193 /3.25 0.9 = 650.3 650.3 650.3
(3) IsEH (HEIH0I=A 0.7ton)
MEHl : 3,134/ 36.25 = 0.9=77.8 77.8 77.8
Z Hl 1,902 /36.25%0.9=47.2 47.2 47.2

(4) &=t (55004 )




oot A =
At = =2 A [ M2l = 2| A Hl
MSHl 15,245 /1 36.25 * 0.5 * 0.9 = 189.2 189.2 189.2
C2H| : 49,479 / 36.25 * 0.5 x 0.9 » 1.875=1,151.6 1,151.6 1,151.6
3 Hl 9,765/ 36.25%0.5+%0.9=121.2 121.2 121.2
EN: | 9,092.6 1,242 .5 6,465.6 1,384.5
2. 9 E(10%)
w2534 18 3-4-3 P141
¥ & OADITHESNH30em, EAH)
* 199 NS Qd=24 m/d
® AN2UE ANBE Q=24 m/L /8B =3 m/hr
1) BhxIQI<
(1) S22 : 221,506 = 121 / 24 = 0.1 * 1.875 = 1,730.5 1,730.5 1,730.5
(2) 250182 : 169,804 » 101 / 24 x 0.1 » 1.875 = 1,326.5 1,326.5 1,326.5
EN| 3,057.0 3,057.0
2) A1
Zd0|ESHEH 1.5ton
MEHl @ 1,705/ 3.00 » 0.1 =56.8 56.8 56.8
& Hl 599 /3.00*0.1=19.9 19.9 19.9
EN: | 76.7 56.8 19.9
g A 14,503.2 1,299.3 11,799.5 1,404.4
& H 14,502 1,299 11,799 1,404




F

I

=

]

HELLOHE (2FR) (B/H 0.6m (90%)+1 (10%)+SCHE )
; Mg

= ORIIZO B2 HASBHHES D2AG0 LABE 204 X

1. ATOH(=2) - g

2. 01 H (&1 0.6m, 90%)

= 2528 1H,8-2-3 P266
g=0.6m,K=11,f=0.9/1.15=0.78
Cm =20 sec(135°) , E=10.75
Q=23600*q*K=fxE/Cn=69.5m/hr
MEHl @ 15,691 / 69.50 * 0.9 = 203.1 W/m
L2l 57,077 / 69.50 + 0.9 « 1.875 = 1,385.8 W/m
Z 22,791 / 69.50 + 0.9 = 295.1 W/m

LQatabl = QMC - NMC = 13% - 8% = 5%
5 =W/ (2.0 t/m) x 100
0.05=W/2.0

203.1
1,385.8
295.1

1,884.0

3,502.2

3,502.2

2083.1

203.1

1,385.8

1,385.8

3,502.2

3,502.2

295.1

295.1




gt =
s = = H [ | Z ] L 2H| HI

Wims A4 48) =0.10 t/m
1) 82H1(mg)

m g 824 1 1,270 » 0.10 = 127.0 127.0 127.0
2) A=Hl(L=1.0km)

L=1.0km, V=55m

E=09(2C0L3A 42QYEX)

t1=5nin (EYZEHI)

t2=1/25 » 2 « 60 = 4.8 min

t3 = 10min(EYAI2H)

t4 = 20min(&=+AI2H)

cm=11+1t2+t3+ t4=239.8 min

to = (t2 + t4) / cm = 0.62 min

Qw=260*V+*E/cm=7.46 ton/hr

Gg=7.46/0.10="74.6

M =t 15,245 / 74.60 « to = 126.7 W/m 126.7 126.7

L 2 Hl 49,479 / 74.60 + 1,875 = 1,243.6 W/m 1,243.6 1,243.6

d Bl 9,765 / 74.60 = 130.8 #/m 130.8 130.8

EA| 1,628.1 253.7 1,243.6 130.8

g A 7,014.3 456.8 6,131.6 425.9
g 7,012 456 6,131 425




2 or o =
&F = = A g A M=t L 24 &4 i
* p2 HASH
@ QSEAREHEMST) L=30n(2I03t) & mE
= ORISH HE HYSEMCE UdotH P83 20% B
SAM=1/(1-02)=12
= ORHEAY YES 50 HE = A2 =1.50
o OF2t BAIZE HHAIY HE L2
> A3=8/8+1.25*150=1.875
= 2538 18, 1-2-7 P57
1. A28H2l03H)
1) EANB
V= 2500M/HR, T =45082
L = 30, t0 = 52
rt = 1800Kg/m
q=250Kg / rt =0.139 m
N = VT / (120L + Vxt0) = 69.88
Q=Nxqg=9.713 m
L2l ¢ 201%169,804 / 9.713 * 1.875 = 65,558.0 65,558.0 65,558.0
| 65,558.0 65,558.0
g A 65,558.0 65,558.0
g 65,558 65,558
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= ORIIZH B2 HASBHEES DGO LABE 204 X8

1.

2 Bt (4.5TOND.T)

= 5BM 1M ,8-2-8 P2B2

L=2.0KN E=0.9, f=1/1.25=0.8
T=45T0N, q=T/1.8+1.25=23.13 m/CH

s =02, K=0.9 n=q/ (as *K) = 17.39

cms = 18sec(135° ), Es = 0.70

t1=(cms = n) / (60 xEs) =7.45 &
t2=((L/20)+(L/25)) * 60 = 10.8 =

t3=10.8, t4=0.42, t5=3.77(UHLENEX)
Cm=7.45+10.80+0.8+0.42+3.77=23.24 2
Q=(60+*q+*f=*E)/Cn=58 m/hr

MEHl @ 8,700 / 5.82 = 1,494.8 #/m

L2l 49,479 / 5.82 » 1.875 = 15,940.3 W/m
g Bl 17,472 /58 = 1238 Wm

1,494.8
15,940.3
1,283.8

18,718.9
18,718.9

1,494.8

1,494.8
1,494.8

15,940.3

15,940.3
15,940.3

1,283.8

1,283.8
1,283.8

o

H

1,494

15,940

1,283




F

z
[IA]
ry

I

=

]

= ORIIZH B2 HASBHEES DGO LABE 204 X8

1.

2 Bt (4.5TOND.T)

= 5BM 1M ,8-2-8 P2B2

L=2.0KN E=0.9, f=1/1.25=0.8
T=45T0N, q=T/1.8+1.25=23.13 m/CH
gs=10.6,K=0.9 n=0q/ (as*xK) =5.8

cms = 20sec(135° ), Es = 0.70

t1=(cms *n) / (60 x Es) =2.76 &
t2=((L/20)+(L/25)) * 60 = 10.8 =

t3=10.8, t4=0.42, t5=3.77(UHLENEX)
Cm=2.76+10.80+0.8+0.42+3.77=18.55 &2
Q=(60+*q«*f*E)/Cn=7.29 m/hr

M=Hl @ 8,700 / 7.29 = 1,193.4 W/m

C2Hl 49,479 / 7.29 « 1.875 = 12,726.0 W/m
g Bl 17,472/ 7.29= 1,024.9 W/m

1,193.4
12,726.0
1,024.9

14,944.3
14,944.3

1,193.4

1,193.4
1,193.4

12,726.0

12,726.0
12,726.0

1,024.9

1,024.9
1,024.9

o

H

14,943

12,726

1,024
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= ORIIZH B2 HASBHEES DGO LABE 204 X8

> A=8/8+125+150=1.875
* 28450/
# 28Hcl ¢ L=2.0kM
L=2.0Km L=2.0Km

IHERE =R ot
V=20Km/h V=25Km/h

ol

r

JA
pall
04

1.4 (2% 1.0m)
= 5FH 1H,8-2-3 P26

g=1.0K=09, f=1/125=0.8
E=0.75, Cm = 21(135%)

0=23600 g K+ f+E/Cn=92.57M3/HR
MEHl © 29,999 / 92.57 = 324.0

24| ¢ 57,077 / 92.57 = 1.875 = 1,156.0
Z Hl ot 28,955/ 92.57 = 312.7

.|

2. 2 B (4.5T0ND.T)

= 2588 1H,8-2-8 P82
L=2.0KM E=0.9 f=1/1.25=0.8
T=45T0N, q=T/1.8¢1.25=23.13 m'/0
gs=1.0,K=12,n=q/ (as * K) = 2.61
cms = 21sec, Es = 0.6
t1=(cms * n) / (60 » Es) = 1.52 &
t2=((L/20)+(L/25)) « 60 = 10.8 =&
t3=0.8, t4=0.42, t5=3.77(AHLNLX)
Cm=1.52+10.80+0.8+0.42+3.77=17.31

324.0
1,156.0
312.7

1,792.7

324.0

324.0

1,156.0

1,156.0

312.7




o Jr g =
aly = = A g M EHI L 24| a Hi

Q=(60*q=*f=*E)/Cn=7.81 m/hr

MSHl : 8,700 / 7.81 = 1,113.9 #/m 1,113.9 1,113.9

2| : 49,479 / 7.81 « 1.875= 11,878.7 #/m 11,878.7 11,878.7

3 Hl 7,472 /781 = 956.7 #/m 956.7 956.7

E | 13,949.3 1,113.9 11,878.7 956.7

g A 15,742.0 1,437.9 13,034.7 1,269.4
& H 15,740 1,437 13,034 1,269




2 or o =
&F = = A g A M Z 4l L2l Z i
x p2 58S H
@ OFAZEZZIII(T=30cm DIRH) ; mE
= ORISH HE HYSEMCE UdotH P83 20% B
SAM=1/(1-02)=12
= ORHEAY YES 50 HE = A2 =1.50
= OFZE BAIZE HYAIS AE 24|
> A3=8/8+1.25*150=1.875
= 2538 1#,8-2-13 P308
1. I (HEE0IPHES 0.6 m)
0 =16.0 m/hr
MeHl 15,691 / 16.0 = 980.6 #/m 980.6 980.6
24l ¢ 57,077 / 16.0 = 1.875 = 6,688.7 W/m 6,688.7 6,688.7
3 ¢ (9,100+22,791) / 16.0 = 1,993.1 #/m 1,993.1 1,993.1
A A 9,662.4 980.6 6,688.7 1,993.1
2. NE 224 (0.6 m)
(0.01 =/hr = 220,000) / 16.0 = 137.5 #/m 137.5 137.5
A A 137.5 137.5
3. BRO=
101+ 169,804 / (18 = 16.0 ) = 1.875 = 2,487.3 #/m 2,487.3 2,487.3
| 2,487.3 2,487.3
g A 12,287.2 1,118.1 9,176.0 1,993.1
g 12,287 1,118 9,176 1,993




oo & =
s = = H [ | M= 8l L 2H| 4t
* M2 509G H
® OIAZEZE H(t=20cm0I3t) ; N
= OFZPAISO 8 HUSEMNGIE 12010 U3 20% 28
>M=1/(1-02)=125
e QR AY LA 500 A2 = A2 = 1.50
= OF2F BAIZE BN AE L 2Y|
>A3=8/8%*125+150=1.875
w 253 d 5, 2-1-2 P1057
# 129 AISE 0 Qd = 500 /¥
# OAYY AIZE 0 Q=500m/g /8hr/Y =62.5m/hr
1. BixIoI&
1) S © 221,506 « 121 / 500 = 1.875 = 830.6 W/m 830.6 830.6
2) EE012 : 169,804 « 121 / 500 = 1.875 = 636.7 W/m 636.7 636.7
E| 1,467.3 1,467.3
2. NEJIAH
1) A E(320-400mm) : 47,138 / 62.50 = 754.2 W/m 754.0 152.7 569.7 31.6
2) SH22II(4.85kw) : 2,468 * 0.5 / 62.50 = 19.7 W/m 19.7 7.7 2.0
E| 773.7 170.4 569.7 33.6
3. M gt
SY01=(14x3.2m) : 169,800 «0.00277H = 458.4 458.4 458.4
2121 x2040=25.4 25.4 25.4
EA| 483.8 483.8
g 2,724.8 654.2 2,037.0 33.6
g 2,724 654 2,037 33




2 or o =
&F = = A g A M Z 4l L2l Z i
* p2 60 H
@ Z3EZZMII(T=30cm DISt) m&
OFEAI B0 [HE HYUSEMOIE Udots =8ES 20% B8
>A=1/(1-02) 25
o ORAY UEE 5% HE > A2 =1.50
= OFZE BAIZE HYAIS AE 24|
> A3=8/8+1.25*150=1.875
= 2534 1#,8-2-13 P308
1. I (BH0IIHES 0.6 m)
Q= (3.3t5.9)/2 m /hr
MeHl 115,691 / 4.60 = 3,411.0 #/m 3,411.0 3,411.0
24| 157,077 / 4.60 « 1.875 = 23,265.0 W/m 23,265.0 23,265.0
Z Hl :(9,100+22,791) / 4.60 = 6,932.8 W/m 6,932.8 6,932.8
A A 33,608.8 3,411.0 23,265.0 6,932.8
2. XI& 2241 (0.6 m)
(0.01 2/hr = 220,000) / 4.60 = 478.2 H/m 478.2 478.2
A A 478.2 478.2
3. X0
101 + 169,804 / (1 8 = 4.60 ) = 1.875 = 8,651.6 #/m 8,651.6 8,651.6
A A 8,651.6 8,651
g A 42,738.6 3,889.2 31,916.6 6,932.8
g 42,731 3,889 31,916 6,932




oo & =
s = = H [ | M= 8l L 2H| 4 i
* M2 IS H
® ZI2EXF FH(t=20cm0I3t) ; N
= OFZPAISO 8 HUSEMNGIE 12010 U3 20% 28
>M=1/(1-02)=125
e QR AY LA 500 A2 = A2 = 1.50
= OF2F BAIZE BN AE L 2Y|
>A3=8/8%*125+150=1.875
w 253 d 5, 2-1-2 P1057
# 129 AISE 0 Qd = 450 /¥
# OA2Y AIZE Q=450 m/Y / 8 hr/¥ =56.25 m/hr
1. BixIoI&
1) SEUL © 221,506 « 101 / 450 = 1.875 = 922.9 W/m 922.9 922.9
2) BE0I2 : 169,804 « 101 / 450 = 1.875 = 707.5 W/m 707.5 707.5
E| 1,630.4 1,630.4
2. NEJIAH
1) A E(320-400mm) : 47,138 / 56.25 = 838.0 W/m 837.9 169.7 633.0 35.2
2) SH22II(4.85kw) : 2,468 * 0.5 / 56.25 = 21.9 W/m 21.8 19.6 2.2
E| 859.7 189.3 633.0 37.4
3. M gt
S 0/=(14x3.2m) : 169,800 +0.00317 = 526.3 526.3 526.3
2127 x304=138.1 38.1 38.1
EA| 564.4 564.4
g 3,054.5 753.7 2,263.4 37.4
g 3,053 753 2,263 37




2 or o =
&F = = A g A M Z 4l L2l Z i

* p2 62SH
@ 22232IEMII(T=30cm0IRt) ; mE
= ORISH HE HYSEMCE UdotH P83 20% B

SAM=1/(1-02)=12
= ORHEAY YES 50 HE = A2 =1.50
= OFZE BAIZE HYAIS AE 24|

> A3=8/8+1.25*150=1.875
= 2538 1#,8-2-13 P308

1. R223EMWI! (E0IFHES 0.6 m)

0 =(3.3t5.9)/2 = 4.6 m/hr

MEHl 15,691 / 4.60 = 3,411.0 #/m 3,411.0 3,411.0

24| 157,077 / 4.60 + 1.875 = 23,265.0 #/m 23,265.0 23,265.0

2 Hl:(9,100422,791) / 4.60 = 6,932.8 W/ m 6,932.8 6,932.8

A A 33,608.8 3,411.0 23,265.0 6,932.8
2. A& 224 (0.6m)

(0.01 2/hr = 220,000) / 4.60 = 478.2 H/m 478.2 478.2

A A 478.2 478.2
3. BRO=

101 + 169,804 / (1 8 = 4.60 ) = 1.875 = 8,651.6 #/m 8,651.6 8,651.6

A A 8,651.6 8,651.6

g A 42,738.6 3,889.2 31,916.6 6,932.8

g 42,731 3,889 31,916 6,932




2 or o =
&F = = A g A M Z 4l L2l Z i
* p2 63SH
@ Z22232IEMII(T=30cm0IRt) ; mE
= ORISH HE HYSEMCE UdotH P83 20% B
SAM=1/(1-02)=12
= ORHEAY YES 50 HE = A2 =1.50
o OF2t BAIZE HHAIY HE L2
> A3=8/8+1.25*150=1.875
= 2538 1#,8-2-13 P308
1. E2232ENI (B0PH=#D] 0.6 m)
0= (1.643.3)/2 = 2.45 ' /hr
MEHl : 15,691 / 2.45 = 6,404.4 W/ 6,404.4 6,404.4
Rl 57,077 / 2.45 « 1.875 = 43,681.3 #/m 43,681.3 43,681.3
3 ¢ (9,100+22,791) / 2.45 = 13,016.7 H/m 13,016.7 13,016.7
E | 63,102.4 6,404.4 43,681.3 13,016.7
2. A& 224 (0.6m)
(0.01 Z/hr = 220,000) / 2.45 = 897.9 H#/m 897.9 897.9
A A 897.9 897.9
3. BRO=
101 + 169,804 / (18 » 2.45 ) + 1.875 = 16,244.0 #/m 16,244.0 16,244.0
| 16,244.0 16,244.0
g A 80,244.3 7,302.3 59,925.3 13,016.7
g 80,243 7,302 59,925 13,016




ooty s
&F = = A g A M Z 4l L 24 Z i
+ {2 B4SH
@ H2Z32IEMII(T=30cm0l &) 5 mE
= ORINSH 8 HYSEMCIE Lot &3 20% X
SAM=1/(1-02)=125
o ORAY UEE 5% HE > A2 =1.50
o OF2t BAIZE HHAIY HE L2
> A=8/8+125+150=1.875
= 2634 1H,8-2-13 P308
1. B223ENII (BA0IIH2ED] 0.6 m)
Q= (1.402.7)/2 = 2.05 m /hr
M=l 15,691 / 2.05 = 7,654.1 W/m 7,654.1 7,654.1
L2l 57,077 / 2.05 * 1.875 = 52,204.5 W/ m 52,204.5 52,204.5
2 Hl:(9,100+22,791) / 2.05 = 15,556.5 W/m 15,556.5 15,556.5
2 75,415.1 7,654.1 52,204.5 15,556.5
2. A& 224 (0.6m)
(0.01 2/hr  220,000) / 2.05 = 1,073.1 #/m 1,073.1 1,073.1
2 1,073.1 1,073.1
3. BXoe
101 « 169,804 / (8 » 2.05 ) = 1.875 = 19,413.5 W/m 19,413.5 19,413.5
2 19,413.5 19,413.5
g A 95,901.7 8,727.2 71,618.0 15,556.5
g A 95,901 8,727 71,618 15,556




k=)
s = = H g A =4 L2l Bl
+ {2 GBS H
¢ 28 =5 ASFEN(B-Type) ; ME
= ORIAB HE HYSEMOIE Dedotl 8ES
SAM=1/(1-02)=125
= ORHEY LYSS 5% B8 = A2 =1.50
= Ok BAIZE ZHAIS AE 24|
> A=8/8+125+150=1.875
= 2534 5H,2-1-24 P1077
* B-Type
* 12 AIBE @ Qd = 260m /Y
# NG ASE 1 Q=0d/ 8r =325 m/hr
1. Q12|
Z A3 267,989 « 201 / 260 » 1.875 = 3,865.2 3,865.2 3,865.2
ZSOL 1 169,804 « 101 / 260 » 1.875 = 1,224.5 1,224.5 1,224.5
2 A 5,089.7 5,089.7
2. JIHZEY
HIZE(2.5Ton)
MEHl @ 5,046 / 32.50 = 155.2 155.2 155.2
L2l ¢ 49,479 / 32.50 * 1.875 = 2,854.5 2,854.5 2,854.5
Z Hl 16,400 / 32.50 = 196.9 196.9 196.9
2 A 3,206.6 155.2 2,854.5 196.9
g A 8,296.3 155.2 7,944.2 196.9
g A 8,295 155 7,944 196




k=)
s = = H g A =3l L2l Bl
+ {2 S H
@ HOI228HL=2.00M) (BE~IIEXE) ; B
= ORINSH 8 HYSEMCIE Lot &3 20% X
SAM=1/(1-02)=125
= ORHEY LYSS 5% B8 = A2 =1.50
= Ok BAIZE ZHAIS AE 24|
> A=8/8+125+150=1.875
O 28450/ "
© 28tHel L=2.0kM
[=2.0Km L=2.0Km
Y - MY - - 8%
V=20Km/h V=25Km/h
1.& It #s 0.6m
= 2554 1H,8-2-3 P266
q=0.6 K=0.55 f=1/150=0.67
E=0.45, Cm=20(136%)
0 =3600 * 0.6 * 0.55 * 0.67 « 0.45 / 20 =17.91M3/HR
MEHl : 15,691 / 17.91 = 876.1 876.1 876.1
L2l 57,077 / 17.91 = 1.875 = 5,975.3 5,975.3 5,975.3
Z 22,791/ 17.91 = 1,272.5 1,272.5 1,272.5
2 8,123.9 876.1 5,975.3 1,272.5

2.2 BH(45TND.T)

= 252 H 1H,8-2-8 P282
L=2.0KM E=0.9, f=1/1.50=20.67
T=45T0N, q=T/2.30+1.50 = 2.93 m'/(}
gs =0.6, K=10.55, n=0q/ (os * K) = 8.88
cms = 20(sec), Es = 0.45
t1=(cms = n) / (60  Es) = 6.58 &
t2=((L/20)+(L/25)) * 60 = 10.8 =
t3=10.8, t4=0.42, t5=3.77(UHENEX)
(m=6.58+10.80+0.8+0.42+3.77=2237 2




o Jr g =
aly = = A g M EHI L 24| a Hi

Q=(60*q=*f=*E)/Cn=4.74m/hr

MSHl: 8,700 / 4.74= 1,835.4 #/m 1,835.4 1,835.4

=2H|: 49,479 / 4.74 » 1.875 = 19,572.3 #/m 19,572.3 19,572.3

d Hl: 7,472/ 474= 15763 #/m 1,576.3 1,576.3

E | 22,984.0 1,835.4 19,572.3 1,576.3

g A 31,107.9 2,711.5 25,547 .6 2,848.8
& H 31,106 31,106




2 or o =
&F = = A g A M Z 4l L2l 2 dl
* p2 7S H
@ TEAM0ISZ0I EXI(H3.0 x B1.2):NZ
= NAEg &5 0N 25, 588
BAIZE A HE L2
>A=8/8+115=115
= 2528 1#,2-10-5 P121
1. &% & SHR(H=3.0m0lI5tH)
1) 2l
SE0I8:221,506 » 0.19  1.15 = 48,399.0 48,399.0 48,399.0
2S015:169,804 » 0.07 » 1.15 = 13,669.2 13,669.2 13,669.2
| 62,068.2 62,068.2
2) E 32(10TON)
MH=H1:6,660 » 0.46 = 3,063.6 3,063.6 3,063.6
‘L 2H1:57,077 = 0.46 + 1.15 = 30,193.7 30,193.7 30,193.7
Z H1:30,793 * 0.46 = 14,164.7 14,164.7 14,164.7
| 47,422.0 3,063.6 30,193.7 14,164.7

2. I 24X AQAI

H=23.0m, W=1.2m, L =230m

f=1/12=08, e=0.70-0.05=0.65
on = 16 sec(45 ")
Q=3600*qxk*fxe/cm=7371m/hr
2) 21 AQ A2t

Ti=L*WxH/Q=147hr
T2=2+L*H+0.6/60=1.8hr
T3=2+L*«H+*3.0/60=9hr
TA=T1+T2+T13= 1227 hr

3) &I AQ AN
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12 hr
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1.7 hr

g on(E B33

T1 = (TATB)/8HR

T3 = T0/8HR=0. 15

HT=T14T2+73=4.182
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3600 x g x k * f «E/om=92.4 m/hr

| Of

5
Il
Il

k

=

1

[
=

=]

=

=
o
-

&
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18 sec(90
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= APl
&F = = A g A M Z 4l L 24 2 dl

t2=11/25+2+60=144

cn=1t1+ 12+ t3 4 t4 =2.91A12

3)JIM A28t

MHEHI:6,660 * cn / 60 = 32.9 / 30m = 354.2 354.2 354.2

L 2H:57,077 + cm / 60 » 32.9 / 30m * 1.15 = 3,491.2 3,491.2 3,491.2

Z H1:30,793  cm / 60 » 32.9 / 30m = 1,637.8 1,637.8 1,637.8
| 5,483.2 354.2 3,491.2 1,637.8
A 130,974 .4 3,417.8 95,753.1 31,803.5
g 130,973 3,417 95,753 31,803




2 or o =
&F = = A g A M Z 4l L 24 2 dl
* p2 68 H
@ TEANOISZ0I EXI(HA.0 x B1.2):NZ
= NAEg &5 0N 25, 588
BAIZE A HE L2
>A=8/8+115=115
= 2528 1#,2-10-5 P121
1. &% & oHRl(H=4.0m0I5tH)
1) =24l
SE0I8:221,506 » 0.28 » 1.15 = 71,324.9 71,324.9 71,324.9
2S015:169,804 » 0.10  1.15 = 19,527.4 19,527 .4 19,527 .4
| 90,852.3 90,852.3
2) E 32(10TON)
MH=H1:6,660 » 0.90 = 5,994.0 5,994.0 5,994.0
L 2H1:57,077 * 0.90 * 1.15 = 59,074.6 59,074.6 59,074.6
d H1:30,793  0.90 = 27,713.7 27,113.7 27,113.7
| 92,782.3 5,994.0 59,074.6 27,113.7

2. I 24X AQAI

f=1/12=08, e=0.70-0.05=0.65
on = 16 sec(45 ")
Q=3600*qxk*fxe/cm=7371m/hr
2) 21 AQ A2t

TT=L*WxH/Q=1.9hr
T2=2+L*H*x0.6/60=24hr
T3=2+*L*Hx3.0/60=12hr
TA=T1+T24+T173=16.35 hr

3) &I AQ AN
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4.042

=16 hr
0.75
0.2¢

E
1.56 hr
39.1TON)
H:0.0012 + 110,700,000 » T / 30M

g on(E B33

T1 = (TATB)/8HR

T3 = T0/8HR

=
=

| Of
)
3600 x g x k * f «E/om=92.4 m/hr
(2wt
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1/1.25=0.8,

18 sec(90
LxW=xH/Q
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[

A8
A

1

t
|

2
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TB=2+*L*Hx4.0/60
HT=T14T2+73=5.242
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= APl
&F = = A g A M Z 4l L 24 2 dl
t1=0, t3=1.05, t4=0.42
t2=11/25+2+60=144
cn=t1+ 12+ t3+ t4 =2.91A12
3)JIM A28t
MHEHI:6,660 * cn / 60 = 39.1 / 30m = 420.9 420.9 420.9
L 2H:57,077 * cm / 60 = 39.1 / 30m * 1.15 = 4,149.1 4,149.1 4,149.1
Z H1:30,793 * cm / 60 * 39.1 / 30m = 1,946.4 1,946 .4 1,946 .4
| 6,516.4 420.9 4,149.1 1,946 .4
A 213,353.7 6,414.9 154,076.0 52,862.8
g 213,352 6,414 154,076 52,862




2 or o =
&F = = A g A M Z 4l L2l 2 dl
* p2 695 H
@ TEAA0ISZ0I EXI(H3.0 x B2.3):NZ
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
= 2528 1#,2-10-5 P121
1. &% & SHR(H=3.0m0lI5tH)
1) 2l
SE0I8:221,506 » 0.19  1.15 = 48,399.0 48,399.0 48,399.0
2S015:169,804 » 0.07 » 1.15 = 13,669.2 13,669.2 13,669.2
| 62,068.2 62,068.2
2) E 32(10TON)
MH=H1:6,660 » 0.46 = 3,063.6 3,063.6 3,063.6
‘L 2H1:57,077 = 0.46 + 1.15 = 30,193.7 30,193.7 30,193.7
Z H1:30,793 * 0.46 = 14,164.7 14,164.7 14,164.7
| 47,422.0 3,063.6 30,193.7 14,164.7

2. I 24X AQAI

H=3.0m, W=2.3m L =230m

f=1/12=08, e=0.70-0.05=0.65
on = 16 sec(45 ")
Q=3600*qxk*fxe/cm=7371m/hr
2) 21 AQ A2t

Ti=L*WxH/Q=281hr
T2=2+L*H+0.6/60=1.8hr
T3=2+L*«H+*3.0/60=9hr
TA=T1+T2+T173=13.61 hr

3) &I AQ AN




10€ E2 3oz I 015(L1=0.03Km)

t1=0, t3=1.05, t4=0.42

oo & =
s = 2 H [ | 4 i
TB=2+*L*xHx4.0/60=12hr
3. &g
1) £2H 20T
LHEd 54
e d] 5%
A2HHIE:190%
EHAEEZELs 150
>olA2E:13 UEY W BA33IUES)
K= ((&2tlet+el228)/H8EHS)+
Hotaelbl)+ 1/ HA EES 8L 4+)=0.00173
2)RY Y
JIMZEZ L T1 = (TA+TB)/8HR=3.2<
4 2 4:72=1¢
SIHRI A2t
q=20.7, k=11
f=1/12=08 E=0.75
on = 18 sec(90°)
0=23600«q+*k+*fxE/cm=292.4 m/hr
To=L+*W+H/Q=224hr
g M 2 Il T3=T0/8HR=0.282
A T=T1+T2+ T3 =448
3)JI &g A E (S E t=33.2T0N)
& B1:0.0012 * 99,700,000 * T / 30M= 17,866.2 17,866.2 17,866.2
EA| 17,866.2 17,866.2
4, 28t
1) XA




= APl
&F = = A g A M Z 4l L 24 &4 i
t2=11/25+2+60=144
cn=1t1+ 12+ t3 4 t4 =2.91A12
3)JIM A28t
MHEHI:6,660 * cn / 60 * 33.2 / 30m = 357.4 357.4 357.4
L 2H:57,077 + cm / 60 * 33.2 / 30m * 1.15 = 3,523.0 3,523.0 3,523.0
Z H1:30,793  cm / 60 » 33.2 / 30m = 1,652.7 1,652.7 1,652.7
| 5,533.1 357.4 3,523.0 1,652.7
A 132,889.5 3,421.0 95,784.9 33,683.6
g 132,888 3,421 95,784 33,683




2 or o =
&F = = A g A M Z 4l L 24 2 dl
* p2 0SS H
@ TEANOISZ0l EXI(HA.0 x B2.3):NS
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
= 2528 1#,2-10-5 P121
1. &% & oHRl(H=4.0m0I5tH)
1) =24l
SE0I8:221,506 » 0.28 » 1.15 = 71,324.9 71,324.9 71,324.9
2S015:169,804 » 0.10  1.15 = 19,527.4 19,527 .4 19,527 .4
| 90,852.3 90,852.3
2) E 32(10TON)
MH=H1:6,660 » 0.90 = 5,994.0 5,994.0 5,994.0
L 2H1:57,077 * 0.90 * 1.15 = 59,074.6 59,074.6 59,074.6
d H1:30,793  0.90 = 27,713.7 27,113.7 27,113.7
| 92,782.3 5,994.0 59,074.6 27,113.7

2. I 24X AQAI

H=4.0m, W=2.3m, L =230m

f=1/12=08, e=0.70-0.05=0.65
on = 16 sec(45 ")
Q=3600*qxk*fxe/cm=7371m/hr
2) 21 AQ A2t

Ti=L*WxH/Q=3.74hr
T2=2+L*H*x0.6/60=24hr
T3=2+*L*Hx3.0/60=12hr
TA=T1+T2+T173= 1814 hr

3) &I AQ AN




v o

&t =

r

TB=2+xL*Hx4.0/60=16hr

SIHRI A2t
q=20.7, k=11
f=1/12=08 E=0.75
on = 18 sec(90°)
0=23600«q+*k+*fxE/cm=292.4 m/hr
TO=L*W=*H/ Q=299 hr
g M 2 Il T3=T0/8HR=0.37
AT=T1+T2+ 735642
3)JIMES AE(ZE Nt=39.5T0N)
& H1:0.0012 * 114,700,000 + T / 30M= 25,876.3

10€ E2 3oz I 015(L1=0.03Km)

t1=0, t3=1.05, t4=0.42

F

I

-




2 o) &
& 2 H 2l L 2| 2
=017 25x2x60=1.44
on =t 124 13+ t4 =2.91A12
3)IIN A28
TH2H1:6,660 * on / 60 * 39.5 / 30m = 425.2 405.2 495.2
L 2HI:57,077 * con / 60 * 39.5 / 30m * 1.15 = 4,191.5 4,191.5 4,191.5
H1:30,793 * cm / 60 * 39.5 / 30m = 1,966.3 1,966.3 1,966.3
6,583.0 495.2 4,191.5 1,966.3
216,093.9 6,419.2|  154,118.4  55,556.3

3

H
H

b

55,556

6,419

216,093

H

o




2 or o =
&F = = A g A M Z 4l L2l 2 dl
* p2 TS H
@ TEAOIS20l EXI(H3.0 x B3.0):NZ
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
= 2528 1#,2-10-5 P121
1. &% & SHR(H=3.0m0lI5tH)
1) 2l
SE0I8:221,506 » 0.19  1.15 = 48,399.0 48,399.0 48,399.0
2S015:169,804 » 0.07 » 1.15 = 13,669.2 13,669.2 13,669.2
| 62,068.2 62,068.2
2) E 32(10TON)
MH=H1:6,660 » 0.46 = 3,063.6 3,063.6 3,063.6
‘L 2H1:57,077 = 0.46 + 1.15 = 30,193.7 30,193.7 30,193.7
Z H1:30,793 * 0.46 = 14,164.7 14,164.7 14,164.7
| 47,422.0 3,063.6 30,193.7 14,164.7

2. I 24X AQAI

H=3.0m, W=23.0m L =230m

f=1/12=08, e=0.70-0.05=0.65
on = 16 sec(45 ")
Q=3600*qxk*fxe/cm=7371m/hr
2) 21 AQ A2t

Ti=L*WxH/Q=23.66hr
T2=2+L*H+0.6/60=1.8hr
T3=2+L*«H+*3.0/60=9hr
TA=T1+T2+T13= 1446 hr

3) &I AQ AN




]

L 24

M= 4l

i

oD

M__

—r

)

H

nJ

19,281.6
19,281.6

19,281.6
19,281.6

)

=
=

=12 hr
0.75
0.374

E
33.2T0N)

g on(E B33

T1 = (TA+TB)/8HR=3.31

T3 = T0/8HR

HT=T14T2+73=4.682

=
=

)

3600 x g x k * f «E/om=92.4 m/hr

| Of

5
Il
Il

1
'

[
=
o
n

H:0.0012 + 103,000,000 » TZ / 30M= 19,281.6

LxW+H/Q=2.92hr

1/1.25=0.8,
il

teld] 5%
18 sec(90

[

A8
A

1

t
|

G
10€ E2 3oz I 015(L1=0.03Km)

TB=2+*L*Hx4.0/60

DIPVES
SIH<I1 Al
f

cm

10

Q

E
A
g
3)JIEEME (S It
&

3. M




= APl
&F = = A g A M Z 4l L 24 &4 i
t2=11/25+2+60=144
cn=1t1+ 12+ t3 4 t4 =2.91A12
3)JIM A28t
MHEHI:6,660 * cn / 60 * 33.2 / 30m = 357.4 357.4 357.4
L 2H:57,077 + cm / 60 * 33.2 / 30m * 1.15 = 3,523.0 3,523.0 3,523.0
Z H1:30,793  cm / 60 » 33.2 / 30m = 1,652.7 1,652.7 1,652.7
| 5,533.1 357.4 3,523.0 1,652.7
A 134,304.9 3,421.0 95,784.9 35,099.0
g 134,304 3,421 95,784 35,099




F

I

=

@ ZBAU0IS20I EXI(H5.0m, W=3.78m x B=3.78mj AR

= NMEg g3 @ =HA 23, 1588
SAM=8/8%1.15=1.15
= 2528 18 P79

q=1.0,K=09,f=1/12=08
E=0.65, Cm=21sec(135")
Q=3600%q*K=*fxE/Cn=80.23 m/hr

2) Hx AQAIZHTA) A
S1 = 19.5min/m2( B2 4)
$2 = 0.6min/m2(BHAZEH| K %)
T0 =5.0%3.78+3.78/80.23 = 0.89 hr (2HARQAI2})
T1 =5.0%(3.78+3.78)%2x19.5/60 = 24.57 hr (BHUQ I A2}
T2 =5.0%(3.78+3.78)%20.6/60 = 0.76 hr (JIEFEHIAI2H)
TA=0.89 + 24.57 + 0.76 = 26.22 hr

3) wse

Mo
Py

A2t

QA =24.57 + 0.76 = 25.33 hr

MEHl 29,999 » 25.33 = 759,874.6

L2l 57,077 x 25,33  1.15 = 1,662,624.4
d Hl 28,95+ 25.33 =733,430.1

b

Y

J2A
e
e
rio

J2A
1}
<
021

: 213,033 » 25.33 * 0.6/8 » 1.15 = 465,415.8

HT
OHn
e
S

: 169,804 » 25.33 * 2/8 = 1.15 = 1,236,576.4

759,874.6
1,662,624.4
733,430.1

3,155,929.1

465,415.8
1,236,576.4

759,874.6

759,874.6

1,662,624.4

1,662,624.4

465,415.8
1,236,576.4

733,430.1

733,430.1




o Jr g =
aly = = A g M=l L 24| 23 Hl
SYoIL 221,506 * 25.33 * 4/8 * 1.15 = 3,226,179.5 3,226,179.5 3,226,179.5
EN: | 4,928, 171.7 4,928,171.7
H 8,084,100.8 759,874.6| 6,590,79.1 733,430. 1
TSEd olgt
1) WS 2HAIZ
S3 = 18.5min/m2(EHEI Q1L N 2)
TB = 5.0%(3.78+3.78)%2x18.5/60 = 23.31 hr (EHE QI AI2H)
MEHl 29,999 x 23.31 = 699,276.6 699,276.6 699,276.6
S 24l ¢ 57,077 = 23.31 = 1.15 = 1,530,034.6 1,530,034.6 1,530,034.6
4 Hl : 28,955 x 23.31 =674,941.0 674,941.0 674,941.0
E: | 2,904,252.2 699,276.6| 1,530,034.6 674,941.0
2) Zole
MABEA 213,033 * 23.31 * 0.5/8 * 1.15 = 356,916.8 356,916.8 356,916.8
BEQ0IE 1 169,804 * 23.31 * 2/8 x 1.15 = 1,137,962.7 1,137,962.7 1,137,962.7
SYoIL 221,506 * 23.31 * 3/8 * 1.15 = 2,226,675.2 2,226,675.2 2,226,675.2
&~ U 3,721,554.7 3,721,554.7
H 6,625,806.9 699,276.6| 5,251,589.3 674,941.0
TSEd =2

AT =1200 AlZH

=
00
>
S]

© A2 = 6000 Al
ty=54d
ta=0.90(90%)

© b =0.40(40%)

¢ = 0.10(10%)

: e = 52,000,000
H2AHIE/UEAIZ =K1

NS ZHIHI A = ZBHHIZ/WEAIZ = K2




= APl
&F = = A g M Z 4l L2l Z i
N2t 22t A = (A2 /HLEEINSAIZH)X
(1. 1xU&E240.9)/(2xLf&E =) = K3
K1=10.9 / 6000 = 0.00015
K2 = 0.4 / 6000 = 0.0000667
K3 = (0.1/1200)*((1.1x5+0.9)/(2+5)) = 0.0000533
8N K= (K +K+K3) *8=0.00216
2) Y dAE
JIHEZLED T =(TA+T8) /8= 6.19 €&
TEAEEX ¥ HHRI T2 =2.0¢
H:TC=TT1+T12 =819 &
3) JIMEE ME
£2 =0.0021600 * 52,000,000 * TC = 919,900.8 &/H A 919,900.8 919,900.8
A 919,900.8 919,900.8
A 919,900.8 919,900.8
g A 15,629,808.5| 1,459,151.2| 11,842,385.4| 2,328,271.9
g 15,629,807 1,450,151 11,842,385 2,328,271




oo & =
s = = H [ | M= 8l L 2H| 4t

* M2 T3S H
& EST A1 L BA(t=6em) 5 MY
= NAEg &5 0N 25, 588

BAIZE ZAHAIQ AE L2

>A=8/8+11=115
= 2528 18 ,5-1-4 P176

1. et

IHB OIS A8 &8 50% 88

QIE 2 TH (30 x 30 x 3600mm) 748,500 * 1.05m" / 10m" * 50% = 39,296.2 39,296.2

39,296.2

SESEM(#8,4.0mm) 1,500 * 1.03kg / 10m = 154.5 154.5 154.5

E| 39,450.7 39,450.7
2. 83|

1) ol &

SESS 1 272,831 + 0.73% / 10m « 1,15 = 22,904.1 22,904 .1 22,904 .1

BEO0E 1 169,804 + 0.3821 / 10m = 1,15 =7,420.4 7,420.4 7,420.4

37EE ¥ AFH(AHNES) (=261 3.0%)

30,324.5 « 3.0% = 909.7 909.7 909.7

E| 31,234.2 909.7 30,324.5

2) I A 2EIN(REAZ)(0.2m)

Q=1.9hr

M=l 7,629 « Q / 10m = 1,464.7 W/a 1,464.7 1,464.7

L2410 57,077 « Q / 10m « 1,15 = 12,602.6 W/a 12,602.6 12,602.6

Z Hl: 13,399 « Q / 10m = 2,572.6 W/a 2,572.6 2,572.6

EA| 16,639.9 1,464.7 12,602.6 2,572.6
3. 2t

1) o ¢

SESS 1 272,831 + 0582 / 10m + 1,15 = 18,197.8 18,197.8 18,197.8




= APl
H g A M Z 4l L 24 2 dl

2E2 169,804 + 0.302 / 10m = 1.15 = 5,858.2 5,858.2 5,858.2

| 24,056.0 24,056.0

2) I H 2RI

Q = 1.54hr

MEHl: 7,629 « Q / 10m = 1,174.8 #/a 1,174.8 1,174.8

24 57,077 « Q / 10m « 1.15 = 10,108.3 #/a 10,108.3 10,108.3

& Hl: 13,399 « Q / 10m = 2,063.4 #/a 2,063.4 2,063.4

E | 13,346.5 1,174.8 10,108.3 2,063.4

g A 124,727.3 42,999.9 77,091.4 4,636.0
g 124,726 42,999 77,091 4,636




I

=

> A3 =8 /8% 1.25+ 1.50 = 1.875
= 0584 1B, 2-10-5 P12
1. &% % A (H3.0n013t)

SE0I8:221,506 » 0.19 = 1.875 = 78,911.5
2S015:169,804 » 0.07 = 1.875 = 22,286.7

20% HE

|
2) E 32(10TON)
MH=H1:6,660 = 0.46 = 3,063.6
‘L 2H1:57,077 * 0.46 = 1.875 = 49,228.9
Z H1:30,793 * 0.46 = 14,164.7

|
2. I 24X AQAI

H=3.0m, W=1.2m, L =230m

q=0.7, k=0.9

f=1/12=08, =0.70-0.05=0.65

on = 16 sec(45 ")

0=3600*q*k*fxe/cm=7371m/hr
2) 21 AQ A2t

Ti=L*WxH/Q=147hr

T2=2+L+«H+0.6/60=18hr

T3=2+L+«H+*30/60=9hr

78,911.5
22,286.7

101,198.2

3,063.6

49,228.9

14,164.7

66,457.2

3,063.6

3,063.6

78,911.5

22,286.7

101,198.2

49,228.9

49,228.9

14,164.7

14,164.7




oo & =
s = 2 H [ | M= 8l L 2H| 4t
TA=T1+T24T73= 1227 fhr
3) BI AQ At
TB=2+*L*xHx4.0/60=12hr
3. &g
1) £2H 20
LHEd:54
e 8] 5%
A2HHIE:190%
HAEEZ 2L 150
>olA2E:13 UEY W BA33IUE)
K= ((MZblgtcl228)/HEH+)+
Hokaeltl)« 1/ EHA EES 8L 4)=0.00173
2)RY Y
JIMZZ e T1 = (TA+TB)/8HR=3.03L
a4 2 H:T=1¢g
SIHRI A2t
q=0.7, k=11
f=1/12=08 E=0.75
on = 18 sec(90°)
0=23600«q+*k+*fxE/cm=924m/hr
To=L+*W+H/ Q=117 hr
g M 2 Il T3 =T0/8HR=0.152
AT=T1+T2+T3=4.18%
3)JI &G A E (S Wt=32.9T0N)
2 H1:0.0012 * 95,700,000 * T / 30M= 16,001.0 16,001.0 16,001.0
EA| 16,001.0 16,001.0
4, 20t
1) XA
10€ E& 3022 I 015 (L1=0.03Km)




2 or o =
&F = = A g A M Z 4l L 24 &4 i
2) HYAZ A
t1=0, t3=1.05, t4=0.42
t2=011/25+2+60=144
om=t1+ 12+ t3 4 t4 =2.91A12
3)JIM A28t
MHEH|:6,660 * cn / 60 * 32.9 / 30m = 354.2 354.2 354.2
L 2H:57,077 + cm / 60 * 32.9 / 30m * 1.875 = 5,692. 1 5,692.1 5,692.1
Z H1:30,793 + cm / 60 » 32.9 / 30m = 1,637.8 1,637.8 1,637.8
| 7,684.1 354.2 5,692.1 1,637.8
A 191,340.5 3,417.8 156,119.2 31,803.5
g 191,339 3,417 156,119 31,803




I

=

> A3=8/8+1.25*150=1.875
= 2528 1#,2-10-5 P121
1. &% & 8HR(H=3.0m0lI5t)
SE0I8:221,506 » 0.19 = 1.875 = 78,911.5
2S015:169,804 » 0.07 = 1.875 = 22,286.7

20% HE

|
2) E 32(10TON)
MH=H1:6,660 = 0.46 = 3,063.6
‘L 2H1:57,077 * 0.46 = 1.875 = 49,228.9
Z H1:30,793 * 0.46 = 14,164.7

|
2. I 24X AQAI

H=3.0m, W=2.3m L =230m

q=0.7, k=20.9
f=1/12=08, e=0.70-0.05=0.65
cm = 16 sec(45 ")

0=3600*q*k*fxe/cm=7371m/hr
2) 28I ~Q A2t
T=L*«WxH/Q=2.81hr
T2=2+L+«H+0.6/60=18hr
T3=2+L*Hx3.0/60=9hr

78,911.5
22,286.7

101,198.2

3,063.6

49,228.9

14,164.7

66,457.2

3,063.6

3,063.6

78,911.5

22,286.7

101,198.2

49,228.9

49,228.9

14,164.7

14,164.7




oo & =
s = 2 H [ | M= 8l L 2H| 4t
TA=T1+T24T73=13.61 hr
3) BI AQ At
TB=2+*L*xHx4.0/60=12hr
3. &g
1) £2H 20
LHEd:54
e 8] 5%
A2HHIE:190%
HAEEZ 2L 150
>olA2E:13 UEY W BA33IUE)
K= ((MZblgtcl228)/HEH+)+
Hokaeltl)« 1/ EHA EES 8L 4)=0.00173
2)RY Y
JIMZEZ L T1 = (TA+TB)/8HR=3.2<
a4 2 H:T=1¢g
SIHRI A2t
q=0.7, k=11
f=1/12=08 E=0.75
on = 18 sec(90°)
0=23600«q+*k+*fxE/cm=924m/hr
To=L+*W+H/Q=224hr
g M 2 Il T3 =T0/8HR=0.282
A T=T1+T2+ T3 =448
3)JI &g A E (S t=33.2T0N)
2 B1:0.0012 * 99,700,000 * T / 30M= 17,866.2 17,866.2 17,866.2
EA| 17,866.2 17,866.2
4, 20t
1) XA
10€ E& 3022 I 015 (L1=0.03Km)




2 or o =
&F = = A g A M= 4l L 24 &4 i
2) HYAZ A
t1=0, t3=1.05, t4=0.42
t2=011/25+2+60=144
om=t1+ 12+ t3 4 t4 =2.91A12
3)JIM A28t
MHEH|:6,660 * cn / 60 * 33.2 / 30m = 357.4 357.4 357.4
L 2HI:57,077 + cm / 60 = 33.2 / 30m * 1.875 = 5,744.0 5,744.0 5,744.0
Z H1:30,793 + cm / 60 » 33.2 / 30m = 1,652.7 1,652.7 1,652.7
| 7,754.1 357.4 5,744.0 1,652.7
A 193,275.7 3,421.0 156, 171.1 33,683.6
g 193,275 3,421 156,171 33,683




oo & =
A = 2 Py s M | MEH | w==2H | Z
~ 02 7651
& E2W 83 ¥ B)(tbon) ; MY
ORIAIZY T2 ZUSEWGHE DGO LUSE 20% X8
SA=1/(1-02)=1.2
o ORINY CUEE 5 NE 5 A2 = 1.50
- 02t BAIZ HIAIS BE L2y
5 A3 =8/ 8% 1.25 % 1.50 = 1.675
= 5EM 1 5-1-4 P176
I EL
N 01O AE &2 50 X8
92474 (30x 30 x 3600mm) 748,500 * 1.05m" / 10M * 50% = 39.296.2|  39,206.2
39,296.2
SEBH(#,4.00m) 1,500 * 1.0%kg / 10m = 154.5 154.5 154.5
A 39,450.7|  39,450.7
2. 7Y
1) o
HEST ¢ 272,831 + 0.7320 / 10M * 1.875 = 37,343.7 37,343.7 37,343.7
BE0I2 1 169,804 * 0.3821 / 107 * 1.875 = 12,098.5 12,008.5 12,098.5
2742 U ATY|(ANES) (=262 3.0%
49,4422 % 3.0% = 1,483.2 14832 1,483.2
A 50,95.4| 14832 49,4422
2) 2 A : BEII(LEA)(0.2m)
Q= 1.920r
THEbI: 7,620 + 0 / 10m = 1,464.7 W/a 14647 14647
SHl: 57,077 + 0/ 10M * 1.875 = 20,547.7 W/a 20,547.7 20,547.7
F Hl: 13,309 * 0/ 10M = 2,572.6 W/a 2,572.6 2,572.6
A 24585.0| 14647  20.547.7|  2,572.6
3. #IiH




= APl
&F = = A g A M Z 4l L 24 2 dl

1) o e

YE23 ¢ 272,831 » 0.582 / 10m * 1.875 = 29,670.3 29,670.3 29,670.3

2508 1 169,804 » 0.30¢! / 10m * 1.875 = 9,551.4 9,551.4 9,551.4

E | 39,221.7 39,221.7

2) I A - 2EI(REAT)(0.2m)

Q = 1.54hr

MEHl: 7,629 « Q / 10m = 1,174.8 #/a 1,174.8 1,174.8

24l 57,077 « Q / 10m" « 1.875 = 16,480.9 W/a 16,480.9 16,480.9

Z Hl: 13,399  Q / 10m = 2,063.4 #/a 2,063.4 2,063.4

E | 19,719.1 1,174.8 16,480.9 2,063.4

g A 173,901.9 43,573.4 125,692.5 4,636.0
g 173,901 43,573 125,692 4,636




2 or o =
&F = = A g A M=t L 24 &4 i

* p2 T7SH
@ NEZ2 0122 FA(5F2%) 5 g
= NNE €8 @ FHN 25, 188

BAIZE A HE L2

>A=8/8+115=115
w2528 1#,2-11-2 P12
Zd N J|FE : AZ2S 82Tl 3 HE(E3XY 50M)
YR HAE BL O
B=1.0x1.0=1n/)x
1. L2

L PHI:49,479 + 0.05 * B » 0.5 * 1.15 = 1,422.5 &/Z 1,422.5 1,422.5
| 1,422.5 1,422.5
A 1,422.5 1,422.5
g 1,422 1,422




gt eE
s = = A = =3l Bl Bl
+ fh2 78S H
@ A 3 OLAZE SIMNRII(t=hem) 5 mY
= NHE 25 0 FAHX 25, 1%8E
BAIZE A HE L2
> A=8/8+115=1.15
= 2554 5 ,2-1-3 P1057
% B-Type
% 19 A3 Qd = 3400m /Y
NZFZAISE 0 Q= 3400 / 8hr = 425 m' /hr
1. X2
Z % 3 1267,989 « 401 / 3400m « 1,15 = 362.5 W 362.5
2 8 o 2 169,804 201 / 3400m * 1.15 = 114.8 W 114.8
2 477.3
A 477.3
2. A8 1
1) SSHIYO[(2m)
MEHl @ 77,087 / 425.00 « 204 = 362.7 W/m' 362.7
L2l ¢ 57,077 / 425.00 « 204 = 1.15 = 308.8 #/m 308.8
Z I @ 170,620 / 425.00 » 204 = 802.9 W/m 802.9
2 A 362.7 308.8 802.9
2) ZC(EHOIOf, 0.57m )+A% =TI} I1(0.95m)
MEHl ¢ (6,355 4 0) / 425.00 = 14.9 #/m 14.9
L2l : (57,077 4 0) / 425.00 * 1.15 = 154.4 W/m 154.4
&l (7,237 + 11,316) / 425.00 = 43.6 W/m 43.6
& A 14.9 154.4 43.6
3) ZO(Et0I0f, 0.57m)
MEHl @ 6,355 / 425.00 200 = 29.9 W/ m 29.9




o Jr g =
aly = = A g A M=l L 24| e S|

2| 57,077 / 425.00 * 200 = 1.15 = 308.8 #/m 308.8 308.8

4 Hl 7,237 / 425.00 * 204 = 34.0 #/m 34.0 34.0

| 372.7 29.9 308.8 34.0
4) OFAZE TILIA(3.0m)

MSHl 17,540 / 425.00 = 41.2 #/m 41.2 41.2

2| 57,077 ] 425.00 * 1.15 = 154.4 H/m 154.4 154.4

4 Hl @ 55,623 / 425.00 = 130.8 #/m 130.8 130.8

| 326.4 41.2 154.4 130.8
5) DY S (XA, 10~12ton)

MSHl : 13,838 / 425.00 = 32.5 #/m' 2.5 2.5

2| 57,077 / 425.00 * 1.15 = 154.4 W/ m 154.4 154.4

3 Hl 12,390 / 425.00 = 29.1 #/m’ 29.1 29.1

| 216.0 2.5 154.4 29.1
6) EFOIOI S2I(Xt=4!, 8~15ton)

MSHl 12,408 / 425.00 = 29.1 #/m’ 29.1 29.1

28| 57,077 / 425.00 * 1.15 = 154.4 W/ m 154.4 154.4

3 Hl 18,511 / 425.00 = 43.5 #/m’ 43.5 43.5

| 227.0 29.1 154.4 43.5
7) BY Z2{(RFAL, 5~8ton)

MSH| 7,439 / 425.00 = 17.5 #/m 17.5 17.5

28| 57,077 / 425.00 * 1.15 = 154.4 W/ 154.4 154.4

4 Hl 8,709 / 425.00 = 20.4 #/m 20.4 20.4

| 192.3 17.5 154.4 20.4
8) OIAZE CIAEZISH(3,80010)

MSHl 17,181 / 425.00 = 40.4 #/m 40.4 40.4




= APl
&F = = A g A M Z 4l L 24 Bl

LR 1 57,077 / 425.00 * 1.15 = 154.4 W/ 154.4 154.4

Z Hl 115,518 / 425.00 = 36.5 #/m 36.5 36.5

| 231.3 40.4 154.4 36.5
9) 4=XHS¥2, 160002 )

MEHl : 21,146 / 425.00 = 49.7 /m' 49.7 49.7

R 149,479 / 425.00 « 1.15 = 133.8 W/m 133.8 133.8

Z Hl 118,728 / 425.00 = 44.0 #/m 44.0 44.0

| 227.5 49.7 133.8 44.0

A 3,480.5 617.9 1,677.8 1,184.8
3. MeHl

8(E) : 6,000 * 0.69€A/m * 0.05m = 207.0 207.0 207.0

2 D 1.27 %350 /m % 0.06m = 2.2 2.2 2.2

| 209.2 209.2

A 209.2 209.2

g A 4,167.0 827.1 2,155.1 1,184.8

g 4,166 827 2,155 1,184




o Jr g =
o = =2 H & A X 24| = 2H| Z Hl

* M2 795 H

@& AEH(EE) A-Type ; ME

= Mg 85 0 FHI €5, 1%EE

BAIZE RAHAIQ ZE 24|

>AM=8/8x1.15=1.15

w2534 HH 2-1-8 P1062

¥ 12 A2 : Qd = 400m/Y

% AIZEY A3 0 Q=400 / 8hr =50 m/hr

1. E24|
I & 3 267,989 x 39 /400 x 1.15=2,311.4 2,311.4 2,311.4
BSOS 169,804 « 191 / 400 * 1.15 = 488.1 488.1 488.1
EN: | 2,799.5 2,799.5

2. JIHZEHY
1) 2L (EH0I0 0.95m) + A O]
M24l @ (11,258 + 0) / 50.00 = 225.1 225.1 225.1
24 ¢ (57,077 +0) / 50.00 * 1.15 = 1,312.7 1,312.7 1,312.7
2 Hl: (9,395 + 11,316) / 50.00 = 414.2 414.2 414.2
EN: | 1,952.0 225.1 1,312.7 4142
2) 2L (B0 0.57m)
MSHl @ 6,355 / 50.00 = 127.1 127 .1 127 .1
S22 57,077 / 50.00 * 1.15 =1,312.7 1,312.7 1,312.7
& Hl : 7,237 /50.00 = 144.7 144.7 144 .7
EN: | 1,584.5 127 .1 1,312.7 144.7
3) As222(XF4! 2.5Ton)
MEHl : 3,277 / 50.00 = 65.5 65.5 65.5
S22 57,077 / 50.00 * 1.15 = 1,312.7 1,312.7 1,312.7
& Hl : 5,064 /50.00 = 101.0 101.0 101.0




= APl
&F = = A g A M Z 4l L 24 &4 i

| 1,479.2 65.5 1,312.7 101.0

4) OFAZEATY O[O (4004 )

MEHl 1,807 / 50.00 = 36.1 36. 1 36. 1

LR 1 57,077 / 50.00 * 1.15 = 1,312.7 1,312.7 1,312.7

g Hl 771 /50.00 = 15.4 15.4 15.4

| 1,364.2 36. 1 1,312.7 15.4

5) §ZEY (2.5Ton)

MEH : 5,046 / 50.00 » 2 O = 201.8 201.8 201.8

LR 149,479 / 50.00 » 2 Of = 1.15=2,276.0 2,276.0 2,276.0

Z Hl 16,400 / 50.00 2 CH = 256.0 256.0 256.0

| 2,733.8 201.8 2,276.0 256.0

g A 11,913.2 655.6 10,326.3 931.3
g 11,912 655 10,326 931




2 or o =
&F = = A g A M Z 4l L 24 2 dl
* p2 B80S H
@ OIAZEZZSZHIOGE (22 S, 4012) 5 g
= NAEg &5 0N 25, 588
BAIZE A HE L2
>A=8/8+115=115
= 2534 28, 1-5-5 PA18
12 AIZE 0 01=300 m/g
NZEANSE Q=300 / 8hr = 37.5 m/hr
1. BhxIeI&
ZF 3 267,98 « 201 / 300m * 1.15 = 2,05%%2 2,054.5 2,054.5
2 & o 2 169,804 x 191 / 300m » 1.15 = 650.9 V:ﬂ/ 650.9 650.9
E | 2,705.4 2,705.4
2. ZY0IE BBH(1.5ton)
M & Hl @ 1,705 / 37.50 = 45.4 #/m 45.4 45.4
L 235,608/ 37.50 « 1.15=1,091.9 #/n 1,091.9 1,091.9
d  Hl 599/ 37.50 = 15.9 H/m 15.9 15.9
| 1,183.2 45.4 1,091.9 15.9
3. WSEH(HZIHOIEA!, 0.7ton)
M & H : 3,134 / 37.50 = 83.5 #/m 83.5 83.5
L 235,608/ 37.50 « 1.15=1,091.9 #/n 1,091.9 1,091.9
g Hl 11,902 / 37.50 = 50.7 #/m 50.7 50.7
| 1,226.1 83.5 1,091.9 50.7
4. 2A(EHOI0f, 0.57m")
M = Hl 6,355 /37.50 = 169.4 #/n 169.4 169.4
L 257,077 / 37.50 « 1.15 = 1,750.3 H/m' 1,750.3 1,750.3
d dl 7,237/ 37.50 = 192.9 /m 192.9 192.9




= APl
&F = = A g A M Z 4l L2l &4 i

| 2,112.6 169.4 1,750.3 192.9
5. SY3 (42X, 55004 )

M2l 15,245 / 37.50 = 0.5 = 203.2 W/m 203.2 203.2

L P Hl 49,479 / 37.50 « 0.5 x 1.15 = 758.6 W/ 758.6 758.6

d Hl 9,765/ 37.50 0.5 = 130.2 H/n 130.2 130.2
E | 1,092.0 203.2 758.6 130.2
g 8,289.3 501.5 7,398.1 389.7

g 8,288 501 7,398 389




2 or o =
&F = = A g A M Z 4l L 24 2 dl
* p2 8IS H
@ OPAZESHIELYGE (22, tE, AR2)-0rF ; Mg
= NAEg &5 0N 25, 588
BAIZE A HE L2
>A=8/8+115=115
= 2534 28, 1-5-5 PA18
12 AIZE 0 01=300 m/g
NZEANSE Q=300 / 8hr = 37.5 m/hr
1. BhxIeI&
ZF 3 267,98 « 201 / 300m * 1.15 = 2,05@%2 2,054.5 2,054.5
2 & o 2 169,804 x 191 / 300m » 1.15 = 650.9 V:ﬂ/ 650.9 650.9
E | 2,705.4 2,705.4
2. ZY0IE BBH(1.5ton)
M & Hl @ 1,705 / 37.50 = 45.4 #/m 45.4 45.4
L 235,608/ 37.50 « 1.15=1,091.9 #/n 1,091.9 1,091.9
d  Hl 599/ 37.50 = 15.9 H/m 15.9 15.9
| 1,183.2 45.4 1,091.9 15.9
3. WSEH(HZIHOIEA!, 0.7ton)
M & H : 3,134 / 37.50 = 83.5 #/m 83.5 83.5
L 235,608/ 37.50 « 1.15=1,091.9 #/n 1,091.9 1,091.9
g Hl 11,902 / 37.50 = 50.7 #/m 50.7 50.7
| 1,226.1 83.5 1,091.9 50.7
4. 2A(EHOI0f, 0.57m")
M = Hl 6,355 /37.50 = 169.4 #/n 169.4 169.4
L 257,077 / 37.50 « 1.15 = 1,750.3 H/m' 1,750.3 1,750.3
d dl 7,237/ 37.50 = 192.9 /m 192.9 192.9




= APl
&F = = A g A M Z 4l L2l &4 i

| 2,112.6 169.4 1,750.3 192.9
5. SY3 (42X, 55004 )

M2l 15,245 / 37.50 = 0.5 = 203.2 W/m 203.2 203.2

L P Hl 49,479 / 37.50 « 0.5 x 1.15 = 758.6 W/ 758.6 758.6

d Hl 9,765/ 37.50 0.5 = 130.2 H/n 130.2 130.2
E | 1,092.0 203.2 758.6 130.2
g 8,289.3 501.5 7,398.1 389.7

g 8,288 501 7,398 389




St e =
&k = 2 p g A 2 = 2H H
=
& OIAZEIZEAYOA (22,1, 472) 5 mY
= NHE 85 0 FH EE, 15EE
BAIZE RIS HE L 2|
S>AM=8/8x115=115
v 5B 2B, 1-5-2 P416
% ZZEH 7.50m =Y
% 12 AIBY 1 0d =320 m/Y
ANALAIZE Q=320 / 8hr = 40 m /hr
1. BjxIoe
TOX B :267,980 x 201 / 320m + 1.15 = 1,926.1 1,926. 1 1,926. 1
i/ m
2 S 9 2 169,804 x 101 / 320m * 1.15 = 610.2 vrfn{ 610.2 610.2
2 A 2,53.3 2,53.3
2. 2O(Et0l01, 0.57m)
M2 8l 6,35 /40.00 = 158.8 #/m 158.8 158.8
L 24l 157,077 / 40.00 * 1.15 = 1,640.9 W/m 1,640.9 1,640.9
2 Hl : 7,237 / 40.00 = 180.9 #/m 180.9 180.9
2 A 1,980.6 158.8 1,640.9 180.9
3. Zd01E 2HE(1.5t0n)
M &bl 1,705 / 40.00 = 42.6 H/m 4.6 4.6
L 24l ;35,608 /40.00 « 1.15=1,023.7 W/m 1,023.7 1,023.7
2 Hl 1599/ 40.00 = 14.9 W/m 14.9 14.9
2 A 1,081.2 4.6 1,023.7 14.9
4, IES2(HSIHOISAL 0.7ton)
M2 Hl 3,134/ 40.00 = 78.3 #/m 78.3 78.3
L 24l 135,608 /40.00 « 1.15=1,023.7 W/m 1,028.7 1,023.7
2 Hl 1,902 / 40.00 = 47.5 H/m 47.5 47.5




= APl
&F = = A g A M Z 4l L 24 &4 i

| 1,149.5 78.3 1,023.7 47.5
5. SY3I (44T, 55004 )

M2l 15,245 / 40.00 = 0.5 = 190.5 W/m 190.5 190.5

L 2 Hl 49,479 / 40.00 * 0.5 * 1.15 = 711.2 #/n' m.z2 m.z2

d Hl 9,765/ 40.00 0.5 = 122.0 H/n' 122.0 122.0
E | 1,023.7 190.5 m.z2 122.0
g 7,771.3 470.2 6,935.8 365.3

g 7,710 470 6,935 365




2 or o =
&F = = A g A M Z 4l L 24 &4 i
* p2 8BS H
& BXERL ¥ UF (YA AR2) ; vE
= NAEg &5 0N 25, 588
BAIZE A HE L2
>A=8/8+115=115
= 2534 2. 1-3-1 PA13
1. Hgx
* 12E NSE 1 Qd = 150m /L
N AIZE 0 Q=150m/2 [ 8hr/2 = 18.75 m'/hr
2. L&
A Z 216,121 » 201/ / 150m « 1.15 = 3,313.8 3,313.8 3,313.8
2508 1 169,804 » 201/ / 150m x 1.15 = 2,603.6 2,603.6 2,603.6
| 5,917.4 5,917 .4
3. JAMNEE
1) 2RI(RSAL, 0.6m)
MEHl 15,691 / 18.75m /hr = 836.8 836.8 836.8
LR 1 57,077 / 18.75m /hr + 1.15 = 3,500.7 3,500.7 3,500.7
d Bl 22,791 / 18.75m /hr = 1,215.5 1,215.5 1,215.5
| 5,663.0 836.8 3,500.7 1,215.5
2) ASZE2(#MESIH0IEA, 0.7ton)
MEHl ¢ 3,134 / 18.75m /hr = 167.1 167.1 167.1
L2+ 35,608 / 18.75m /hr * 1.15 = 2,183.9 2,183.9 2,183.9
Z Hl 1,902 / 18.75m /hr = 101.4 101.4 101.4
| 2,452.4 167.1 2,183.9 101.4
3) =283(5,5004 )
MEHl : 15,245 / 18.75m /hr * 0.5 = 406.5 406.5 406.5
L RH 49,479 / 18.75m /hr % 0.5 * 1.15 = 1,517.3 1,517.3 1,517.3




o [0
-
[+
I

= =

oA M= 4| L 24| a Hi
A Hl 19,765/ 18.75m /hr * 0.5 = 260.4 260.4 260.4
| 2,184.2 406.5 1,517.3 260.4
H 16,107.0 1,410.4 13,119.3 1,577.3
4, Ar22(1=20cm2 O 100mE 2tond| &)

Abgesk 0 1,27 * 100KG = 127.0 127.0 127.0
| 127.0 127.0
H 127.0 127.0
g A 16,234.0 1,537.4 13,119.3 1,577.3

o

A 16,233 1,537 13,119 1,577




St e =
&k = 2 p g A H H
M2 BB E
& YIY($S4) RSC-4(402 /a) 5 MY
= Mg &5 1 FHI €3, 15%E8
BAIZE RIS HE L 2|
S>AM=8/8x115=115
= 25EH 2 1-5-1 P416
% 12 AIZE 8000 m/Y
AIFSAIBE @ Q =8000m / 8hr = 1000 m /hr
1. HjxIoe
SEOI2 1 160,804 * 201 / 8000M * 1.15 = 48.8 H/m' 48.8 48.8
2 A 48.8 48.8
2. A 1 OIAZE AZY0]0{(4004 )
M2 8l 1,807 / 1000.00 = 1.8 #/m 1.8
L 2 4l 157,077 / 1000.00 * 1.15 = 65.6 W/ 65.6 65.6
2 Hl 771/ 1000.00 = 0.7 W/t 0.7 0.7
2 A 68.1 65.6 0.7
g 116.9 114.4 0.7
g A 115 114




o [0
-
*
I

=
=
tn
(=
H
10
o

=z

x M2 853
@ ZotYIE(+3A) RSC-3(754 /a)

= NNE €8 @ FHN 25, 188

FHl

0e
3
0

BAIZE A HE L2

¥ 12 ASE @ 8000 m/Y

NZEAIBE Q= 8000m / 8hr = 1000 m /hr

1. BHxIoe
HE0E 1 169,804 * 201 / 8000m * 1.15 = 48.8 H/m 48.8 48.8
A 48.8 48.8
2. A I OIAZE ATYO0[0(4002 )
M 2 Hl 1,807 / 1000.00 = 1.8 #/m 1.8 1.8
L 2 Hl @ 57,077 / 1000.00 * 1.15 = 65.6 #/m 65.6 65.6
Z Bl : 771/ 1000.00 = 0.7 #/m 0.7
A 68. 1 1.8 65.6
g Al 116.9 1.8 114.4

o

A 115 1 114




2 or o =
&F = = A g A M Z 4l L 24 &4 i
x p2 86 H
@ OIAZEZZZMIQE (2R, 52,4012) 5 ¥
= NAEg &5 0N 25, 588
BAIZE A HE L2
>A=8/8+115=115
= 2534 28, 1-5-5 PA18
12 AIZE 0 01=300 m/g
NZEANSE Q=300 / 8hr = 37.5 m/hr
1. BhxIeI&
ZF 3 267,98 « 201 / 300m * 1.15 = 2,05@%2 2,054.5 2,054.5
2 & o 2 169,804 x 191 / 300m » 1.15 = 650.9 V:ﬂ/ 650.9 650.9
E | 2,705.4 2,705.4
2. ZY0IE BBH(1.5ton)
M & Hl @ 1,705 / 37.50 = 45.4 #/m 45.4 45.4
L 235,608/ 37.50 « 1.15=1,091.9 #/n 1,091.9 1,091.9
d  Hl 599/ 37.50 = 15.9 H/m 15.9 15.9
| 1,183.2 45.4 1,091.9 15.9
3. WSEH(HZIHOIEA!, 0.7ton)
M & H : 3,134 / 37.50 = 83.5 #/m 83.5 83.5
L 235,608/ 37.50 « 1.15=1,091.9 #/n 1,091.9 1,091.9
g Hl 11,902 / 37.50 = 50.7 #/m 50.7 50.7
| 1,226.1 83.5 1,091.9 50.7
4. 2A(EHOI0f, 0.57m")
M = Hl 6,355 /37.50 = 169.4 #/n 169.4 169.4
L 257,077 / 37.50 « 1.15 = 1,750.3 H/m' 1,750.3 1,750.3
d dl 7,237/ 37.50 = 192.9 /m 192.9 192.9




= APl
&F = = A g A M Z 4l L2l &4 i

| 2,112.6 169.4 1,750.3 192.9
5. SY3 (42X, 55004 )

M2l 15,245 / 37.50 = 0.5 = 203.2 W/m 203.2 203.2

L P Hl 49,479 / 37.50 « 0.5 x 1.15 = 758.6 W/ 758.6 758.6

d Hl 9,765/ 37.50 0.5 = 130.2 H/n 130.2 130.2
E | 1,092.0 203.2 758.6 130.2
g 8,289.3 501.5 7,398.1 389.7

g 8,288 501 7,398 389




St e =
&k = 2 p g A T2 = 2H 2
» N2 BTSH
@ OIAZE)SZHYOE (2R 52, A02) ; mE
= NHE 85 0 FH EE, 15EE
BAIZE RIS HE L 2|
S>AM=8/8x115=115
v 5B 2B, 1-5-2 P416
% ZZEH 7.50m =Y
% 12 AIBY 1 0d =320 m/Y
ANALAIZE Q=320 / 8hr = 40 m /hr
1. BjxIoe
TOX B :267,980 x 201 / 320m + 1.15 = 1,926.1 1,926. 1 1,926. 1
i/ m
2 S 9 2 169,804 x 101 / 320m * 1.15 = 610.2 vrfn{ 610.2 610.2
2 A 2,53.3 2,53.3
2. 2O(Et0l01, 0.57m)
M2 8l 6,35 /40.00 = 158.8 #/m 158.8 158.8
L 24l 157,077 / 40.00 * 1.15 = 1,640.9 W/m 1,640.9 1,640.9
2 Hl : 7,237 / 40.00 = 180.9 #/m 180.9 180.9
2 A 1,980.6 158.8 1,640.9 180.9
3. Zd01E 2HE(1.5t0n)
M &bl 1,705 / 40.00 = 42.6 H/m 4.6 4.6
L 24l ;35,608 /40.00 « 1.15=1,023.7 W/m 1,023.7 1,023.7
2 Hl 1599/ 40.00 = 14.9 W/m 14.9 14.9
2 A 1,081.2 4.6 1,023.7 14.9
4, IES2(HSIHOISAL 0.7ton)
M2 Hl 3,134/ 40.00 = 78.3 #/m 78.3 78.3
L 24l 135,608 /40.00 « 1.15=1,023.7 W/m 1,028.7 1,023.7
2 Hl 1,902 / 40.00 = 47.5 H/m 47.5 47.5




g i =
& & 2 o 8 A | MEH | =26 | Z 4

2 1,149.5 8.3 1,027 47.5
5. BYA(2T, 5500¢)

T & bl : 15,245 / 40.00 * 0.5 = 190.5 W/ 190.5 190.5

o 2 H| 149,479 / 40.00 * 1.15 % 0.5 = T11.2 W/ 7.2 7.2

2 bl 09,765/ 40.00 * 0.5 = 122.0 W/ 122.0 122.0
2 ) 1,08.7 190.5 712 122.0
g 7.771.3 470.2|  6,93.8 365.9

g 7,770 470 6,935 35




St e =
&k = 2 p g A T2 = 2H 2
=
& 232/E AT H(t=15em) ; MY
= Mg 85 0 FHI 5, 188
BAIZE RIS HE L 2|
S>AM=8/8x115=115
5B 2B 1-6-2 P42
A7E 232IE ZF(UH) @ FH 10cm 50m/L(2E)
472 232IE ZH(UH) @ FH 15em 75m /L (2E)
472 232/E EZ(U™) : FH 200n 100m/L(EE)
472 232IE ZF(AH) @ FH 30cm 150m /L (EE)
472 232/E EZ(QUE) : FH 40cn 200m /L (EE)
1. RYxA
129 AIBE © 0d = 750/
NAGSANSE : Q=75m/2 / 8hr/Y =9.38 m/hr
2. HjxIQI
1) X & 3 267,989 = 421 / 75m + 1.15 = 16,436.6 16,436.6 16,436.6
2) BEQIL : 169,804 * 201 / 75m = 1.15 = 5,207.3 5,207.3 5,207.3
A 21,643.9 21,643.9
3. 3PLR(AFIE 5) € BEHI(EH 5)
1) 3PLE(A32E S) : 21,643.9 * 3% = 649.3 649.3 649.3
2) ZWSHI(2H S) @ 21,643.9 * 3% = 649.3 649.3 649.3
A 1,298.6 1,298.6
g 22,942.5 1,298.6 21,643.9
g A 22,941 1,208 21,643
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=
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= UHE 85 @ 2N 23, 1H5E
BAIZH HRIAIQ E Loy
SA=8/8%1.15=1.15

= 5% 4 2, 1-6-6 P423

* 2E AI3% : 0d=600m/

# A2 ANSE 1 Q=600/8hr=75

1) X

SZ0I2 221,506 * 12 / 600 * 1.15 = 424.5
2SS 169,804 = 12! / 600 » 1.15 = 325.4

|

2) e (320~400mm)

MEHl : 9,549 / 75.00 = 127.3
L2+ 35,608 / 75.00 * 1.15 = 545.9
Z Hl 1,981 /75.00=26.4

3) 22z
Sef01=(14+3.2m) : 169,800  0.31 EA / 100 m = 526.3
2 1127 %3000 £ / 100 m=38.1

b

H
H

2. Z¥E

0N

Mr

= 2534 28, 1-6-7 PA23

o0

NSE 1 Qdt =900 m/

e

1) tiX QI

SEOIR 1 221,506 » 3¢/ / 900 = 1.15 = 849.1

424.5
325.4

749.9

127.3

545.9

26.4

699.6

526.3
38.1

564.4
2,013.9

849.1

127.3

127.3

526.3
38.1

564.4
691.7

424.5

325.4

749.9

545.9

545.9

1,295.8

849.1

26.4

26.4

26.4




o [0
-
*
I

&F = = | M Z 4l L2l Z i
ESoL 1 169,804 « 201 / 900 » 1.15 = 433.9 433.9 433.9
2) 22z
HEANAHE (ConZZE) : 8,200 * 0.336kg * 1.03 = 2,83 2,837.8 2,837.8
7.8

SHANTH0IH (Z2EEERM) 4,500 * 0.04 = 2 « 0.25 9.7 9.7

/m o+ 1.03 =92.7
| 4,213.5 2,930.5 1,283.0
A 4,213.5 2,930.5 1,283.0
g A 6,227 .4 3,622.2 2,578.8 26.4

o

A 6,226 3,622 2,578 26




2 or o =
&F = = A g A M Z 4l L 24 &4 i
* p2 s H
& SC2EYMEX(T=6em) 5 mE
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
= 2534 58 ,2-1-26 P1078
12 AIZE : Qd=180 m/g
NSNS Q= 180m / 8hr = 22.5 m'/hr
1. BhxIeI&
& 327,99 + 20/ 180m « 1.15 = 3,424.3 3,424.3 3,424.3
SZ0IL 221,506 = 22! / 180m" * 1.15 = 2,830.3 2,830.3 2,830.3
2S0F 1 169,804 « 101 / 180m = 1.15=1,084.8 1,084.8 1,084.8
& A 7,339.4 7,339.4
2. B4 2HD(REAEZ, 0.2m)
MEHl @ 7,629 / 22.50 = 339.0 339.0 339.0
LR 57,077 [ 22.50 * 1.15 = 2,917.2 2,917.2 2,917.2
&3 Hl 13,399 / 22.50 = 5%.5 595.5 595.5
| 3,851.7 339.0 2,917.2 595.5
3. OH& @ 2d0IE SHE/(1.5Ton)
MEHl 1,705 / 22.50 = 75.7 75.7 75.7
L 2H : 35,608 / 22.50  1.15 = 1,819.9 1,819.9 1,819.9
Z Hl 1599/ 22.50 = 26.6 2.6 2.6
| 1,922.2 75.7 1,819.9 2.6
4. 28t @IE(2.5Ton)
MEHI : 5,046 / 22.50 = 224.2 224.2 224.2
R 149,479 / 22.50 * 1.15 = 2,528.9 2,528.9 2,528.9
Z Bl 16,400 / 22.50 = 284.4 284.4 284.4




= APl
&F = = A g A =4 L 24 Z i
3,037.5 224.2 2,528.9 284.4
= % SUSHI(AHZA5%) & 14,605.4 = 5% = 730 730.2 730.2
N 730.2 730.2
g 16,881.0 1,369.1 14,605.4 906.5
g 16,880 1,369 14,605




2 or o =
&F = = A g A M=t L 24 &4 i
* p2 1S H
@ QAREHOIAZESR), L=30m(2l02}) + mE
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
w2538 18, 1-2-7 P57
1. A28H2l03H)
1) OIAZER
V= 2500M/HR, T =45082
L = 30, t0 = 52
rt = 2350Kg/m
q=250Kg / rt =0.106 m
N = VT / (120L + Vxt0) = 69.88
Q=Nxq=7407m
2| ¢ 201%169,804 / 7.407 * 1.15 = 52,727.0 52,721.0 52,721.0
| 52,727.0 52,727.0
g A 52,721.0 52,721.0
g 52,721 52,721




2 or o =
&F = = A g A M=t L 24 &4 i
* p2 2o H
@ QAREHBIACIER), L=30m(2I02t) ¢ mE
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
w2538 18, 1-2-7 P57
1. A28H2l03H)
1) 232IES
V= 2500M/HR, T =45082
L = 30, t0 = 52
rt = 2300Kg/m
q=250Kg / rt =0.109 m
N = VT / (120L + Vxt0) = 69.88
Q=Nxqg=70617m
2| ¢ 201%169,804 / 7.617 * 1.15 = 51,273.3 51,273.3 51,273.3
| 51,273.3 51,273.3
g A 51,273.3 51,273.3
g 51,273 51,273




2 or o =
&F = = A g A M=t L 24 &4 i
x p2 BsH
@ ABR2U(STF), L=30m(2I0{3t) ; mE
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
w2538 18, 1-2-7 P57
1. A28H2l03H)
1) 2WF
V= 2500M/HR, T =45082
L = 30, t0 = 52
rt = 1850Kg/m
q=250Kg / rt=0.136
N = VT / (120L + Vxt0) = 69.88
Q=N=xq=9434m
L2l 201%169,804 / 9.434 + 1.15 = 41,398.0 41,398.0 41,398.0
| 41,398.0 41,398.0
g A 41,398.0 41,398.0
g 41,398 41,398




2 or o =
&F = = A g A =3l L 24 Bl
* p2 0ASH
@ OIAZEZZSZHIOGE (22 S, 4012) 5 g
= ORISH HE HYSEMCE UdotH P83 20% B
SAM=1/(1-02)=12
= ORHEAY YES 50 HE = A2 =1.50
o OF2t BAIZE HHAIY HE L2
> A3=8/8+1.25*150=1.875
= 2534 28, 1-5-5 PA18
12 AIZE 0 01=300 m/g
NZEANBE 0 =300m / 8hr = 37.5 m/hr
1. BhxIeI@
ZF 3 1267,989 201 / 300m * 1.875 = 33@%8 3,349.8 3,349.8
2 8 ¢ 2 :169,804 » 101 / 300m * 1.875 = 1,061.2 1,061.2 1,061.2
f/
| 4,411.0 4,411.0
2. ZY0IE BBH(1.5ton)
M & Hl @ 1,705 / 37.50 = 45.4 #/n 45.4 45.4
L 2l 35,608/ 37.50 « 1.875 = 1,780.4 W/ m 1,780.4 1,780.4
d Hl 599/ 37.50 = 15.9 H/m 15.9 15.9
| 1,841.7 45.4 1,780.4 15.9
3. WSEH(HZIH0IEA!, 0.7ton)
M & Hl : 3,134 / 37.50 = 83.5 #/m 83.5 83.5
L 2l 35,608/ 37.50 « 1.875 =1,780.4 #/m 1,780.4 1,780.4
g Hl 11,902 / 37.50 = 50.7 #/m 50.7 50.7
| 1,914.6 83.5 1,780.4 50.7
4. 2A(EHOI0f, 0.57m")
M = Hl 6,305 /37.50 = 169.4 #/n 169.4 169.4
L 2l 57,077 / 37.50 « 1.875 = 2,853.8 W/ m 2,853.8 2,853.8




= APl
&F = = A g A M Z 4l L2l &4 i
g Hl 17,237 / 37.50 = 192.9 H#/n 192.9 192.9
E | 3,216.1 169.4 2,853.8 192.9
5. SY3 (42X, 55004 )
M2l 15,245 / 37.50 = 0.5 = 203.2 W/m 203.2 203.2
L 2 Hl 49,479 / 37.50 + 0.5  1.875 = 1,236.9 #/m 1,236.9 1,236.9
d  Hl 9,765/ 37.50 0.5 = 130.2 /' 130.2 130.2
A A 1,570.3 203.2 1,236.9 130.2
g A 12,953.7 501.5 12,062.5 389.7
g 12,952 501 12,062 389




2 or o =
&F = = A g A =3l L 24 Bl
x p2 S H
@ OPAZESHIETLYUCGA (22,018, A02) ; mE
= ORISH HE HYSEMCE UdotH P83 20% B
SAM=1/(1-02)=12
= ORHEAY YES 50 HE = A2 =1.50
o OF2t BAIZE HHAIY HE L2
> A3=8/8+1.25*150=1.875
= 2534 28, 1-5-5 PA18
12 AIZE 0 01=300 m/g
NZEANBE 0 =300m / 8hr = 37.5 m/hr
1. BhxIeI@
ZF 3 1267,989 201 / 300m * 1.875 = 33@%8 3,349.8 3,349.8
2 8 ¢ 2 :169,804 » 101 / 300m * 1.875 = 1,061.2 1,061.2 1,061.2
f/
| 4,411.0 4,411.0
2. ZY0IE BBH(1.5ton)
M & Hl @ 1,705 / 37.50 = 45.4 #/n 45.4 45.4
L 2l 35,608/ 37.50 « 1.875 = 1,780.4 W/ m 1,780.4 1,780.4
d Hl 599/ 37.50 = 15.9 H/m 15.9 15.9
| 1,841.7 45.4 1,780.4 15.9
3. WSEH(HZIH0IEA!, 0.7ton)
M & Hl : 3,134 / 37.50 = 83.5 #/m 83.5 83.5
L 2l 35,608/ 37.50 « 1.875 =1,780.4 #/m 1,780.4 1,780.4
g Hl 11,902 / 37.50 = 50.7 #/m 50.7 50.7
| 1,914.6 83.5 1,780.4 50.7
4. 2A(EHOI0f, 0.57m")
M = Hl 6,305 /37.50 = 169.4 #/n 169.4 169.4
L 2l 57,077 / 37.50 « 1.875 = 2,853.8 W/ m 2,853.8 2,853.8




= APl
&F = = A g A M Z 4l L2l &4 i
g Hl 17,237 / 37.50 = 192.9 H#/n 192.9 192.9
E | 3,216.1 169.4 2,853.8 192.9
5. SY3 (42X, 55004 )
M2l 15,245 / 37.50 = 0.5 = 203.2 W/m 203.2 203.2
L 2 Hl 49,479 / 37.50 + 0.5  1.875 = 1,236.9 #/m 1,236.9 1,236.9
d  Hl 9,765/ 37.50 0.5 = 130.2 /' 130.2 130.2
A A 1,570.3 203.2 1,236.9 130.2
g A 12,953.7 501.5 12,062.5 389.7
g 12,952 501 12,062 389




St e =
&k = = p g A T2 = 2H 2
=
& OIAZEIZEAYOA (22,1, 472) 5 mY
o OFMAIZO M2 HYSENGIE D245t LUSE 208 B
SM=1/(1-02)=12%
o ORIRY LUSE 50% HE = A2 = 1.50
o OR2E BAIZE HAIY HE L 2|
>A3=8/8%1.25x1.50=1.875
w255 2B 1-5-2 P416
% ZZEW 7.50m =Y
% 12 AIBE 1 0d =320 m/Y
AYLAIZE Q=320 / 8hr = 40 m /hr
1. X2
IOF B3 :267,989 « 291 / 320m x 1.875 = 3,@%} 3,140.4 3,140.4
2 S 9 2 169,804 x 101 / 320m * 1,875 = 994.%{# 994.9 994.9
2 A 4,135.3 4,135.3
2. 2O(Et0I01, 0.57m)
M2 8l 6,35 /40.00 = 158.8 #/m 158.8 158.8
L 2 Hl : 57,077 / 40.00 * 1.875 = 2,675.4 H/m 2,675.4 2,675.4
2 Hl 27,237 / 40.00 = 180.9 #/m 180.9 180.9
2 A 3,015.1 158.8 2,675.4 180.9
3. Zd01E 2HE(1.5t0n)
M &bl 1,705 / 40.00 = 42.6 H/m 4.6 4.6
L 24l : 35,608 /40.00 « 1.875 = 1,669.1 /' 1,669. 1 1,669. 1
2 Hl 1599/ 40.00 = 14.9 H/m 14.9 14.9
2 A 1,726.6 4.6 1,669. 1 14.9
4, IES2(HSIHOISAL 0.7ton)
M2 Hl 3,134/ 40.00 = 78.3 #/m 78.3 78.3




= APl
&F = = A g A M Z 4l L 24 2 dl

L 235,608 /40.00 + 1.875 = 1,669.1 /m 1,669.1 1,669.1

d  Hl 11,902 / 40.00 = 47.5 #/m 47.5 47.5
| 1,794.9 78.3 1,669.1 47.5
5. SY3 (42X, 55004 )

M2l 15,245 / 40.00 = 0.5 = 190.5 W/m 190.5 190.5

L 2 Hl 49,479 / 40.00 * 0.5  1.875 = 1,159.6 H#/m 1,159.6 1,159.6

d Hl 9,765 / 40.00 0.5 = 122.0 /' 122.0 122.0
E | 1,472.1 190.5 1,159.6 122.0
g A 12,144.0 470.2 11,308.5 365.3

o

A 12,143 470 11,308 365




o [0
-
*
I

=
=
tn
(=
H
10
o

= ORIIZH B2 HASBHEES DGO LABE 204 X8

5 A3=8/8%1.25 % 1.50 = 1.875
= 5B 4 0B 1-3-1 P413

¥ 199 A3 : Qd = 150m /Y

N AIBE Q= 150m/2 [ 8hr/ = 18.75 m'/hr

2. L&
A Z 216,121 » 201/ / 150m = 1.875 = 5,408.0 5,403.0 5,403.0
2SR 1 169,804 » 201/ / 150m « 1.875 = 4,245 1 4,245.1 4,245.1
| 9,648. 1 9,648.1
3. JAMNEE
1) 2RI(RSAL, 0.6m)
MEHl 15,691 / 18.75m /hr = 836.8 836.8 836.8
LR 1 57,077 / 18.75m /hr + 1.875 = 5,707.7 5,707.7 5,707.7
d Bl 22,791 / 18.75m /hr = 1,215.5 1,215.5
| 7,760.0 836.8 5,707.7

2) ASZE2(HMSIH0IEA, 0.7ton)

MEHl : 3,134 / 18.75m /hr = 167.1 167.1 167.1

L2H : 35,608 / 18.75m /hr + 1.875 = 3,560.8 3,560.8 3,560.8
Z Hl 1,902 / 18.75m /hr = 101.4 101.4

| 3,829.3 167.1 3,560.8

3) =283(5,5004 )




o Jr g =
aly = = A g M=l L 24| 23 Hl

MSHl : 15,245 / 18.75m /hr * 0.5 = 406.5 406.5 406.5

24| : 49,479 / 18.75m /hr * 0.5 = 1.875 = 2,473.9 2,473.9 2,473.9

Ad Hl 29,765/ 18.75m /hr * 0.5 = 260.4 260.4 260.4

| 3,140.8 406.5 2,473.9 260.4

H 24,378.2 1,410.4 21,390.5 1,577.3
4, Ar22H(1=20cm2 O 100mE 2tond| &)

A4k 0 1,27 * 100KG = 127.0 127.0 127.0

| 127.0 127.0

H 127.0 127.0

g 24,505.2 1,537.4 21,390.5 1,577.3
&t H 24,504 1,537 21,390 1,577




St e =
&k = 2 p g A T2 = 2H 2
» N2 8BS H
& YIY($S4) RSC-4(402 /a) 5 MY
o OFMAIZO M2 HYSENGIE D245t LUSE 208 B
SM=1/(1-02)=12%
o ORIRY LUSE 50% HE = A2 = 1.50
o OR2E BAIZE HAIY HE L 2|
>A3=8/8%1.25x1.50=1.875
= 25EH 2 1-5-1 P416
% 12 AIZE 8000 m/L
AIFSAIBE @ Q =8000m / 8hr = 1000 m /hr
1. HjxIoe
BEOIL : 169,804 * 201 / 8000M * 1.875 = 79.5 H/m 79.5 79.5
2 A 79.5 79.5
2. A H 1 OIAZE AZY0]0{(4004 )
M2 8l 1,807 / 1000.00 = 1.8 #/m 1.8 1.8
L 2 4l 157,077 / 1000.00 * 1.875 = 107.0 /' 107.0 107.0
2 Hl 771/ 1000.00 = 0.7 W/mt 0.7 0.7
2 A 109.5 1.8 107.0 0.7
g 189.0 1.8 186.5 0.7
g A 187 1 186




St e =
&k = 2 p g A L2
« N2 05 H
® DetYDE(+SA) RC-3(754 /a) 5 mE
o OFMAIZO M2 HYSENGIE D245t LUSE 208 B
SM=1/(1-02)=12%
o ORIRY LUSE 50% HE = A2 = 1.50
o OR2E BAIZE HAIY HE L 2|
>A3=8/8%1.25x1.50=1.875
= 25EH 2 1-5-1 P416
% 12 AIZE 8000 m/L
AIFSAIBE @ Q =8000m / 8hr = 1000 m /hr
1. HjxIoe
BEOIL : 169,804 * 201 / 8000M * 1.875 = 79.5 H/m 79.5 79.5
2 A 79.5 79.5
2. & I OfAZE AI0/0(4004)
M2 8l 1,807 / 1000.00 = 1.8 #/m 1.8
L 2 4l 157,077 / 1000.00 * 1.875 = 107.0 /' 107.0 107.0
2l : 771/ 1000.00 = 0.7 W/t 0.7
2 A 109.5 107.0
g 189.0 186.5
g A 187 186




2 or o =
&F = = A g A M Z 4l L 24 2 dl
* p2 1002 H
@ OIAZEZZZMIQE (2R, 52,4012) 5 ¥
= ORISH HE HYSEMCE UdotH P83 20% B
SAM=1/(1-02)=12
= ORHEAY YES 50 HE = A2 =1.50
o OF2t BAIZE HHAIY HE L2
> A3=8/8+1.25*150=1.875
= 2534 28, 1-5-5 PA18
12 AIZE 0 01=300 m/g
NZEANBE 0 =300m / 8hr = 37.5 m/hr
1. BhxIeI@
ZF 3 1267,989 201 / 300m * 1.875 = 33@%8 3,349.8 3,349.8
2 8 ¢ 2 :169,804 » 101 / 300m * 1.875 = 1,061.2 1,061.2 1,061.2
f/
| 4,411.0 4,411.0
2. ZY0IE BBH(1.5ton)
M & Hl @ 1,705 / 37.50 = 45.4 #/n 45.4 45.4
L 2l 35,608/ 37.50 « 1.875 = 1,780.4 W/ m 1,780.4 1,780.4
d Hl 599/ 37.50 = 15.9 H/m 15.9 15.9
| 1,841.7 45.4 1,780.4 15.9
3. WSEH(HZIH0IEA!, 0.7ton)
M & Hl : 3,134 / 37.50 = 83.5 #/m 83.5 83.5
L 2l 35,608/ 37.50 « 1.875 =1,780.4 #/m 1,780.4 1,780.4
g Hl 11,902 / 37.50 = 50.7 #/m 50.7 50.7
| 1,914.6 83.5 1,780.4 50.7
4. 2A(EHOI0f, 0.57m")
M = Hl 6,305 /37.50 = 169.4 #/n 169.4 169.4
L 2l 57,077 / 37.50 « 1.875 = 2,853.8 W/ m 2,853.8 2,853.8




= APl
&F = = A g A M Z 4l L2l &4 i
g Hl 17,237 / 37.50 = 192.9 H#/n 192.9 192.9
E | 3,216.1 169.4 2,853.8 192.9
5. SY3 (42X, 55004 )
M2l 15,245 / 37.50 = 0.5 = 203.2 W/m 203.2 203.2
L 2 Hl 49,479 / 37.50 + 0.5  1.875 = 1,236.9 #/m 1,236.9 1,236.9
d  Hl 9,765/ 37.50 0.5 = 130.2 /' 130.2 130.2
A A 1,570.3 203.2 1,236.9 130.2
g A 12,953.7 501.5 12,062.5 389.7
g 12,952 501 12,062 389




St e =
&k = = p g A T2 = 2H 2
» N2 1015 E
& OIAZE)ZEAUOAN (2R, 52, 472) 5 MY
o OFMAIZO M2 HYSENGIE D245t LUSE 208 B
SM=1/(1-02)=12%
o ORIRY LUSE 50% HE = A2 = 1.50
o OR2E BAIZE HAIY HE L 2|
>A3=8/8%1.25x1.50=1.875
w255 2B 1-5-2 P416
% ZZEW 7.50m =Y
% 12 AIBE 1 0d =320 m/Y
AYLAIZE Q=320 / 8hr = 40 m /hr
1. X2
IOF B3 :267,989 « 291 / 320m x 1.875 = 3,@%} 3,140.4 3,140.4
2 S 9 2 169,804 x 101 / 320m * 1,875 = 994.%{# 994.9 994.9
2 A 4,135.3 4,135.3
2. 2O(Et0I01, 0.57m)
M2 8l 6,35 /40.00 = 158.8 #/m 158.8 158.8
L 2 Hl : 57,077 / 40.00 * 1.875 = 2,675.4 H/m 2,675.4 2,675.4
2 Hl 27,237 / 40.00 = 180.9 #/m 180.9 180.9
2 A 3,015.1 158.8 2,675.4 180.9
3. Zd01E 2HE(1.5t0n)
M &bl 1,705 / 40.00 = 42.6 H/m 4.6 4.6
L 24l : 35,608 /40.00 « 1.875 = 1,669.1 /' 1,669. 1 1,669. 1
2 Hl 1599/ 40.00 = 14.9 H/m 14.9 14.9
2 A 1,726.6 4.6 1,669. 1 14.9
4, IES2(HSIHOISAL 0.7ton)
M2 Hl 3,134/ 40.00 = 78.3 #/m 78.3 78.3




= APl
&F = = A g A M Z 4l L 24 2 dl

L 235,608 /40.00 + 1.875 = 1,669.1 /m 1,669.1 1,669.1

d  Hl 11,902 / 40.00 = 47.5 #/m 47.5 47.5
| 1,794.9 78.3 1,669.1 47.5
5. SY3 (42X, 55004 )

M2l 15,245 / 40.00 = 0.5 = 190.5 W/m 190.5 190.5

L 2 Hl 49,479 / 40.00 « 1.875 « 0.5 = 1,159.6 H#/m 1,159.6 1,159.6

d Hl 9,765 / 40.00 0.5 = 122.0 /' 122.0 122.0
E | 1,472.1 190.5 1,159.6 122.0
g A 12,144.0 470.2 11,308.5 365.3

o

A 12,143 470 11,308 365




o [0
-
*
I

=
=
tn
(=
H
10
o

= ORIIZH B2 HASBHEES DGO LABE 204 X8

5 A3=8/8%1.25 % 1.50 = 1.875
= 5B 4 0B 1-3-1 P413

¥ 199 A3 : Qd = 150m /Y

N AIBE Q= 150m/2 [ 8hr/ = 18.75 m'/hr

2. L&
A Z 216,121 » 201/ / 150m = 1.875 = 5,408.0 5,403.0 5,403.0
2SR 1 169,804 » 201/ / 150m « 1.875 = 4,245 1 4,245.1 4,245.1
| 9,648. 1 9,648.1
3. JAMNEE
1) 2RI(RSAL, 0.6m)
MEHl 15,691 / 18.75m /hr = 836.8 836.8 836.8
LR 1 57,077 / 18.75m /hr + 1.875 = 5,707.7 5,707.7 5,707.7
d Bl 22,791 / 18.75m /hr = 1,215.5 1,215.5
| 7,760.0 836.8 5,707.7

2) ASZE2(HMSIH0IEA, 0.7ton)

MEHl : 3,134 / 18.75m /hr = 167.1 167.1 167.1

L2H : 35,608 / 18.75m /hr + 1.875 = 3,560.8 3,560.8 3,560.8
Z Hl 1,902 / 18.75m /hr = 101.4 101.4

| 3,829.3 167.1 3,560.8

3) =283(5,5004 )




o Jr g =
aly = = A g M=l L 24| 23 Hl

MSHl : 15,245 / 18.75m /hr * 0.5 = 406.5 406.5 406.5

24| : 49,479 / 18.75m /hr * 0.5 = 1.875 = 2,473.9 2,473.9 2,473.9

Ad Hl 29,765/ 18.75m /hr * 0.5 = 260.4 260.4 260.4

| 3,140.8 406.5 2,473.9 260.4

H 24,378.2 1,410.4 21,390.5 1,577.3
4, Ar22H(1=20cm2 O 100mE 2tond| &)

A4k 0 1,27 * 100KG = 127.0 127.0 127.0

| 127.0 127.0

H 127.0 127.0

g 24,505.2 1,537.4 21,390.5 1,577.3
&t H 24,504 1,537 21,390 1,577




gt =
&t e = A g A 28l L 24 4 i
* M2 1033 E
& LNER(ES) AType ; MY
= OISO 2 HYSEMOIE 1efote -YE8E 20% HE
SAM=1/(1-02)=12
w OREY LSS 50% HE = A2 = 1.50
= OF2E BAIZE ZAUAIS AF L2
> A3=8/8+*125*150=1.875
w2524 5 ,2-1-8 P1062
¥ 1Y A3 Qd = 400m /Y
% A2t AIBZ Q=400 / 8hr = 50 m'/hr
1. =24
Z A3 27,989 « 301 /400 « 1.875 = 3,768.5 3,768.5 3,768.5
ES0L 1 169,804 101 / 400 + 1.875 = 795.9 795.9 795.9
EA| 4,564.4 4,564.4
2. JIAZH
1) 2L (EH0I0 0.95m') + A = HIA D
Wbl (11,258 + 0) / 50.00 = 225.1 225.1 225.1
L24l : (57,077 +0) / 50.00 * 1.875 = 2,140.3 2,140.3 2,140.3
Z bl : (9,395 + 11,316) / 50.00 = 414.2 414.2 414.2
EA| 2,779.6 225.1 2,140.3 414.2
2) 2LOU(EH0I0f 0.57m)
M=Hl : 6,355 / 50.00 = 127.1 127.1 127.1
L 28|+ 57,077 / 50.00 * 1.875 = 2,140.3 2,140.3 2,140.3
Z ol 7,237 / 50.00 = 144.7 144.7 144.7
EA| 2,412.1 127.1 2,140.3 144.7
3) ASZE2A(XF4 2.5Ton)
M=Hl + 3,277 / 50.00 = 65.5 65.5 65.5
L 28l ¢ 57,077 / 50.00 « 1.875 = 2,140.3 2,140.3 2,140.3




o [0
-
[+
I

&F = = FoA M Z 4l L 24 2 dl
& Hl 5,054 /50.00 =101.0 101.0 101.0
| 2,306.8 65.5 2,140.3 101.0
4) OFAZEATY O[O (4004 )
MEHl 1,807 / 50.00 = 36.1 36. 1 36. 1
L2 ¢ 57,077 / 50.00 = 1.875 = 2,140.3 2,140.3 2,140.3
g 771/ 50.00 = 15.4 15.4 15.4
| 2,191.8 36. 1 2,140.3 15.4
5) SZEY (2.5Ton)
MEH : 5,046 / 50.00 » 2 O = 201.8 201.8 201.8
LR 149,479 / 50.00 = 2 Of = 1.875 = 3,710.9 3,710.9 3,710.9
Z Hl 16,400 / 50.00 2 CH = 256.0 256.0 256.0

b
x

4,168.7 201.8 3,710.9 256.0
18,423.4 655.6 16,836.5 931.3

el
X

o

A 18,422 655 16,836 931




St e =
&k = 2 p g A T2 = 2H 2
» N2 1045 E
& 232IE QI E M (A-Type,t=15cm) ; MY
o OFMAIZO M2 HYSENGIE D245t LUSE 208 B
SM=1/(1-02)=12%
o ORIRY LUSE 50% HE = A2 = 1.50
o OR2E BAIZE HAIY HE L 2|
>A3=8/8%1.25x1.50=1.875
w 25EH 2B 1-6-2 P42
472 232IE ZF(UH) @ FH 10cm 50m/L(2E)
472 232IE ZF(AH) @ FH 15em 75m /L (2E)
472 232E EZ(QU™) : FH 20cn 100m/L(EE)
472 232IE ZF(2H) @ FH 30cm 150m /L (EE)
472 232E EX(QE) © SH 40cm 200m /L (EE)
1 RYxA
19 AIBE © 0d = 75m/2
NSNS : Q=75m/2 / 8/ =9.38 m/hr
2. HjxIoI
1) X & 3 : 267,989 » 491 / 75m + 1.875 = 26,798.9 26,798.9 26,798.9
2) BE0I2 1 169,804 * 201 / 75m x 1.875 = 8,490.2 8,490.2 8,490.2
A 35,289. 1 35,289. 1
3. 3PL2(AJ2IE 5) ¥ BWEHI(HH S)
1) 3RLE(A32E S) : 35,289.1 * 3 = 1,058.6 1,058.6 1,058.6
2) EW2H(2H S) @ 35,289.1 3% = 1,08.6 1,058.6 1,058.6
A 2,117.2 2,117.2
g 37,406.3 2,117.2 35,289. 1
g A 37,406 2,117 35,289




o [0
-
*
I

=
=
tn
(=
H
10
o

= ORIIZH B2 HASBHEES DGO LABE 204 X8

5 A3=8/8%1.25 % 1.50 = 1.875
= 5B 4 0B 1-3-1 P413

¥ 199 A3 : Qd = 150m /Y

N AIBE Q= 150m/2 [ 8hr/ = 18.75 m'/hr

2. L&
A Z 216,121 » 201/ / 150m = 1.875 = 5,408.0 5,403.0 5,403.0
2SR 1 169,804 » 201/ / 150m « 1.875 = 4,245 1 4,245.1 4,245.1
| 9,648. 1 9,648.1
3. JAMNEE
1) 2RI(REAE, 0.60m)
MEHl 15,691 / 18.75m /hr = 836.8 836.8 836.8
LR 1 57,077 / 18.75m /hr + 1.875 = 5,707.7 5,707.7 5,707.7
d Bl 22,791 / 18.75m /hr = 1,215.5 1,215.5
| 7,760.0 836.8 5,707.7

2) ASZE2(HMSIH0IEA, 0.7ton)

MEHl : 3,134 / 18.75m /hr = 167.1 167.1 167.1

L2H : 35,608 / 18.75m /hr + 1.875 = 3,560.8 3,560.8 3,560.8
Z Hl 1,902 / 18.75m /hr = 101.4 101.4

| 3,829.3 167.1 3,560.8

3) =283(5,5004 )




o Jr g =
aly = = A g M=l L 24| 23 Hl

MSHl : 15,245 / 18.75m /hr * 0.5 = 406.5 406.5 406.5

24| : 49,479 / 18.75m /hr * 0.5 = 1.875 = 2,473.9 2,473.9 2,473.9

Ad Hl 29,765/ 18.75m /hr * 0.5 = 260.4 260.4 260.4

| 3,140.8 406.5 2,473.9 260.4

H 24,378.2 1,410.4 21,390.5 1,577.3
4, Ar22H(1=20cm2 O 100mE 2tond| &)

A4k 0 1,27 * 100KG = 127.0 127.0 127.0

| 127.0 127.0

H 127.0 127.0

g 24,505.2 1,537.4 21,390.5 1,577.3
&t H 24,504 1,537 21,390 1,577




I

X
>
=

]

= ORIIZH B2 HASBHEES DGO LABE 204 X8

> A3=8/8+1.25*150=1.875

= 2584 2B, 1-6-6 P43

¥ 2Z AT

d = 600 m/€
# NG NS 1 Q=600/8hr=75

1) X

: 221,506 = 121 / 600 * 1.875 = 692.2

© 169,804 = 121 / 600 * 1.875 = 530.6

2) 21E (320~400mm)

MEHl : 9,549 / 75.00 = 127.3

© 35,608 / 75.00 = 1.875 = 8%0.2
1,981 / 75.00 = 26.4

3) ABME
Sefl01=(14+3.2m) : 169,800  0.31 EA / 100 m = 526.3

2 1 1.27 %3000 £ / 100 m=38.1

|
H

2. L¥EE EX

Mr

= 2524 28 1-6-7 PA23

W% Q
% 2g

NZg @ 0dl =900 m/&

692.2
530.6

1,222.8

127.3

890.2

26.4

1,043.9

526.3
38.1

564.4
2,831.1

127.3

127.3

526.3
38.1

564.4
691.7

692.2

530.6

1,222.8

890.2

890.2

26.4

26.4

26.4
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&F = = | M Z 4l L2l Z i
1) BHXIQI
SO 1 221,506 » 301 / 900 = 1.875 = 1,384.4 1,384.4 1,384.4
2S5 169,804 = 221 / 900 = 1.875 = 707.5 707.5 707.5
2) 22
HEANLZE (ConZ2LE) @ 8,200  0.336kg * 1.03 = 2,83 2,837.8 2,837.8
7.8

SHEANTH0IH (Z2EEERM) 4,500 * 0.04 * 2 « 0.25 9.7 9.7

/m o+ 1.03 =92.7
| 5,022.4 2,930.5 2,091.9
A 5,022.4 2,930.5 2,091.9
g A 7,853.5 3,622.2 4,204.9 26.4

o

A 7,852 3,622 4,204 26




2 or o =
&F = = A g A M Z 4l L 24 &4 i
* 207 H
& SC2EYMEX(T=6em) 5 mE
OFEAI B0 [HE HYUSEMOIE Udots =8ES 20% B8
SAM=1/(1-02)=12
= ORHEAY YES 50 HE = A2 =1.50
o OF2t BAIZE HHAIY HE L2
> A3=8/8+1.25*150=1.875
= 2534 58 ,2-1-26 P1078
12 AIZE : Qd=180 m/g
NEEAIBE Q= 180m / 8hr = 22.5 m'/hr
1. BhxIeI@
& 3 267,989 200 / 180m  1.875 = 5,583.1 5,583.1 5,583.1
SEOIR 1 221,506 » 201 / 180m = 1.875 = 4,614.7 4,614.7 4,614.7
2SQI8 1 169,804 » 101 / 180m = 1.875 = 1,768.7 1,768.7 1,768.7
& A 11,966.5 11,966.5
2. 24 2RD|(REAL, 0.2m)
MEHl @ 7,629 / 22.50 = 339.0 339.0 339.0
LR 1 57,077 / 22.50 » 1.875 = 4,756.4 4,756.4 4,756.4
Zd Hl 13,399 / 22.50 = 5%.5 595.5 595.5
| 5,690.9 339.0 4,756.4 595.5
3. OH& @ 2dI0IE SHE/(1.5Ton)
MEHl @ 1,705 / 22.50 = 75.7 75.7 75.7
L2 ¢ 35,608 / 22.50 » 1.875 = 2,967.3 2,967.3 2,967.3
Z Hl 1599/ 22.50 = 26.6 2.6 2.6
| 3,069.6 75.7 2,967.3 2.6
4, 28t dIEZ(2.5Ton)
MEHI : 5,046 / 22.50 = 224.2 224.2 224.2
LR 149,479 / 22.50  1.875 = 4,123.2 4,123.2 4,123.2




= APl
&F = = A g A I=3s] L2l

Z Hl 16,400 / 22.50 = 284.4 284.4 284.4
| 4,631.8 224.2 4,123.2 284.4

37EE 4 ZTSH(USZ5%) : 23,813.4 « 5% = 1,1 1,190.6 1,190.6

90.6

| 1,190.6 1,190.6
g A 26,549.4 1,829.5 23,813.4 906.5
2 26,548 1,829 23,813 906




2 or o =
&F = = A g A M Z 4l L2l &4 i
x p2 108sH
@ SEATHCM(MH) Y
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
o 2534 5H,2-1-12-4 P1069
1. Hgx
1299 NS Q1 =500 m/Y
NZUEANSE 0 =500 m/ /8 hr/2 =62.5 m/hr
2. M
1) SHACZ(ZM) 1 4,850 « 4.53kg = 21,970.5 21,970.5 21,970.5
2) |elg(13, 08 ) @ 5,000 « 0.186ke = 930.0 930.0 930.0
3) Rel2(REE, D=2F) : 32,000 « 0.124kg = 3,968.0 3,968.0 3,968.0
4) Z2H0I0Y : 4,500 + 0.20kg = 900.0 900.0 900.0
5) T2EIIA(LPG) : 2,292 * 0.20kg = 458.4 458.4 458.4
6) EMSH(HZHIY) @ 28,226.9 » 1% = 282.2 282.2 282.2
| 28,509.1 28,509.1
A 28,509.1 28,509.1
3. L2l
1) S8 221,506+20!/8hr /L /62.50m /hr*1.15 = 1,018.9 1,018.9 1,018.9
2) BSUR 1 169,804+201 /8hr /2 /62.50m /hr+1.15 = 781.0 781.0 781.0
3) koI, EaIl(=RHI12)  1,799.9 * 10% = 179.9 179.9 179.9
| 1,979.8 1,799.9 179.9
A 1,979.8 1,799.9 179.9
4. JINBE
1) E2(4.5ton)
MEHl: 8,700 / 62.50m /hr = 139.2 /' 139.2 139.2
LUl 49,479 / 62.50m /hr  1.15 = 910.4 #/m 910.4 910.4




= APl
&F = = A g A M Z 4l L2l &4 i
d Bl 7,472 / 62.50m /hr = 119.5 H/nf 119.5 119.5
2) E&(2.5ton)

MEHl : 5,046 / 62.50m /hr = 80.7 W/ 80.7 80.7

LR ¢ 49,479 / 62.50m /hr + 1.15 = 910.4 #/m 910.4 910.4

Z Hl 16,400 / 62.50m /hr = 102.4 #/m 102.4 102.4

| 2,262.6 219.9 1,820.8 221.9

A 2,262.6 219.9 1,820.8 221.9

g A 32,751.5 28,729.0 3,620.7 401.8
g 32,750 28,729 3,620 401




2 or o =
&F = = A g A M Z 4l L2l &4 i
* p2 1095 H
@ SHATA A (AL, HA) -G
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
o 2534 5H,2-1-12-4 P1069
1. Hgx
1299 NS Q1 =500 m/Y
NZUEANSE 0 =500 m/ /8 hr/2 =62.5 m/hr
2. M
1) BHACZ(MA) 1 3,850 « 4.53kg = 17,440.5 17,440.5 17,440.5
2) |elg(13, 08 ) @ 5,000 « 0.186ke = 930.0 930.0 930.0
3) Rel2(REE, D=2F) : 32,000 « 0.124kg = 3,968.0 3,968.0 3,968.0
4) Z2H0I0Y : 4,500 + 0.20kg = 900.0 900.0 900.0
5) T2EIIA(LPG) : 2,292 * 0.20kg = 458.4 458.4 458.4
6) WS (HZHISl) @ 23,696.9 * 1% = 236.9 236.9 236.9
| 23,933.8 23,933.8
A 23,933.8 23,933.8
3. L2l
1) S8 221,506+20!/8hr /L /62.50m /hr*1.15 = 1,018.9 1,018.9 1,018.9
2) BSUR 1 169,804+201 /8hr /2 /62.50m /hr+1.15 = 781.0 781.0 781.0
3) koI, EaIl(=RHI12)  1,799.9 * 10% = 179.9 179.9 179.9
| 1,979.8 1,799.9 179.9
A 1,979.8 1,799.9 179.9
4. JINBE
1) E2(4.5ton)
MEHl: 8,700 / 62.50m /hr = 139.2 /' 139.2 139.2
LUl 49,479 / 62.50m /hr  1.15 = 910.4 #/m 910.4 910.4




= APl
&F = = A g A M Z 4l L 24 &4 i
d Bl 7,472 / 62.50m /hr = 119.5 H/nf 119.5 119.5
2) E&(2.5ton)

MEHl : 5,046 / 62.50m /hr = 80.7 W/ 80.7 80.7

LR ¢ 49,479 / 62.50m /hr + 1.15 = 910.4 #/m 910.4 910.4

Z Hl 16,400 / 62.50m /hr = 102.4 #/m 102.4 102.4

| 2,262.6 219.9 1,820.8 221.9

A 2,262.6 219.9 1,820.8 221.9

g A 28,176.2 24,153.7 3,620.7 401.8
g 28,174 24,153 3,620 401




2 or o =
&F = = A g A M Z 4l L2l &4 i
* p2 10sH
& SHATACM (AL, FM) @G
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
o 2534 5H,2-1-12-4 P1069
1. Hgx
1299 NS Q1 =500 m/Y
NZUEANSE 0 =500 m/ /8 hr/2 =62.5 m/hr
2. M
1) SHATZ(HM) @ 4,900 * 4.53kg = 22,197.0 22,197.0 22,197.0
2) |elg(13, 08 ) @ 5,000 « 0.186ke = 930.0 930.0 930.0
3) Rel2(REE, D=2F) : 32,000 « 0.124kg = 3,968.0 3,968.0 3,968.0
4) Z2H0I0Y : 4,500 + 0.20kg = 900.0 900.0 900.0
5) T2EIIA(LPG) : 2,292 * 0.20kg = 458.4 458.4 458.4
6) ZHSHI(WZHISl) @ 28,453.4 « 1% = 284.5 284.5 284.5
| 28,737.9 28,737.9
A 28,737.9 28,737.9
3. L2l
1) S8 221,506+20!/8hr /L /62.50m /hr*1.15 = 1,018.9 1,018.9 1,018.9
2) BSUR 1 169,804+201 /8hr /2 /62.50m /hr+1.15 = 781.0 781.0 781.0
3) koI, EaIl(=RHI12)  1,799.9 * 10% = 179.9 179.9 179.9
| 1,979.8 1,799.9 179.9
A 1,979.8 1,799.9 179.9
4. JINBE
1) E2(4.5ton)
MEHl: 8,700 / 62.50m /hr = 139.2 /' 139.2 139.2
LUl 49,479 / 62.50m /hr  1.15 = 910.4 #/m 910.4 910.4




= APl
&F = = A g A M Z 4l L2l &4 i
d Bl 7,472 / 62.50m /hr = 119.5 H/nf 119.5 119.5
2) E&(2.5ton)

MEHl : 5,046 / 62.50m /hr = 80.7 W/ 80.7 80.7

LR ¢ 49,479 / 62.50m /hr + 1.15 = 910.4 #/m 910.4 910.4

Z Hl 16,400 / 62.50m /hr = 102.4 #/m 102.4 102.4

| 2,262.6 219.9 1,820.8 221.9

A 2,262.6 219.9 1,820.8 221.9

g A 32,980.3 28,957.8 3,620.7 401.8
g 32,978 28,957 3,620 401




2 or o =
&F = = A g A M Z 4l L2l &4 i
* p2 NS H
& SHATA A (TN, g4) @ mG
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
o 2534 5H,2-1-12-4 P1069
1. Hgx
1299 AIZE Q1 =250 m'/
N2UENSE 0 =250 m/d /8 hr/g =31.25 m/hr
2. M
1) SHACZ(ZM) 1 4,850 « 4.53kg = 21,970.5 21,970.5 21,970.5
2) |elg(13, 08 ) @ 5,000 « 0.186ke = 930.0 930.0 930.0
3) Rel2(REE, D=2F) : 32,000 « 0.124kg = 3,968.0 3,968.0 3,968.0
4) Z2H0I0Y : 4,500 + 0.20kg = 900.0 900.0 900.0
5) T2EIIA(LPG) : 2,292 * 0.20kg = 458.4 458.4 458.4
6) EMSH(HZHIY) @ 28,226.9 » 1% = 282.2 282.2 282.2
| 28,509.1 28,509.1
A 28,509.1 28,509.1
3. L2l
1) S8 221,506+20!/8hr /L /31.25m /hr*1.15 = 2,037.8 2,037.8 2,037.8
2) ZE0I2 : 169,804+20!/8nr /2 /31.25m /hr+1.15 = 1,562. 1 1,562.1 1,562.1
3) ctolOiAH, Eall(=RHI2) : 3,599.9 * 10% = 359.9 359.9 359.9
| 3,959.8 3,599.9 359.9
A 3,959.8 3,599.9 359.9
4. JINBE
1) E2(4.5ton)
MEHl : 8,700 / 31.25m /hr = 278.4 #/m 278.4 278.4
L RH ¢ 49,479 / 31.25m /hr + 1.15 = 1,820.8 #/m 1,820.8 1,820.8




oot A =
&b = = A g A M=l L 24| e S|
Ad Hl 27,472 ] 31.250 /hr = 239.1 #/m’ 239.1 239.1
2) E2{(2.5ton)
MSHl : 5,046 / 31.250 /hr = 161.4 #/m’ 161.4 161.4
=2H| - 49,479 / 31.25m /hr = 1.15 = 1,820.8 W/m 1,820.8 1,820.8
A Hl 6,400 / 31.25m /hr = 204.8 #/m 204.8 204.8
EN: | 4.525.3 439.8 3,641.6 443.9
H 4.525.3 439.8 3,641.6 443.9
5. Xtg 28 =Y
o 2524 5H 2-1-12-1 P1067
195 Al2&F @ Q2 =300=2300 m/g
NZEAIBE 1 Q3 =300 M/ /8 hr/¥ =375 m/hr
1) S8 : 221,506%20!/8hr /L /37.50m /hrx1.15 = 1,698.2 1,698.2 1,698.2
2) BE0E : 169,804x20!/8nhr /L /37.50m /hr1.15 = 1,301.8 1,301.8 1,301.8
3) E&(2.5ton)
MSH : 5,046 / 37.50m /hr = 134.5 #/m’ 134.5 134.5
=2H| - 49,479 / 37.50m /hr * 1.15 = 1,517.3 W/m 1,517.3 1,517.3
A Hl 6,400 / 37.50m /hr = 170.6 #/m 170.6 170.6
EN: | 4,822 .4 134.5 4 .517.3 170.6
H 4,822 .4 134.5 4. 517.3 170.6
g A 41,816.6 29,083.4 11,758.8 974 .4
& H 41,815 29,083 11,758 974




2 or o =
&F = = A g A M Z 4l L2l &4 i
* p2 125 H
& SHATA A (I, Ha) - g
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
o 2534 5H,2-1-12-4 P1069
1. Hgx
1299 AIZE Q1 =250 m'/
N2UENSE 0 =250 m/d /8 hr/g =31.25 m/hr
2. M
1) BHACZ(MA) 1 3,850 « 4.53kg = 17,440.5 17,440.5 17,440.5
2) |elg(13, 08 ) @ 5,000 « 0.186ke = 930.0 930.0 930.0
3) Rel2(REE, D=2F) : 32,000 « 0.124kg = 3,968.0 3,968.0 3,968.0
4) Z2H0I0Y : 4,500 + 0.20kg = 900.0 900.0 900.0
5) T2EIIA(LPG) : 2,292 * 0.20kg = 458.4 458.4 458.4
6) WS (HZHISl) @ 23,696.9 * 1% = 236.9 236.9 236.9
| 23,933.8 23,933.8
A 23,933.8 23,933.8
3. L2l
1) S8 221,506+20!/8hr /L /31.25m /hr*1.15 = 2,037.8 2,037.8 2,037.8
2) ZE0I2 : 169,804+20!/8nr /2 /31.25m /hr+1.15 = 1,562. 1 1,562.1 1,562.1
3) ctolOiAH, Eall(=RHI2) : 3,599.9 * 10% = 359.9 359.9 359.9
| 3,959.8 3,599.9 359.9
A 3,959.8 3,599.9 359.9
4. JINBE
1) E2(4.5ton)
MEHl : 8,700 / 31.25m /hr = 278.4 #/m 278.4 278.4
L RH ¢ 49,479 / 31.25m /hr + 1.15 = 1,820.8 #/m 1,820.8 1,820.8




oot A =
&b = = A g A M=l L 24| e S|
Ad Hl 27,472 ] 31.250 /hr = 239.1 #/m’ 239.1 239.1
2) E2{(2.5ton)
MSHl : 5,046 / 31.250 /hr = 161.4 #/m’ 161.4 161.4
=2H| - 49,479 / 31.25m /hr = 1.15 = 1,820.8 W/m 1,820.8 1,820.8
A Hl 6,400 / 31.25m /hr = 204.8 #/m 204.8 204.8
EN: | 4.525.3 439.8 3,641.6 443.9
H 4.525.3 439.8 3,641.6 443.9
5. Xtg 28 =Y
o 2524 5H 2-1-12-1 P1067
195 Al2&F @ Q2 =300=2300 m/g
NZEAIBE 1 Q3 =300 M/ /8 hr/¥ =375 m/hr
1) S8 : 221,506%20!/8hr /L /37.50m /hrx1.15 = 1,698.2 1,698.2 1,698.2
2) BE0E : 169,804x20!/8nhr /L /37.50m /hr1.15 = 1,301.8 1,301.8 1,301.8
3) E&(2.5ton)
MSH : 5,046 / 37.50m /hr = 134.5 #/m’ 134.5 134.5
=2H| - 49,479 / 37.50m /hr * 1.15 = 1,517.3 W/m 1,517.3 1,517.3
A Hl 6,400 / 37.50m /hr = 170.6 #/m 170.6 170.6
EN: | 4,822 .4 134.5 4 .517.3 170.6
H 4,822 .4 134.5 4. 517.3 170.6
g A 37,241.3 24,508.1 11,758.8 974 .4
& H 37,240 24,508 11,758 974




2 or o =
&F = = A g A M Z 4l L 24 &4 i
* p2 1133 H
@ SHAYMCM(ZHET, =XF) : ng
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
o 2534 5H,2-1-12-4 P1069
1. Hgx
12€ NS 1 Q1 =190 m/Y
N2ENSE Q0 =190 m/d /8 hr/L =23.75 m /hr
2. M
1) BHACZ(MA) 1 3,850 « 4.53kg = 17,440.5 17,440.5 17,440.5
2) |elg(13, 08 ) @ 5,000 « 0.186ke = 930.0 930.0 930.0
3) Rel2(REE, D=2F) : 32,000 « 0.124kg = 3,968.0 3,968.0 3,968.0
4) Z2H0I0Y : 4,500 + 0.20kg = 900.0 900.0 900.0
5) T2EIIA(LPG) : 2,292 * 0.20kg = 458.4 458.4 458.4
6) WS (HZHISl) @ 23,696.9 * 1% = 236.9 236.9 236.9
| 23,933.8 23,933.8
A 23,933.8 23,933.8
3. L2l
1) S22 221,506+20!/8hr /L /23.75m /hr*1.15 = 2,681.3 2,681.3 2,681.3
2) EE0I2 : 169,804+22!/8hr/2/23.75m [hr+1.15 = 2,055.5 2,095.5 2,095.5
4) ctOI0bA, SaII(=RHIY) : 4,736.8 « 10% = 473.6 473.6 473.6
| 5,210.4 4,736.8 473.6
A 5,210.4 4,736.8 473.6
4. JINBE
1) E2(4.5ton)
MEHl : 8,700 / 23.75m /hr = 366.3 #/m 366.3 366.3
LRl 149,479 / 23.75M /hr + 1.15 = 2,395.8 H/m 2,395.8 2,39.8




= APl
&F = = A g A M Z 4l L 24 &4 i
d Bl : 7,472 [ 23.75m /hr = 314.6 W/ 314.6 314.6
| 3,076.7 366.3 2,395.8 314.6
2) E&(2.5ton)
MEHI : 5,046 / 23.75m /hr = 212.4 #/m 212.4 212.4
LR 149,479 / 23.75m /hr + 1.15 = 2,395.8 H/m 2,39.8 2,39%.8
Z Hl : 6,400 / 23.75m /hr = 269.4 #/m 269.4 269.4
| 2,877.6 212.4 2,395.8 269.4
A 5,954.3 578.7 4,791.6 584.0
5. 12 218 &Y
o 2524 5 2-1-12-1 P1067
1299 NSE 1 @2 =228 m/Y
NUENSE 03 =228 m/L /8 hr/e =285 m/hr
1) SIS 221,506+20!/8hr /2 /28.50m /hr+1.15 = 2,234.4 2,234.4 2,234.4
2) ZE0I2 : 169,804+22!/8hr/2/28.50m /hr+1.15 = 1,712.9 1,712.9 1,712.9
3) E&(2.5ton)
MEHI : 5,046 / 28.50m /hr = 177.0 #/m 177.0 177.0
‘e R4l 1 49,479 / 28.50m /hr * 1.15 = 1,996.5 #/m' 1,996.5 1,996.5
Z Hl 16,400 / 28.50m /hr = 224.5 H/m 224.5 224.5
| 6,345.3 177.0 5,943.8 224.5
A 6,345.3 177.0 5,943.8 224.5
g A 41,443.8 24,689.5 15,472.2 1,282.1
g 41,443 24,689 15,472 1,282




2 or o =
&F = = A g A M Z 4l L2l 2 dl
* p2 114SH
& SHATECM(ER, JIE) : mE
= NAEg &5 0N 25, 588
BAIZE A HE L2
>A=8/8+115=115
o 2534 5H,2-1-12-4 P1069
1. Hgx
12g NSE 1 Q1 =90 m/g
NZUENSE Q0 =90 m/ /8 hr/2 =11.25 m/hr
2. M
1) BHACZ(MA) 1 3,850 « 4.53kg = 17,440.5 17,440.5 17,440.5
2) |elg(13, 08 ) @ 5,000 « 0.186ke = 930.0 930.0 930.0
3) Rel2(REE, D=2F) : 32,000 « 0.124kg = 3,968.0 3,968.0 3,968.0
4) Z2H0I0Y : 4,500 + 0.20kg = 900.0 900.0 900.0
5) T2EIIA(LPG) : 2,292 * 0.20kg = 458.4 458.4 458.4
6) WS (HZHISl) @ 23,696.9 * 1% = 236.9 236.9 236.9
| 23,933.8 23,933.8
A 23,933.8 23,933.8
3. L2l
1) S22 221,506+20!/8hr /L /11.25m /hr*1.15 = 5,660.7 5,660.7 5,660.7
2) ZE0I2 : 169,804+20!/8nr /2 /11.25M /hr+1.15 = 4,339.4 4,339.4 4,339.4
3) ctOIOHA, BaJI(=2H12) : 10,000.1 + 10% = 1,000.0 1,000.0 1,000.0
| 11,000.1 10,000.1 1,000.0
A 11,000.1 10,000.1 1,000.0
4. JINBE
1) E2(4.5ton)
MEHl : 8,700 / 11.25m /hr = 773.3 #/m' 773.3 773.3
LRl 49,479 / 11.25m /hr + 1.15 = 5,057.8 #/m 5,057.8 5,057.8




= APl
&F = = A g A M Z 4l L 24 2 dl
Z Bl 7,472 [ 11.25m /hr = 664.1 W/ 664. 1 664. 1
| 6,495.2 773.3 5,057.8 664. 1
2) E&(2.5ton)
MEHI : 5,046 / 11.25m /hr = 448.5 #/m 448.5 448.5
Rl 49,479 / 11.25m /hr + 1.15 = 5,057.8 #/m 5,057.8 5,057.8
Z Hl : 6,400 / 11.25m /hr = 568.8 #/m 568.8 568.8
| 6,075.1 448.5 5,057.8 568.8
A 12,570.3 1,221.8 10,115.6 1,232.9
5. 12 218 &Y
o 2524 5 2-1-12-1 P1067
129 ANSE 102 =108=108 m/
NGNS 03 =108 m/ /8 hr/e =13.5 m'/hr
1) SLIL : 221,506+20!/8hr /L /13.50m /hr*1.15 = 4,717.2 4,717.2 4,717.2
2) ZE0I2 : 169,804+20!/8nr /2 /13.50m /hr+1.15 = 3,616.1 3,616.1 3,616.1
3) E&(2.5ton)
MEHl : 5,046 / 13.50m /hr = 373.7 #/m' 373.7 373.7
LR 149,479 / 13.50m /hr + 1.15 = 4,214.8 /' 4,214.8 4,214.8
Z Hl 16,400 / 13.50m /hr = 474.0 #/m 474.0 474.0
| 13,395.8 373.7 12,548.1 474.0
A 13,395.8 373.7 12,548.1 474.0
g A 60,900.0 25,529.3 32,663.8 2,706.9
g 60,898 25,529 32,663 2,706




= APl
&F = = A g A M Z 4l L 24 &4 i
* p2 1155
@ NRE(LN)UHLTM SMAM 5 mY
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
= 2534 5, 2-1-12-2 P1068
% MM dE NS 0d = 600m /L
1. Ml
CZETNEHAUE(S+84 KM-6080(&4)) @ 5,700 * 0.42 2,394.0 2,394.0
=2,39%4.0
felg (13,103%) @ 5,000 * 0.31 kg = 1,550.0 1,550.0 1,5650.0
| 3,944.0 3,944.0
2. oA
SEOIR 1 221,506 » 201 / 0d » 1.15 = 849.1 849.1 849.1
HS0E 1 169,804 » 201 / Qd * 1.15 = 650.9 650.9 650.9
| 1,500.0 1,500.0
3. ETE (FMHEHI 1%)
3,944 x 1% = 39.4 39.4 39.4
4. 33&g 9 ZFHl (SHI0HH) - (AHBS9 3)
1,500 » 3h = 45.0 45.0 45.0
| 84.4 84.4
5. J1HZLl  E@ZES (4.5Ton)
Q=0d /8hr =75
MEHl 8,700 / Q = 116.0 116.0 116.0
R 49,479 / Q x 1.15 = 758.6 758.6 758.6
Z Bl 17,472/ 0=9.6 99.6 99.6
| g74.2 116.0 758.6 99.6
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= APl
&F = = A g A M Z 4l L 24 2 dl
* p2 1162 H
@ NRE(YN)HLTH HMAM - Y
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
= 2534 5, 2-1-12-2 P1068
% MM dE NS 0d = 600m /L
1. Ml
CZETNEHAUE(SEE KM-6080(A)) = 4,500 * 0.42 1,890.0 1,890.0
=1,890.0
felg (13,103%) @ 5,000 * 0.31 kg = 1,550.0 1,550.0 1,5650.0
| 3,440.0 3,440.0
2. oA
SEOIR 1 221,506 » 201 / 0d » 1.15 = 849.1 849.1 849.1
HS0E 1 169,804 » 201 / Qd * 1.15 = 650.9 650.9 650.9
| 1,500.0 1,500.0
3. ETE (FMHEHI 1%)
3,440 x 1% =34.4 34.4 34.4
4. 33&g 9 ZFHl (SHI0HH) - (AHBS9 3)
1,500 » 3h = 45.0 45.0 45.0
| 79.4 79.4
5. J1HZLl  E@ZES (4.5Ton)
Q=0d /8hr =75
MEHl 8,700 / Q = 116.0 116.0 116.0
R 49,479 / Q x 1.15 = 758.6 758.6 758.6
Z Bl 17,472/ 0=9.6 99.6 99.6
| g74.2 116.0 758.6 99.6
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@ AR (AL H HMAMN | mE

= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8x115=1.15

= 2534 5, 2-1-12-2 P1068

W AN Qg A2 d = 600M /Y

CZETNEHAUE(S+84 KM-6080(&HA)) @ 5,700 * 0.42
=2,39%4.0

30
far
nQ
fon
k)

$%) 15,000 x0.31 kg = 1,550.0

I

-

2 A

2. oA
SEOIR 1 221,506 » 201 / 0d » 1.15 = 849.1
HS0E 1 169,804 » 201 / Qd * 1.15 = 650.9
& A

3. ETE (FMHEHI 1%)
3,944 x 1% = 39.4

~
d

TE2 L ZEH (2H0H) - (UHF 3n)

ne

1,500 » 3h = 45.0

& A

5. J1HZLl  E@ZES (4.5Ton)
Q=0d /8hr =75
MEHl 8,700 / Q = 116.0
R 49,479 / Q x 1.15 = 758.6
Z Bl 17,472/ 0=9.6
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= APl
&F = = A g A M Z 4l L 24 2 dl
* p2 1185 H
@ NRE(LN)UHLTM SMAM 5 mY
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
= 2534 5, 2-1-12-2 P1068
¥ It L& NS 0d = 300m /L
1. Ml
CZETNEHAUE(S+84 KM-6080(&4)) @ 5,700 * 0.42 2,394.0 2,394.0
=2,39%4.0
felg (13,103%) @ 5,000 * 0.31 kg = 1,550.0 1,550.0 1,5650.0
| 3,944.0 3,944.0
2. oA
SZoIL 221,506 + 221 / 0d * 1.15 = 1,698.2 1,698.2 1,698.2
2SS ¢ 169,804 = 22 / Qd * 1.15=1,301.8 1,301.8 1,301.8
| 3,000.0 3,000.0
3. ETE (FMHEHI 1%)
3,944 x 1% = 39.4 39.4 39.4
4. 33&g 9 ZFHl (SHI0HH) - (AHBS9 3)
3,000 » 3h = 90.0 90.0 90.0
| 129.4 129.4
5. J1HZLl  E@ZES (4.5Ton)
Q=Qd/ 8r =375
MEHl : 8,700 / Q = 232.0 232.0 232.0
CRH 149,479 / Q * 1.15 = 1,517.3 1,517.3 1,517.3
d Bl 17472/ 0=19.2 199.2 199.2
| 1,948.5 232.0 1,517.3 199.2
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* M2 1193 H
@ AR (AL H SMAM | mE
= NAg €5 FHX 23, 188

BAIZE A HE L2
>A=8/8+115=115
= 2534 5, 2-1-12-2 P1068

¥ It L& NS 0d = 300m /L

1. Ml

F

I

-

v o

CZETNEHAUE(SEE KM-6080(A)) = 4,500 * 0.42

30
far
nQ
fon
k)

$%) 15,000 x0.31 kg = 1,550.0

2 A

2. oA
SZoIL 221,506 + 221 / 0d * 1.15 = 1,698.2
2SS ¢ 169,804 = 22 / Qd * 1.15=1,301.8
& A

3. ETE (FMHEHI 1%)
3,440 x 1% =34.4

~
d

e

ne

3,000 » 3h = 90.0

ZEH (2H0H) - (2HF 3h)

& A

5. J1HZLl  E@ZES (4.5Ton)
Q=Qd/ 8r =375
MEHl : 8,700 / Q = 232.0
CRH 149,479 / Q * 1.15 = 1,517.3
d Bl 17472/ 0=19.2
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2 or o =
&F = = A g A M Z 4l L 24 2 dl
A2 120 8
@ NRE(LN)UHLTM SMAM 5 mY
= NAEg &5 0N 25, 588
BAIZE A HE L2
>A=8/8+115=115
= 2534 5, 2-1-12-2 P1068
% BT, FUHE LY ASE : Qd = 228/
M=l
CZETNEHAUE(SEE KM-6080(A)) = 4,500 * 0.42 1,890.0 1,890.0
=1,890.0
felg (13,103%) @ 5,000 * 0.31 kg = 1,550.0 1,550.0 1,5650.0
| 3,440.0 3,440.0
kel
SZ0IT 1 221,506 » 22 / Qd * 1.15 = 2,234 .4 2,234.4 2,234.4
2S5 169,804 = 221 / 0d * 1.15 = 1,712.9 1,712.9 1,712.9
| 3,947.3 3,947.3
L BME (FHEHIS 1%)
3,440 x 1% =34.4 34.4 34.4
4. 33&g 9 ZFHl (SHI0HH) - (AHBS9 3)
3,947.3 » 3h = 118.4 118.4 118.4
| 152.8 152.8
. JIAZE - B@ZEE (4.5Ton)
Q=0Qd/ 8hr =285
MEHl : 8,700 / Q = 305.2 305.2 305.2
CRH 149,479 / Q + 1,15 =1,99.5 1,996.5 1,996.5
d Bl 17,472/ Q=262.1 262.1 262.1
| 2,563.8 305.2 1,996.5 262.1
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= APl
&F = = A g A M Z 4l L 24 2 dl
A2 121S 8
@ NRE(LN)UHLTM SMAM 5 mY
= NAEg &5 0N 25, 588
BAIZE A HE L2
>A=8/8+115=115
= 2534 5, 2-1-12-2 P1068
¥ 22X Jls €€ NS 0d = 108m /L
M=l
CZETNEHAUE(SEE KM-6080(A)) = 4,500 * 0.42 1,890.0 1,890.0
=1,890.0
felg (13,103%) @ 5,000 * 0.31 kg = 1,550.0 1,550.0 1,5650.0
| 3,440.0 3,440.0
kel
SZ0IF 221,506 + 221 / 0d * 1.15 = 4,717.2 4,717.2 4,717.2
2SS 169,804 = 22 / Qd + 1.15 = 3,616.1 3,616.1 3,616.1
| 8,333.3 8,333.3
L BME (FHEHIS 1%)
3,440 x 1% =34.4 34.4 34.4
37ES Y A (2H0H) - (LHF 3n)
8,333.3 » 3% = 249.9 249.9 249.9
| 284.3 284.3
. JIAZE - B@ZEE (4.5Ton)
Q=0Qd / 8r =135
MEHl 8,700 / O = 644.4 644.4 644.4
CRH 149,479 / Q x 1.15=4,214.8 4,214.8 4,214.8
d Bl 17,472/ Q=0553.4 553.4 553.4
| 5412.6 644.4 4,214.8 553.4
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= APl
& = = ol 8 o WEH | w=2H | F ol
* M2 125 H
® OFS HT L NN N
= TNE 83 @ 30N 23, 1988
BAIZ H2AIY BE L2y
>A=8/8+115=115
= 2554 1H,2-9-11 P119
ZSHERI ¢ 10N/, L=100H JIE
S7 24 012 0N F8
HE =8 150 %
1. A TH B3
1,500 / 10M * 1.03 = 0.5 =77.2 W/M 77.2 77.2
| 77.2 77.2
2. 8% 2 EHY
SEOIT 1 221,506 » 0.01 = A1 = 2,547.3 2,547.3 2,547.3
E | 2,547.3 2,547.3
3. @) 23
80+25%(1/1000 k< 1024 /100m)+ 1017 +3652= 730.0 W/ 730.0 730.0
| 730.0 730.0
g 3,364.5 807.2| 25473
g 3,354 3,354




2 or o =
&F = = A g A M Z 4l L2l &4 i
* p2 1285 H
& 3&S ZX(10n) ; HaE
= NNE €8 @ FHN 25, 188
BAIZE A HE L2
>A=8/8+115=115
* EXxA
wsAss FE0l ot HNS
FIot0l AN LHAHCZ HHX
HX9xE T LR
1. MEHl
=H (HEHE0IN HOIE) 20 * 80
2os d2 018
O (HIZEOIN HOIE) & 20 * 4.00
2,151 » 0.5=1,075.5 1,075.5 1,075.5
Z&E(AC 100, 220 V) : 64,200+ 1EA= 64,200.0 64,200.0 64,200.0
X Z(PVC PIPE ®25) : 1,880«1M= 1,880.0 1,880.0 1,880.0
2 d(#8PVC2E) 1 1,500+1M= 1,500.0 1,500.0 1,500.0
2. =2l
WAES : 268,915 « 0.132! * 1.15 = 40,202.7 40,202.7 40,202.7
3. &
K =200 » 10HR * 180€= 36000
& 180+ (K / 1000) = 2,880.0 2,880.0 2,880.0
g A 111,738.2 71,535.5 40,202.7
g 111,737 111,737




oot ot =
At = = A g A H Z 1l L2l &g ol
* M2 145 H
@ 2%)(9150m) ; ¥
s &l O 0 =1 O
1. HE8 I (HEA g 150mm)
Z Hl : 311x 1 Oix 8hr = 2,488.0 2,488.0 2,488.0
;| 2,488.0 2,488.0
2. A Z(14.92kw)
Z Hl 1883 *1«8hr=7,064.0 7,064.0 7,064.0
W&l @ 3,218 * 1+ 8hr = 25,744.0 25,744.0 25,744.0
EA| 32,808.0 25,744.0 7,064.0
3.3 A (g150mm)
Z Hl 6.0m*59«1+8hr=22832.0 2,832.0 2,832.0
;| 2,832.0 2,832.0
4. 28 9 HIl (S& 28
* 12 13 28
L=230m, V=250 m/Hr, t=25.0min
Cn = (30 / 2500) * 2 * 60 + 25.0 = 26.44 &
OIHRHIE + 401x 180,404 » 26.44 / 450 / 8 HR = 5,299.8 5,299.8 5,299.8
EA| 5,299.8 5,299.8
Al 43,427.8 25,744.0 5,299.8 12,384.0
g A 43,427.8 25,744.0 5,299.8 12,384.0
g A 43,427 25,744 5,299 12,384




2 or o =
&F = = A g A M Z 4l L2l Z i
x p2 1255 H
& SNETFA(48HE) ; 2E
o 2528 1#,2-11-5 P123
(SAH ZH1212F & ezt Mo 28 2Q)
s g EHEY
-AAUa ot = 48008 + 152/3 =720 €
-1 ARHA A = 4n(22)+100m( &2 01)=400m
-A~EH ¢ 1.5m/3
-=%3 : 16,0002
A1 = 400.00 = 53]/ (&=E2) « 720.002= 1440000 m
1. 42HI(S%3 16,0004, 104 B1)
SH3 10§ 100m & 0.008AI 2
MEHI:21,146 * 0.008AI2+ « A1 / t / 100 = 3,383.3 &/¥ 3,383.3 3,383.3
- 2H1:49,479 « 0.008AI2F « A1 / t / 100 = 7,916.6 &/ 7,916.6 7,916.6
Z H:18,728 « 0.008AI2F « A1 / t / 100 = 2,9%.4 &/ 2,996.4 2,996.4
| 14,296.3 3,383.3 7,916.6 2,99.4
Al 14,296.3 3,383.3 7,916.6 2,99.4
g 14,295 14,295




oo & =
s = = H [ | M= 8l L 2H| 4t
* M2 1265 H
® Ol ES(EYA)(B-Type, ABELZLR 13Ton) 5 MY
= NME &5 0 FHI &5, 1%EE
BAIZE ZAHAIQ AE L2
>A=8/8+11=115
= 24ZH 5 2-4-7 P1098
19 NS : Qd=6.4m/
NZLABE 0 Q =6.4m/Y /8hr/2 =08 m/hr
1. BixIoI&
BB (5): 250,572 « 201 / 6.4 » 1,15 = 90,049.3 90,049.3 90,049.3
880 8 169,804 « 121 /6.4 + 1,15 = 30,511.6 30,511.6 30,511.6
EA| 120,560.9 120,560.9
2. NSEYZEHX(13Ton)
M=Hl: 26,834 / 0.80 = 33,542.5 33,542.5 33,542.5
L 2Hl: 57,077 / 0.80 * 1.15 = 82,048.1 82,048. 1 82,048. 1
3 Hl: 46,423 / 0.80 = 58,028.7 58,028.7 58,028.7
EA| 173,619.3 33,542.5 82,048.1 58,028.7
3. SY3(55000 )
M=bl: 15,245 / 0.80 = 19,056.2 19,056.2 19,056.2
LR8I 49,479 / 0.80 * 1.15 = 71,126.0 71,126.0 71,126.0
& Bl 9,765 / 0.80 = 12,206.2 12,206.2 12,206.2
EA| 102,388.4 19,056.2 71,126.0 12,206.2
4. NE=
21,2710 » 2 m =2540.0 2,540.0 2,540.0
EN | 2,540.0 2,540.0
g A 399,108.6 55,138.7 273,735.0 70,234.9
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= APl
& & = ol s A | MBH | =28 | ZF U
02 275%
& OFS 87 2 BN(EH) ;N
= ORINBY 02 RYSERGES DG UTE 0% X8
SA=1/(1-02)=125
= ORINY CUEE 50 HE 5 A2 = 1.50
= 0R BAIZ HRUAIY HE 2|
5 A3=8/8%1.05+1.50=1.875
= 0584 1B 2-9-11 P11
SIHETI202 ¢ 1N/H, L=100H JIE
H7 24 12 N2 XS
W2 28 : 50 %
Y NTICED)
1,500 / 10 = 1.03 % 0.5 = 7.2 W/ 77.2 77.2
2 77.2 77.2
2. 87 % EAH|
SEOIS © 221,506 + 0.01 + A3 = 4,163.2 4,163.2 4,163.2
2 4,163.2 4,163.2
3. @) 93
80+25+(1/1000)kuh=( 103H/100m)+ 10nr +3652= 730.0 W/ 730.0 730.0
2 730.0 730.0
g 4,960.4 807.2  4,18.2
g 4,960 4,960




I

=

2,151 » 0.5=1,075.5

Z&E(AC 100, 220 V) : 80,000+ 1EA= 80,000.0
X Z(PVC PIPE ©25) : 1,228+1M= 1,228.0

2 H(#8PVC2E) 1 1,500+1M= 1,500.0

UWEES : 268,915 « 0.132! « 1.875 = 65,548.0
3. &

K =200 » 10HR * 180€= 36000
: 80 * (K / 1000) = 2,880.0

rz
J®

20% HE

el
X

1,075.5
80,000.0
1,228.0
1,500.0

65,548.0

2,880.0

152,231.5

1,075.5
80,000.0
1,228.0
1,500.0

2,880.0

86,683.5

65,548.0

65,548.0

o

H

152,231

152,231




oot ot =
At = = A g A H Z 1l L2l &g ol
* M2 195 H
@ 2%)(9150m) ; ¥
= OFZIAIBO (12 RHSEMOIE Dot L85 20% HE
SAM=1/(1-02)=12
= ORtAY CUEE 50% HE > A2 =1.50
= 0F2t BAIZE HHAIY AE L2
> A3=8/8+*125*150=1.875
s &l O 0 =1 O
1. HE8 I (HEA g150mm)
Z Hl : 311x 1 Oix 8hr = 2,488.0 2,488.0 2,488.0
;| 2,488.0 2,488.0
2. A Z(14.92kw)
Z Hl 1883 *1«8hr=7,064.0 7,064.0 7,064.0
MWl @ 3,218 * 1+ 8hr = 25,744.0 25,744.0 25,744.0
EA| 32,808.0 25,744.0 7,064.0
3.8 A (g150mm)
Z Hl :6.0mx*59«1+8hr=22832.0 2,832.0 2,832.0
;| 2,832.0 2,832.0
4. 28 2 HIl (S& 28
* 12 13 2
L=230m V=250 m/Hr, t=25.0min
Cm= (30 /2500) x 2 *60+25.0=2644 2
OIHARHT  401x 180,404 » 26.44 / 450 / 8 HR + 1.875 = 9 9,937.2 9,937.2
,937.2
EA| 9,937.2 9,937.2
Al 48,065.2 25,744.0 9,937.2 12,384.0
g 48,065.2 25,744.0 9,937.2 12,384.0
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ooty s
&F = = A g A M Z 4l L 24 Z i
+ 2 13182
@ EII(B/H 0.12m (50%)+012 (50%), EA) 3 mE
# 01 =50 %+ DI 50 %
1. CIZE{THII(50%)
= 2684 11 ,3-2-1 P132
* 12E NS 0=3.6 m/Y
SZoIL 1 221,506 = 121 / 3.6 » 0.5 = 30,764.7 30,764.7 30,764.7
2 A 30,764.7 30,764.7
2. JIHEIOI(50%, B/H 0.12m)
= 253 H 1M ,8-2-3 P266
g=0.12,K=09, f=1/12=0.8
E=0.70-0.05=10.65
Cn = 18(135%)
Q=3600 * 0.12 % 0.9 * 0.80 * 0.65 / 18 =11.23M3/HR
MEHl @ 4,882 / 11.23 = 0.5 = 217.3 217.3 217.3
L2 57,077 / 11.23 % 0.5 = 2,541.2 2,541.2 2,541.2
Zd Hl 9,26 / 11.23 0.5 =410.7 410.7 410.7
E 3,169.2 217.3 2,541.2 410.7
g A 33,933.9 217.3 33,305.9 410.7
g A 33,932 217 33,305 410




o Jr g =
aly = = A g M=l L 24| e S|
* M2 RS E
& SHRI L OE(oE, ZEH0ESHH 1.5ton) » MY
1. 08 2(100%)
w2534 18 3-4-3 P141
& OHXIDI(CHE S M30cn, EAH)
* 199 NS Qd=24 m/d
® AN2E ANBE Q=24 m/L /8B =3 m/hr
1) X«
(1) EY0IL : 221,506 » 101 / 24 = 9,229.4 9,229.4 9,229.4
(2) 25018 : 169,804 = 101 / 24 = 7,075.1 7,075.1 7,075.1
E: | 16,304.5 16,304.5
2) A2IIA
(1) ZY0IEZHE (1.5ton)
MEHl © 1,705 / 3.00 = 568.3 568.3 568.3
& Hl - 599 /3.00=199.6 199.6 199.6
&~ U 767.9 568.3 199.6
g A 17,072.4 568.3 16,304.5 199.6
&t H 17,071 568 16,304 199




2 or o =
&F = = A g A M Z 4l L 24 &4 i
x p2 13832 H
@ S0 I(2AE) (B/H 0.12m+PC 1.5ton) ; Mg
1. €o<I) & TE(B/H 0.12m, 90%)
= 2528 1H,3-4-6 P142
* 12 ANSE 1 0d=98 m/g
*OANZE NSE 1 0=98 m/2 /8hr/¥ =12.25 m/hr
1) Xl
(1) S22 : 221,506 » 12 / 98 + 0.5 = 1,130.1 1,130.1 1,130.1
(2) 2802 : 169,804 121 / 98 + 0.5 = 866.3 866.3 866.3
| 1,996.4 1,996.4
2) N8I
(1) 2321 (B/H 0.12m)
MEHl @ 4,882 / 12.25 0.5 = 199.2 199.2 199.2
LR 57,077 / 12,25 % 0.5 =2,329.6 2,329.6 2,329.6
Z Hl 19,226/ 12.25 + 0.5=376.5 376.5 376.5
(2) ISE (HEIH0IZA 0.7ton)
MEHl : 3,134/ 12.25 = 0.5 = 127.9 127.9 127.9
Z Hl 11,902/ 1225+ 0.5=77.6 77.6 77.6
(3) &% (55004 )
MEHl : 15,245 / 12.25 » 0.5 0.5 = 311.1 3111 3111
R 149,479 / 12.25 % 0.5 « 0.5 = 1,009.7 1,009.7 1,009.7
d Hl 19,765/ 12.25 0.5« 0.5 = 199.2 199.2 199.2
| 4,630.8 638.2 3,339.3 653.3

& OHXIDI(CHE S M30cn, EAH)
® 199 NS Qd=24 m/d

® NG NS Q=24 m/g [ 8hr =3 mihr




= APl
&F = = A g A M Z 4l L 24 2 dl

1) X

(1) SZ2 221,506 » 12 / 24 = 0.5 = 4,614.7 4,614.7 4,614.7

(2) 282 : 169,804 * 121 / 24 » 0.5 = 3,537.5 3,537.5 3,537.5

| 8,152.2 8,152.2
2) N8I

ZdI0IESHE (1.5ton)

MEHl : 1,705 / 3.00 * 0.5 = 284.1 284.1 284.1

Z Hl :599/3.00*0.5=99.8 99.8 99.8
| 383.9 2841 99.8
g A 15,163.3 922.3 13,487.9 753.1

g 15,162 922 13,487 753




]

ol 2 1 0.1 * 169,804 = 18,678.4 f/m

LQatabl = QNC - NMC = 13% - 8% = 5%
5 =W/ (2.0 t/m) x 100
0.05=W/2.0

WmE AQA2) =010 t/m

t2=2/25 % 2 « 60 = 9.6 min

t3 = 10min(EYAI2H)

t4 = Bmin(&Al2H)

cm=11+1t2+ 13+ t4=239.6 min
to=(t2+ t3+t4) / cm=0.62 min
Qw=260*V=*E/cm=7.5 ton/hr
Qg =7.50/0.10=75

|

1}

bl : 15,245 / 75.00 * to = 126.0 #/m

L
et

40

bl : 49,479 / 75.00 = 659.7 W/m

18,678.4

18,678.4

127.0

126.0
659.7

127.0

126.0

18,678.4

18,678.4

659.7




= APl
&F = = A g A M Z 4l L2l &4 i
g Hl 9,765 / 75.00 = 130.2 #/m 130.2 130.2
| 1,042.9 253.0 659.7 130.2
g A 19,721.3 253.0 19,338.1 130.2
g 19,721 253 19,338 130




oot ot =
s = 2 H g A ZHl L2l Hl
* M2 1BSHE
& LHPHYLOA(2F9) (B/H 0.12m3(50%)+9§(50%)+§EP?§)
1. ATOH(=2d) - g
2.0 H (¥3 0.12m, 50%)
= 2524 1H,8-2-3 P266
g=0.12m , K=1.1, f=0.9/1.15=10.78
Cn =18 sec(135°) , E=0.75
Q=23600*q«K=*fxE/Cm=15.44 m'/hr
MEHl 4,882 / 15.44 = 0.5 = 158.0 #/m 158.0 158.0
L 24| ¢ 57,077 / 15.44 « 0.5 = 1,848.3 W/m 1,848.3 1,848.3
Z Bl 19,226/ 15.44 « 0.5 =298.7 W/m 298.7 298.7
& A 2,305.0 158.0 1,848.3 298.7
3. ¢ =&(50%)
= 2AZH 1H,3-2-1 P136
SS02 1 169,804 * 0.11 + 0.1 = 1,867.8 W/m 1,867.8 1,867.8
EA| 1,867.8 1,867.8
4, HaHI(4-283 55004 )
W AQAE
QMC(RH A EHE 2~HI) = 13%
NIC(HH CHE & 2Hl) = 8%
L&l = QMC - NMC = 13% - 8% = 5%
5 =W/ (2.0 t/m) x 100
0.06=W/20
W(mg AQar2) =0.10 t/m
1) 281(ng)
m g 84 1 1,270 » 0.10 = 127.0 127.0 127.0

2) &==HI(L=1.0kn)

L=1.0kn, V=5.5m




gt =
&t e = A g A 28l L 24 bl

E=09(2C2043A 42RQYEX)

t1="5nin (EYZEHI)

t2=1/25 * 2 « 60 = 4.8 min

t3 = 10min(EYAI2H)

t4 = 20min(&=Al2H)

cm=11+ 12+ t3+ t4=239.8 min

to = (t2 + t4) / cmn = 0.62 min

Qw=060*V+*E/cm=7.46 ton/hr

Qg =7.46/0.10="74.6

M = 8l 15,245 / 74.60 « to = 126.7 W/m 126.7 126.7

L 2 Ul 49,479 / 74.60 = 663.2 W/m 663.2 663.2

d Bl 19,765 / 74.60 = 130.8 #/m 130.8 130.8

E| 1,047.7 253.7 663.2 130.8

g A 5,220.5 4a11.7 4,379.3 429.5
g 5,219 41 4,379 429




gt =
&t e = A g A X 2 i L2yl 4 i
* M2 1S HE
& ZHESVH(L=2.0M) (BE~HEAE) ; mg
© 2B :450/T "
© 28AC L=2.0KM
L=2.0Km L=2.0Km
HE - IEINE - 8%
V=20Km/h V=25Km/h
1.2 B (45T0ND.T)
= 258 H 1H,8-2-8 P282
L=2.0KN E=0.9, f=1/1.25=0.8
T=45TN, q=T/1.8+1.25=3.13 m'/C}
gs=0.2, K=0.9, n=q/ (as xK) = 17.39
cms = 18sec(135° ), Es = 0.70
t1="(cms *n) / (60 » Es) = 7.45 &
t2=((L/20)+(L/25)) = 60 = 10.8 &
t3=108, t4=0.42, t5=3.77(ALLNHLRI)
Cm=7.45+10.80+0.8+0.42+3.77=23.24 2
Q=(60*qx*fxE)/Cn=>5.82mhr
M=Hl @ 8,700 / 5.82 = 1,494.8 W/m 1,494.8 1,494.8
L2Hl ¢ 49,479 / 5.82 = 8,501.5 W/m 8,501.5 8,501.5
Z bl 17,472 /58 = 1238 Wm 1,283.8 1,283.8
EA| 11,280.1 1,494.8 8,501.5 1,283.8
g A 11,280. 1 1,494.8 8,501.5 1,283.8
g 11,278 1,494 8,501 1,283




2 or o =
&F = = A g A I=3s] L 24 Bl
x p2 7S H
& SHEATHI(EAM) BH0.2m 5 mE
= 2524 1H,8-2-3 P266
1. =2&J] 0.2m
0=02K=09, f=1/12=0.8
E=0.75, Cm = 13(45%)
0=23600 g K+ f+E/Cn=29.91M3/HR
MEHl © 7,629 / 29.91 = 285.0 255.0 255.0
24l ¢ 57,077 / 29.91 = 1,908.2 1,908.2 1,908.2
Z Hl 13,399 / 29.91 = 447.9 447.9 447.9
E | 2,611.1 255.0 1,908.2 447.9
g A 2,611.1 255.0 1,908.2 447.9
g 2,610 255 1,908 447




Z Bl 7472/ 7.81= 9%6.7 #/m

oot ot =
s = = A = =4 L 24
A2 1382 H
& SEESEH(L=2.0M ORI~ F) ; mE
* 28 450/T
# 28tHcl 1 L=2.0kM
[=2.0Km L=2.0Km
IHEXE [=Es) IHEXE
V=20Km/h V=25Km/h
1.4 I (2RI 1.0m)
= 2554 1M ,8-2-3 P266
g=10,K=09, f=1/125=0.8
E=0.75, Cm = 21(136%)
Q=3600*q*K=*fxE/Cn=92.57M3/HR
M=l 29,999 / 92.57 = 324.0 324.0
24| 1 57,077 / 92.57 = 616.5 616.5
d Hl 28,95/ 92.57 =312.7
2 A 324.0 616.5
2. 2 B (4.5T0ND.T)
= 2554 1M ,8-2-8 P22
L=2.0KM E=0.9 f=1/1.25=0.8
T=45T0N, q=T/1.8¢1.25=23.13 m/O}
gs=1.0,K=12,n=q/ (as * K) = 2.61
cms = 21sec, Es = 0.6
t1=(cms * n) / (60 » Es) = 1.52 &
t2=((L/20)+(L/25)) « 60 = 10.8 &
t3=0.8, t4=0.42, t5=3.77(ALLNLX)
Cm=1.52+10.80+08+042+3.77=17.31 &
Q=1(60*qx*fxE)/Cn=7.81m/hr
MEHl ;8,700 / 7.81 = 1,113.9 W/m 1,113.9
L2l 49,479 / 7.81 = 6,335.3 W/ 6,335.3
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6,951 1,269
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fOXE(2R11.0m)

~ 2534 18 ,8-2-3 P266

g=1.0K=09, f=1/12=0.8
E=0.75, Cm = 21(135%)

0=23600 g * K+ f+E/Cn=92.57M3/HR
MEHl © 29,999 / 92.57 = 324.0

‘R4l 57,077 / 92.57 = 616.5

Z Hl ot 28,955/ 92.57 = 312.7

|

.2 B (24.0TOND.T)

o 25B 4 1H ,8-0-8 P82

L=20.0KM, E=0.9, f=1/1.250.8
T=24.000N, q=T/1.8+1.25=16.67 m' /U4
gs=1.0,K=0.9 n=q/ (as  K) = 18.52
cms = 21(sec), Es = 0.60

t1=(cms = n) / (60  Es) = 10.8 &

t2 = 60.00 (28l £H

]
oz

HX)
t3=0.8, t4=0.42, t5=0.50(NHSLNHEX)
(m=t1+t2+t3+t4+th=722 2
Q=(60*qx*fxE)/Cn=29.9 m/hr

324.0

324.0




= APl
&F = = A g A M Z 4l L 24 2 dl

MEHl : 40,024 / 9.93 = 4,030.6 #/m 4,030.6 4,030.6

CRH 57,077 /9.93 = 5,747.9 H/m 5747.9 5,747.9

g Bl ¢ (32,323 +499) / 9.93= 3,306.3 #/m 3,305.3 3,305.3

| 13,083.8 4,030.6 5,747.9 3,305.3

g A 14,337.0 4,354.6 6,364.4 3,618.0
g 14,336 4,354 6,364 3,618




2 or o =
&F = = A g A M=t L 24 &4 i
* p2 A0S H
@ QSEAREHEMST) L=30n(2I03t) & mE
w2538 18, 1-2-7 P57
1. A28H2I03H)
1) EANB

V= 2500M/HR, T =45082

L = 30, t0 = 52

rt = 1800Kg/m

q=250Kg / rt =0.139 m

N = VT / (120L + Vxt0) = 69.88

Q=Nxqg=9.713 m

L 2H| ¢ 201%169,804 / 9.713 = 34,964.2 34,964.2 34,964.2

| 34,964.2 34,964.2

g A 34,964.2 34,964.2
g 34,964 34,964




2 or o =
&F = = A g A M=t L 24 &4 i
* p2 4SS H
@ USAAREHIHT) L=30n(2I03t) ¢ mE
- 2538 18, 1-2-7 P57
1. A28H2I03H)
1) 248
V= 2500M/HR, T =45082
L = 30, t0 = 52
rt = 1900Kg/m
q=250Kg / rt =0.132 m
N = VT / (120L + Vxt0) = 69.88
Q=N=xqg=9.224m
- RH : 201%169,804 / 9.224 = 36,817.8 36,817.8 36,817.8
| 36,817.8 36,817.8
g A 36,817.8 36,817.8
g 36,817 36,817




2 or o =
&F = = A g A M Z 4l L 24 2 dl
x pF 1425 H
@ OLAZEZEZNIN(AEEO0I3Y) ¢ mE
o 2524 5 3-1-1 P1103
® QY NS 1 0d=2.7 m/d
* AZY ABE 1 Q=27/8hr=0.34 m/hr
1. OtAZEZ NI
1) X
Q322,081 %2 ¢ /2.7=163,022.9 #/m 163,022.9 163,022.9
2E2 169,804 + 1 2 /2.7 =62,890.3 #/m 62,890.3 62,890.3
E | 225,913.2 225,913.2
2) 2801 (1.5m /min, HIIA)
d Hl 1 338x8hrx2 0 /0.34=15670.5 #/m 15,670.5 15,670.5
E | 15,670.5 15,670.5
3) ZMEHI (=12 1%)
M2 dl:225913.2 x 0.01 =2,259.1 #/m 2,259.1 2,259.1
E | 2,259.1 2,259.1
g 243,842.8 2,259.1 225,913.2 15,670.5
g 243,842 2,259 225,913 15,670




= APl
&F = = A g A M Z 4l L 24 &4 i
* p2 1485 H
@ OIAZEZY ZH(t=20cm0I5H) ; NE
= 2534 5 ,2-1-2 P1057
* 129 ANSE 1 Qd =500 n/€
# A2 ANSE 1 0=500n/2 /8hr/2 =62.5m/hr
1. BhxIe
1) S & 221,506 12! / 500 = 443.0 W/m 443.0 443.0
2) 2802 : 169,804 12! / 500 = 339.6 H/m 339.6 339.6
E | 782.6 782.6
2. NI
1) A E(320-400mm) : 47,138 / 62.50 = 754.2 H/m 754.0 152.7 569.7 31.6
2) SBERII(4.85w) : 2,468 + 0.5 / 62.50 = 19.7 W/m 19.7 7.7 2.0
| 773.7 170.4 569.7 33.6
3. M & Hi
Sall0E(14x3.2mm) © 169,800 *0.002704 = 458.4 458.4 458.4
1.2/ x208=2.4 25.4 25.4
E | 483.8 483.8
g Al 2,040.1 654.2 1,352.3 33.6
g 2,039 654 1,352 33




2 or o =
&F = = A g A M Z 4l L 24 2 dl
* p2 144SH
& ZACEXFMINI(AEEYO0IS)  mE
o 2524 5 3-1-1 P1103
® QY NS 1 0d=2.7 m/d
* AZY ABE 1 Q=27/8hr=0.34 m/hr
1. Z2UEZHEII
1) X
Q322,081 %2 ¢ /2.7=163,022.9 #/m 163,022.9 163,022.9
2E2 169,804 + 1 2 /2.7 =62,890.3 #/m 62,890.3 62,890.3
E | 225,913.2 225,913.2
2) AEE 013 (1.5, &D[4])
d Hl 1 338x8hrx2 0 /0.34=15670.5 #/m 15,670.5 15,670.5
E | 15,670.5 15,670.5
3) ZMEHI (=12 1%)
M2 dl:225913.2 x 0.01 =2,259.1 #/m 2,259.1 2,259.1
E | 2,259.1 2,259.1
g 243,842.8 2,259.1 225,913.2 15,670.5
g 243,842 2,259 225,913 15,670




= APl
&F = = A g A M Z 4l L 24 &4 i
x p2 1455 H
@ 232EZY FH(t=20cm0I3t) ; N
= 2534 5 ,2-1-2 P1057
* 12 ANSE 1 Qd =450 n/€
# ANZE NSE 1 Q=450 m/2 / 8 hr/2 =56.25 m/hr
1. BhxIe
1) S8 & 221,506 « 121 / 450 = 492.2 /m 492.2 492.2
2) 2802 : 169,804 10! / 450 = 377.3 W/m 377.3 377.3
E | 869.5 869.5
2. NI
1) A E(320-400mm) : 47,138 / 56.25 = 838.0 H/m 837.9 169.7 633.0 3.2
2) SBERII(4.85w) : 2,468 + 0.5 / 56.25 = 21.9 W/m 21.8 19.6 2.2
| 859.7 189.3 633.0 3.4
3. M & Hi
Sall01E(14x3.2mm) © 169,800 *0.003104 = 526.3 526.3 526.3
2 1.2/ »304=38.1 38.1 38.1
E | 564.4 564.4
g Al 2,293.6 753.7 1,502.5 37.4
g 2,292 753 1,502 37




2 or o =
&F = = A g A M Z 4l L 24 2 dl
x p2 1465 H
& F22IUEMIN(AEEY0I3) ¢ mE
o 2524 5 3-1-1 P1103
® QY ABY 1 0d=2.3 m/d
* ALY ABE 1 0=23/8hr=0.29 m/hr
1. E223cEMII
1) X
2 g 322,081 x2 0 /2.3=191374.7 #/m 191,374.7 191,374.7
BSOS 1 169,804 « 1 O / 2.3 =73,827.8 #/m 73,827.8 73,827.8
E | 265,202.5 265,202.5
2) AEE 013 (1.5, &D[4])
d H 1 338x8hrx2 0 /0.29=18372.4 #/m 18,372.4 18,372.4
E | 18,372.4 18,372.4
3) ZMEHI (=12 1%)
M2 dl 2652025 « 0.01 =2,652.0 #/m 2,652.0 2,652.0
E | 2,652.0 2,652.0
g 286,226.9 2,652.0|  265,202.5 18,372.4
g 286,226 2,652 265,202 18,372




2 or o =
&F = = A g A M Z 4l L 24 2 dl
* pF247SH
& LIZIUEMIN(AEE0I3Y) ¢ mE
o 2524 5 3-1-1 P1103
® QY NS 1 0d=2.7 m/d
* AZY ABE 1 Q=27/8hr=0.34 m/hr
1. R223cEMII
1) X
Q322,081 %2 ¢ /2.7=163,022.9 #/m 163,022.9 163,022.9
BSOS 1 169,804 « 1 2 / 2.7 = 62,890.3 #/m 62,890.3 62,890.3
E | 225,913.2 225,913.2
2) 2801 (1.5m /min, HIIA)
d Hl 1 338x8hrx2 0 /0.34=15670.5 #/m 15,670.5 15,670.5
E | 15,670.5 15,670.5
3) ZMEHI (=12 1%)
M2 dl:225913.2 x 0.01 =2,259.1 #/m 2,259.1 2,259.1
E | 2,259.1 2,259.1
g 243,842.8 2,259.1 225,913.2 15,670.5
g 243,842 2,259 225,913 15,670




o [0
-
[+
I

s = 2 | M=l L2l 4 i
* fh2 1485 H
¢ 28 =5 ASFEN(B-Type) ; ME
= 2534 5H 2-1-24 P1077
# B-Type
* 12 AIBE @ Qd = 260m' /Y
# NG AISE 1 Q=0d/ 8r =325 m/hr
1. Q12|
I & 327,989 « 201 [/ 260 = 2,061.4 2,061.4 2,061.4
SE012 169,804 » 101 / 260 = 653.0 653.0 653.0
2 A 2,714.4 2,714 .4
2. JIHZEY
HIZEZ(2.5Ton)
MEHl @ 5,046 / 32.50 = 155.2 155.2 155.2
L2l ¢ 49,479 / 32.50 = 1,522.4 1,522.4 1,522.4
Z Hl 16,400 / 32.50 = 196.9 196.9 196.9
2 A 1,874.5 155.2 1,522 .4 196.9
g A 4,588.9 155.2 4,236.8 196.9

o

A 4,587 155 4,236 196




ooty s
&F = = A g A M= d L 24 Z i
* 2 1495 5
@ HOI2L28H(HCon'C ¥ HASPSE) L=30m(2I03t) 5 m&
= 253 M 1| 1-2-7 P57
1. A28H(2103t)
1) HCon'C ¥ HASPS
V= 2500M/HR, T = 4508
L = 30M, t0 = 5%
rt = 2300Kg/m
q=250Kg / rt =0.109 m
N = V«T / (120+L + V*t0) = 69.88
Q=N+qg=7617Tm
LR ¢ 200%169,804 / 7.617 = 44,585.5 44,585.5 44,585.5
& A 44,585.5 44,585.5
g A 44,585.5 44,585.5
g A 44,585 44,585




oo & =
s = 2 H [ | M= 8l L 2H| 4 i
* M2 1508 H
@ HIIS28HL=2.0kM) (BE~IHEAE) ; B
O 28:450/T "
© 28AC L=2.0KM
L=2.0km L=2.0Km
oY —— > JERY ——— > %
V=20Km/h V=25Km/h
. &4 X:=&J 02w
e 2hZd 1H,8-2-3 P266
0=0.2,K=05, f=1/150=0.67
E=0.45
Cm = 18(135%)
0=3600 * 0.2 « 0.55 + 0.67 » 0.45 / 18 =6.63M3/HR
M=l 7,629 / 6.63 = 1,150.6 1,150.6 1,150.6
24l 57,077 / 6.63 = 8,608.8 8,608.8 8,608.8
Z dl : 13,399 / 6.63 = 2,020.9 2,020.9 2,020.9
E| 11,780.3 1,150.6 8,608.8 2,020.9
2.2 BH(45TOND.T)
e 2hE4d 1H,8-2-8 P282
L=2.0KM, E=0.9, f=1/1.50=0.67
T=45T0N, q=T/2.30+1.50 = 2.93 m'/(}
gs=0.2, K=10.55, n=q/ (gs * K) = 26.64
cns = 18(sec), Es = 0.45
t1="(cms = n) / (60 » Es) = 17.76 &
t2=((L/20)+(L/25)) = 60 = 10.8 &
t3=08, t4=0.42, t5=23.77(ALLNHLRI)
Cm=17.76 + 10.80 + 0.8 + 0.42 + 3.77 = 33.55 &
t0=(Cn-t1)/Cn=0.544
Q=(60+*q«*f=*E)/Cn=23.16 m/hr
M=Hl: 8,700 / 3.16 = t0 = 1,497.7 W/m 1,497.7 1,497.7
L2Hl: 49,479 / 3.16 = 15,657.9 W/m 15,657.9 15,657.9




&F = = FoA M Z 4l L 24 2 dl
Z Hl: 7,472 /3.16= 2,364.5 W/m 2,364.5 2,364.5
| 19,520.1 1,497.7 15,657.9 2,364.5
g A 31,300.4 2,648.3 24,266.7 4,385.4

o

A 31,299 31,299




2 or o =
&F = = A g A M Z 4l L2l &4 i
* p2 1515 H
& OIAZERS(ARR2EL) ; nY
o 2534 2#,1-5-5 PA18
¥ 12 NS 300 m/
NAEAIZE Q= 37.5m /hr
1. BhxIeI@
& 327,99 + 22 / 300m = 1,786.5 #/m 1,786.5 1,786.5
2S0IE 1 169,804 » 101 / 300m = 566.0 W/m 566.0 566.0
2 A 2,352.5 2,352.5
2. AHE I
1) 2 0IE STE(1.5ton)
MEHl 1,705 / 37.5 = 45.4 #/m 45.4 45.4
CPHl ¢ 35,608 / 37.5 = 949.5 /m 949.5 949.5
Z Hl 1599/ 37.5=15.9H/n 15.9 15.9
| 1,010.8 45.4 949.5 15.9
2) ASZE2(#MESIH0IEA, 0.7ton)
MEHl : 3,134 / 37.5=83.5 #/m 83.5 83.5
C2Hl ¢ 35,608 / 37.5 = 949.5 #/m 949.5 949.5
Zd Hl 1,902 /37.5=150.7 H/n 50.7 50.7
| 1,083.7 83.5 949.5 50.7
3) ZO(Et0I0f, 0.57m)
MEHl : 6,355 / 37.5 = 169.4 #/m 169.4 169.4
LR 1 57,077 / 37.5 = 1,522.0 /m 1,522.0 1,522.0
d Hl 17,237/ 37.5=192.9 #/m 192.9 192.9
| 1,884.3 169.4 1,522.0 192.9
4) THEE3, 550014 )
MEHl : 15,245 / 37.5 = 0.5 = 203.2 #/m 203.2 203.2




= APl
&F = = A g A M Z 4l L2l &4 i
LR 149,479 / 37.5 % 0.5 = 659.7 #/m 659.7 659.7
Z Hl 19,765/ 37.5+0.5=130.2 #/m 130.2 130.2
| 993. 1 203.2 659.7 130.2
g A 7,324 .4 501.5 6,433.2 389.7
g 7,323 501 6,433 389




2 or o =
&F = = A g A =3l L 24 Bl
x p2 1525 H
& OAZEIS(ARREE) ; mE
w253 2, 1-5-2 P416
* LEEN 7.5cm JIES
¥ 12 NS 320 m/
NEEAIZE 0 =320m / 8hr = 40 '/hr
1. BixIe@
& 327,989 + 200 / 320m = 1,674.9 W/ 1,674.9 1,674.9
2SQE 1 169,804 » 101 / 320m = 530.6 W/m 530.6 530.6
2 A 2,205.5 2,205.5
2. ZY0IE BBH(1.5ton)
M2l 1,705 / 40.00 = 42.6 #/m 42.6 42.6
L 2l 35,608 /40.00 = 890.2 H/m 890.2 890.2
Z Hl 599/ 40.00 = 14.9 #/m 14.9 14.9
E | 9477 42.6 890.2 14.9
3. WSEH(HZIHOIEA!, 0.7ton)
M = Hl @ 3,134 / 40.00 = 78.3 #/m 78.3 78.3
L 2l 35,608 /40.00 = 890.2 H/m 890.2 890.2
g Hl 11,902 / 40.00 = 47.5 #/m 47.5 47.5
| 1,016.0 78.3 890.2 47.5
4. A(EHOI0f, 0.57m)
M = Hl 16,355 /40.00 = 158.8 H#/n 158.8 158.8
L 2 dl 57,077 / 40.00 = 1,426.9 #/m 1,426.9 1,426.9
d Bl 7,237 /40.00 = 180.9 #/m 180.9 180.9
E | 1,766.6 158.8 1,426.9 180.9
5. SY3 (4T, 55004 )
M2l @ 15,245 / 40.00 +0.50H = 190.5 #/m 190.5 190.5




= APl
&F = = A g A M Z 4l L2l &4 i
L 2l : 49,479 / 40.00 +0.50H= 618.4 W/ m 618.4 618.4
Z Hl 9,765 / 40.00 *0.50H= 122.0 W/ 122.0 122.0
A A 930.9 190.5 618.4 122.0
g A 6,866.7 470.2 6,031.2 365.3
g 6,866 470 6,031 365




2 or o =
&F = = A g A M Z 4l L 24 2 dl
x p2 1535 H
& BXERL ¥ UF (YA AR2) ; vE
= 2534 28, 1-3-1 PA13
1. Hgxd
* 12g NSE 1 Qd = 150m /L
N AIZE 0 Q=150m/2 [ 8hr/ = 18.75 m'/hr
2. L&l
I8 3 216,121 « 201/ / 150m = 2,881.6 2,881.6 2,881.6
SEF 169,804 « 201/ / 150m" = 2,264.0 2,264.0 2,264.0
| 5,145.6 5,145.6
3. JAMNEE
1) 2RI(REAE, 0.60m)
MEHl 15,691 / 18.75m /hr = 836.8 836.8 836.8
LR 1 57,077 / 18.75m /hr = 3,044. 1 3,044.1 3,044.1
3 Bl 22,791 / 18.75m /hr = 1,215.5 1,215.5 1,215.5
| 5,096.4 836.8 3,044 .1 1,215.5
2) ASZE2(MESIH0IEA, 0.7ton)
MEHl @ 3,134 / 18.75m /hr = 167.1 167.1 167.1
L2+ 35,608 / 18.75m /hr = 1,899.0 1,899.0 1,899.0
Z Hl 1,902 / 18.75m /hr = 101.4 101.4 101.4
| 2,167.5 167.1 1,899.0 101.4
3) =283(5,5004 )
MEHl : 15,245 / 18.75m /hr * 0.5 = 406.5 406.5 406.5
LR 149,479 / 18.75m /hr + 0.5 = 1,319.4 1,319.4 1,319.4
d Hl 19,765 / 18.75m /hr * 0.5 = 260.4 260.4 260.4
| 1,986.3 406.5 1,319.4 260.4




o Jr g =
= = A g 2H]| L 24| Hl
H 14,395.8 1,410.4 11,408.1 1,577.3
4, Ar22(1=20cm2 O} 100mE 2tond| &)
Abgesk 0 127 * 100KG = 127.0 127.0 127.0
| 127.0 127.0
H 127.0 127.0
g A 14,522 .8 1,537.4 11,408.1 1,577.3
&t H 14,522 1,537 11,408 1,577




o Jr g =
At = =2 D st A L 2| bl
x A2 {545 H
@ SIE (LA RSC-4(404 /a) ; MY
o O5E M OW 1-5-1 P416
% 19 A2 ;8000 m/Y
AFEEAIZE Q= 8000m / 8hr = 1000 m /hr
1. BHxIoe
HEQIL 1 169,804 « 201 / 8000 = 42,4 W/m 42.4 42 .4
A 42.4 42 .4
2. A I OIAZE ATY0/0{(4004)
M 2 Hl 1,807 / 1000.00 = 1.8 #/m 1.8
L 2 Hl : 57,077 / 1000.00 = 57.0 #/m 57.0 57.0
& Hl: 771 / 1000.00 = 0.7 #/m 0.7 0.7
A 59.5 57.0 0.7
g Al 101.9 99.4 0.7
g 100 99




o Jr g =
At = =2 D st A bl bl
A2 1553 F
& DY RY(+SA) RSC-3(754 /a) » mY
o 25Z 4 PM {-5-1 PA16
% 19 A2 ;8000 m/Y
AFEEAIZE Q= 8000m / 8hr = 1000 m /hr
1. BHxIoe
HEQIL 1 169,804 « 201 / 8000 = 42,4 W/m 42.4 42 .4
A 42.4 42 .4
2. A I OIAZE ATYO0[0(4002 )
M 2 Hl 1,807 / 1000.00 = 1.8 #/m 1.8
L 2 Hl : 57,077 / 1000.00 = 57.0 #/m 57.0 57.0
Z Bl : 771/ 1000.00 = 0.7 #/m 0.7 0.7
A 59.5 57.0 0.7
g Al 101.9 99.4 0.7
g 100 99




St e =
&k = 2 p g A T2 = 2H 2
» M2 1565 H
& 232|E QI LM (B-TYPE, t=15en) ; m g
= 25EH D 1-6-2 P21
472 232E ZE(OE) @ EH 10cm 25.0m/Y(2E)
A2 232E ZZ(QUH) ¢ FH 15em 37.5m/L(2E)
472 232E EZ(U™) : FH 0o 50m/Y(EE)
472 232IE ZF(UH) @ FH 30em 75m/L(EE)
47182 232IE ZF() @ FH 40cm 100m/L(HE)
1. RYxA
1299 NS 1 Q1 =37.5m/g
NAGABE 1 0 =37.5m/L [/ 8hr/L = 4.69 m/hr
2. QIAH|
1) & & 3 : 267,989 » 401 / 37.5m = 28,585.4 28,585.4 28,585.4
2) BSQI8 1 169,804 » 201 / 37.5m =9,056.2 9,056.2 9,056.2
A 37,641.6 37,641.6
3. 3PL2(AFE 5) € BEHI(EHL 5)
1) 3722(A32E S) : 37,641.6 « 3% = 1,129.2 1,129.2 1,129.2
2) BTEHI(BH S) : 37,641.6 * 3% = 1,129.2 1,129.2 1,129.2
A 2,058.4 2,058.4
g 39,900.0 2,058.4 37,641.6
g A 39,899 2,258 37,641




2 or o =
&F = = A g A M Z 4l L 24 &4 i
x p2 1575 H
@ ZZ¥EF BH 9 £X ;M€
w253 2, 1-6-6 P423
1. ZZEE ¢
% 2g AIZ% 0 0d =600 /&
# A2 ANSE 1 Q=600/8hr=75
1) X
SZ0I2 1 221,506 » 12! / 600 = 369. 1 369. 1 369. 1
2S5 1 169,804 = 121 / 600 = 283.0 283.0 283.0
| 652.1 652. 1
2) e (320~400mm)
MEHl : 9,549 / 75.00 = 127.3 127.3 127.3
L RHl 35,608 / 75.00 = 474.7 4747 4747
Z Hl 1,981/ 75.00=26.4 26.4 26.4
| 628.4 127.3 4747 26.4
3) 22M=E
Sef01=(14+3.2m) : 169,800  0.31 EA / 100 m = 526.3 526.3 526.3
2 1 1.27 %3000 £ / 100 m=38.1 38.1 38.1
| 564.4 564.4
A 1,844.9 691.7 1,126.8 26.4
2. LZEE &7
w2524 28 1-6-7 PA23
* 2g AIZE ¢ Qdl =900 n/
1) X
Sg0I2 221,506 + 32! / 900 = 738.3 738.3 738.3
2S5 ¢ 169,804 = 22! / 900 = 377.3 377.3 377.3
2) 22z
HEANAHE (ConZZE) : 8,200 * 0.336kg * 1.03 = 2,83 2,837.8 2,837.8




= APl
&F = = A g M= LR Z i
7.8

SHEANTH0IH (Z2EEERM) 4,500 * 0.04 * 2 « 0.25 9.7 9.7

/m o+ 1.03 =92.7
& A 4,046. 1 2,930.5
A 4,046. 1 2,930.5
g A 5,891.0 3,622.2 2,242 4 26.4
g 5,890 3,622 2,242 26




oo & =
s = = H [ | M= 8l L 2H| 4t
M2 1585 H
& BCSSHMER (WAL, T=6em) ; MY
w255 d 5, 2-1-26 P1078
¥ 1Y NS Qd =180 m/Y
NSNS @ Q= 180m / 8hr = 22.5 m'/hr
1. BHXIOT&
T &3 267,989 « 200 / 180m = 2,977.6 2,977.6 2,977.6
Y012 221,506 * 20! / 180m = 2,461.1 2,461.1 2,461.1
SBS0I2 1 169,804 = 101 / 180m = 943.3 943.3 943.3
A 6,382.0 6,382.0
2. T4 1 2R|(REAE, 0.2m)
M=Hl @ 7,629 / 22.50 = 339.0 339.0 339.0
Bl : 57,077 / 22.50 = 2,536.7 2,536.7 2,536.7
Z bl : 13,399 / 22.50 = 595.5 595.5 595.5
N | 3,471.2 339.0 2,536.7 595.5
3. O ZY0IE SHE(1.5Ton)
M=Hl @ 1,705 / 22.50 = 75.7 75.7 75.7
L2l 35,608 / 22.50 = 1,582.5 1,582.5 1,582.5
Z Bl .59 /2250 =26.6 26.6 26.6
N | 1,684.8 75.7 1,582.5 26.6
4, 28t GTEA(2 5Ton)
TWEHl : 5,046 / 22.50 = 224.2 224.2 224.2
L2l 49,479 / 22.50 = 2,199.0 2,199.0 2,199.0
& Bl 6,400 / 22.50 = 284.4 284.4 284 .4
EN | 2,707.6 224.2 2,199.0 284.4
5. 37EE ¥ HMEHI (USRS 2Y5%) : 12,700.2 * 5% = 638 635.0 635.0




= APl
= = A g A M Z 4l L 24 Bl
635.0 635.0
14,880.6 1,273.9 12,700.2 906.5
2 14,879 1,273 12,700 906




oot ot =
At = = A g A H Z 1l L2l &g ol
* M2 1595 H
@ 2%)(9150m) ; ¥
s &l O 0 =1 O
1. HE8 I (HEA g 150mm)
Z Hl : 311x 1 Oix 8hr = 2,488.0 2,488.0 2,488.0
;| 2,488.0 2,488.0
2. A Z(14.92kw)
Z Hl 1883 *1«8hr=7,064.0 7,064.0 7,064.0
W&l @ 3,218 * 1+ 8hr = 25,744.0 25,744.0 25,744.0
EA| 32,808.0 25,744.0 7,064.0
3.3 A (g150mm)
Z Hl 6.0m*59«1+8hr=22832.0 2,832.0 2,832.0
;| 2,832.0 2,832.0
4. 28 9 HIl (S& 28
* 12 13 28
L=230m, V=250 m/Hr, t=25.0min
Cn = (30 / 2500) * 2 * 60 + 25.0 = 26.44 &
OIHRHIE + 401x 180,404 » 26.44 / 450 / 8 HR = 5,299.8 5,299.8 5,299.8
EA| 5,299.8 5,299.8
Al 43,427.8 25,744.0 5,299.8 12,384.0
g A 43,427.8 25,744.0 5,299.8 12,384.0
g A 43,427 25,744 5,299 12,384
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k=, =
&F = = A g Z i
* p2 161 H
@ HEXY AU ¢ 1A(FdS, 4EISEFIE)
(SAHEHDIE & Fedl2h Mel)
1. 22UE(EXAUE, SN H2E 5%H &)
HEUZ(SADIZ) © A=500m * 34 = 1500 nf
2. RNUUS(H 56HA)
809,800 = 1500.00m" * 5% = 60,735,000.0 60,735,000.0 60,735,000.0
| 60,735,000.0 60,735,000.0
g A 60,735,000.0 60,735,000.0
g 60,735,000 60,735,000




o [0
-
*
I

=
=
tn
(=
H
10
o
Y

]

=z

* U2 1605
& EEANRA YU (48HE) ; 14
= 534 1H,0-1-1 P95

BEMRA(YRIR, +2X, 21D, AIEY) &

A

ogr

2 Of 2 : 6,000 640.00m « 48 J§& = 184,320,000.0 184,320,000.0 184,320,000.0

E | 184,320,000.0 184,320,000.0
g A 184,320,000.0 184,320,000.0

o

A 184,320,000 184,320,000




¢é% 8 ) Z4

Ol

we &0
25142008
g 18008

mwa g:80.00 2

O
O YMER>(2E)
A2 TN = 273,971.00 x 16/12 x 1/8 x 25/20 = 57,077.29 &
SEX 2BA 2 27,5000 x 16/12 x 1/8 x 25/20 = 43,479.17 &
QEDIHZEA : 170,920.00 x 16/12 x 1/8 x 25/20 = 3,608.33 &




& H g T =& =g =y g A MZ 8l =2l ni

HESHI(TIEN) 150 mm 1 At 3

H)|(RT) 0.12m 1) A 71,18 4,882 57,077
)R 0.2m 1) At 78,105 7,629 57,077
H)|(RT) 0.6 m 1) A 9,599 15,691 57,017
)| 1.0m 1 Al 116,031 29,999 57,077
CHII 2.0m 1) A 304, 784 17,087 57,017
=013 0.2 m 1) Al 2,926

&= 0/ 0.6m 1) A 9,100

gIEY 4.5 ton 1 At 65,651 8,700 49,479
guEd 24 ton 1) A 129,424 40,024 57,017
HIEY 2.5Ton 1) At 60,925 5,046 49,479
gues IsgHAL 24ton 1) A 499

CErad) 4,85 1) At 2,468 2,216

ZH(EH010H) 0.9 m 1) A 77,730 11,258 57,017
ZH(Er0l0) 0.57 m 1 At 70,669 6,35 57,077
HHEEH(TFA) 10~12 ton 1) A 83,305 13,838 57,017
243(4+T) 16000 1) At 89,353 21,146 49,479
2Y43(4+7) o500 £ 1) A 74,489 19,245 49,479
A CHII 0.9 1) At 11,316

AEEYOIH(HIIA) 1.5 K 1) A 33

OIAZE OAECRE 3600 4 1 At 89,776 17,181 57,077
OIAZE AZg0l0f 400 4 1) A 59,695 1,807 57,017




21 & I A
& H g T =& =g =y g A MZ 8l =2l 4 4l u] )
OFAZE HOIH(TILIA) 3m A2t 130,240 17,540 57,077 55,623
Mo 1.91 cn A2t 59 5
ax(CEAy) 14.92 ki A2t 4101 3,218 883
USEYzER 13ton(3.00m &) A2t 130,334 26,834 57,017 46,423
EEY(TF4) 10.0 ton A2t 106,875 23,605 57,077 26,193
Ussd (=4 2.5 ton A2t 65,408 3,21 57,017 5,054
HSE(HE0IEA) 0.7 ton A2t 40,644 3,134 3,608 1,902
AH(2AUELOALES 320~400 m A2t 47,138 9,549 3,608 1,91
e (Er0l0f) 10 ton A2t 94,530 6,660 57,077 30,793
EHOIE S (THF4Y) 8~15 ton A2t 87,9% 12,408 57,017 18,511
BEEY(TF4) 58 ton A2t 13,225 7,43 57,077 8,709
S0EZHE 1.5 ton A2t 37,912 1,705 3,608 509




A 4 J] K

5 = 2 = sz |oe g A M & Hl = 8 4 & u] 3
e Ot = N e Ot = N & Ot = N & Ot = A

AL SHI(XEA!) [150 mm] [DIAII=A: 1,130 ]
IHEE Hl 1286/ 3 tlt|:786/2clHl | 0.2754 1,130 3.2 1,130 3.2

A 3 3
2EI(REHZ) [0.12 m] [DIADFZ: 44,250 & @]
3= Ns# 32| I 1,261 4,03.2 1,261 4,03.2 H0000-101
& s FHZHY % a0 % 847.3 847.3
ALIIH2E M 1 57,0729 57,0172 5,017.29 5,077.2 11048
JHEE H1:900/ 3 11700/ 22l 0.2085 4,250 9,226.1 4250 9,226.1

A 71,18 4,882 57,077 9,226
Z2EII(REHZ) [0.2 m] [I1HIHH: 64,267 &)
3= &g 0.0 I 1,261 6,305 1,261 6,305 H0000-101
& 3 FHEHY % AR 1,324 1,324
ALIH2E M 1« o7,077.29 57,0772 o7,077.29 o7,077.2 111048
IHEE Hl:900/ Z 8181 : 700/ 2t/ 0.2085 64,267 13,399.6 64,267 13,399.6

A 78,105 1,628 7,017 13,399
2EI(REHZ) [0.6 m] [IIAHIHH: 109,310 ]
3= N& & 0.2 1 1,261 12,862.2 1,261 12,862.2 H0000-101
& 35 FHSHY % 2 % 2,829.6 2,829.6
AL H2E M 1 57,0729 57,072 57,0729 5,077.2 11048




d & Il

L e o nz |us | Mo2 o = o2 = Hl .
S = I L L = < =

INEE HES00/BHHITO/ 2 | 0.208 109,310 2,791.1 109,310 2,791.1

A 9% 559 15,691 57,077 2,191
FZRIN(SBAE) [1.0 ] [DIHIFZ: 138,873 H&]
29 EE 95 1,261 24,589.5 1,21 24,589.5 0]
z B Z0i2H|9 § 2| 4 5,409.6 5,409.6
LYy Bl 1| 57,077.29 57,077.2 57,077.29 57,077.2 048
IHEE H:900/BHIH 700281 | 0.2085 138,673 28,955 138,673 28,955

A 116,03 2,99 57,077 28,95
DI (2.0 m) [DIH12: 423,166 ME]
2% RS e 27| | 1,261 66,454.7 1,261 B6.454.7 [00]
z Z02H|9 § 6] 4 10,62.7 10,627
ALIHSEN 1| e 57,077.29 57,077.2 57,077.29 57,077.2 048
INEE f:2000/Z W 111/22A | 0.4082 23,166 170,60.5 23,166 170,620.5

A 304,784 77,087 57,077 170,60
(VR EA0IH (0.2 m) [JIHIFZ: 4,434 ®E)
Yy EE] 113000/ 541 51:2833/ 220t | 0.6601 4,434 2.96.8 4,434 2,96.8

A 2.9 2,9

HEEH0IH (0.6 ™) [JIHIH2: 13,787 L]




A 4 J] K

5 = 2 = sz |oe g A M & Hl = 8 4 & u] 3
e Ot = N e Ot = N & Ot = N & Ot = A
JHE= 11:3000/Z 410 : 2633/ 221t | 0.6601 13,787 9,100.7 13,787 9,100.7
A 9,100 9,100
HIOIE™ (4.5 ton) [JIAHIFA: 25,185 &A]
3= &g 5.0 1,261 6,305 6,305 H0000-101
& 3 FHZHY % B 2,3%.9 2,3%.9
GEN2EMN 1 49,479.16 49,479.1 49,479.16 49,419.1 11049
Y 5= 111200/ ZHIH1: 1067/ 2218 | 0.2967 25,185 7,472.3 25,185 7,472.3
A 65,651 8,700 49,419 7,472
HIZE™ (24 ton) [DIAHIHA: 145,014 & ]
3= N&E 2.0 1,261 29,003 29,003 H0000-101
& s FHZHY % B 11,021.1 11,021.1
ALIIH2E M 1 57,077.29 57,0172 o7,077.29 o7,077.2 11048
JHEE H1:900/ 3 11650/ 22l Hl 0.2229 145,014 32,323.6 145,014 32,323.6
A 129,424 40,024 7,077 32,323
HIOE2 (2.5Ton) [JIHDIHA: 21,572 ®EA]
3r N&E 2.9 1,261 3,6%6.9 3,6%6.9 H0000-101
& 3 FHEHY % B 1,380.6 1,389.6
GEN2EMN 1 49,479.16 49,479.1 49,479.16 49,419.1 11049
e 111200/ B 181 1067/ 2218 | 0.2967 21,572 6,400.4 21,512 6,400.4




A 4 J] K

5 = 2 = sz |oe g A M & Hl = 8 4 & u] 3
e Ot = N e Ot = N & Ot = N & Ot = A

A 60,925 5,046 49,419 6,400
HIZE™ TISEHMAE (24ton) [D1HIHA: 1,861 ]
INEE {11125/ 111063/ 220 | 0.2684 1,861 499.4 1,861 499.4

A 499 499
SHERI| (4.85kw) [I1H1012: 902 M &]
SEe g 3 13 1 1,421 1,847.3 1,421 1,847.3 H0000-100
& s FHZHY % 00 % 369.4 369.4
IHEE {11125/ H[H1:1000/2218 | 0.279 902 252.4 902 2524

A 2,468 2,216 2
‘2O (EH0I01) [0.95 m] [I1HIOHA: 45,060 & &]
3= Ns# 6.2 I 1,261 7,818.2 1,261 7,818.2 H0000-101
& 35 FHSHY % 4% 3,440 3,440
ALIIH2E M 1 57,0729 57,017.2 57,077.29 o7,077.2 11048
JHEE H1:900/Z 11700/ 22l Hl 0.2085 45,060 9,3% 45,060 9,3%

A 7,730 11,258 57,077 9,3%
‘2C(etolof) [0.57 m'] [I1ADLA: 34,714 & A]
3= N 35| 1 1,261 4,413.5 1,261 4413.5 H0000-101
g 5 FHEHY % 4% 1,941.9 1,941.9




A 4 J] K

7 o= 7 A > @9 ¢ v= ! S
] o =] o o = o

ALIH2E M 1« o7,077.29 57,077.2 o7,077.2 111048
IHEE bl :900/ Z 8181 : 700/ 2] 0.2085 3,714 7,231.8 7,231.8

A 70,669 6,39 7,017 7,23
(AN BA (XHFEA) [10~12 ton] [+ 68,759 &)
3= Ns# 9.3 ! 1,261 1,721.3 1,261 11,7213 H0000-101
& s FHZHY % 18] % 2,110.9 2,110.9
ALIHSEMN 1 57,0729 57,077.2 5,077.2 11048
JHEE 1750/ 3 11500/ 22l 0.1802 68,799 12,390.3 12,390.3

A 83,305 13,838 7,077 12,390
S I3(&Xt) [16000 £ 1 [DIHIIHH: 88,637 H&]
3= &g 29 1 1,261 16,266.9 1,261 16,266.9 H0000-101
& 3 FHEHY % D) % 4,880 4,880
GEN2EMN 1« 49,479.16 49,479.1 49,419.1 111049
IHEE I :818/Z 551636/ /] 0.2113 88,637 18,728.9 18,728.9

A 89,353 21,146 49,419 18,728
SYI(44T) [5500 £1 (D142 46,215 M &)
3= NsE 9.3 ! 1,261 17213 1,261 1,721.3 H0000-101
& 35 FHSHY % O] % 3,518.1 3,518.1
GEN2EM 1 49,479.16 49,479.1 49,419.1 111049




A 4 J] K

5 = 2 = sz |oe s A M & Hl = 8 4 & u] 3
e Ot = N e Ot = N & Ot = N & Ot = A

JHE= H1:818/ 3 H1 bl 636/ 2l Hl 0.2113 46,215 9,765.2 46,215 9,765.2

A 74,489 15,245 49,479 9,765
A IO (0.95m) [D1AI0HA: 28,067 &&]
JHE= 11:2000/ZHIH: 1111/228 | 0,402 28,067 11,316.6 28,067 11,316.6

A 11,316 11,316
AEEYOIH(HIIA) [1.5 kW] [JIHIDFE: 1,335 ®R]
JHEE H:2500 0.25 1,33 333.7 1,33 333.7

A 333 333
TOLAZE CIAEZIRH (3800 £) [D12D12: 60,405 & &]
3= &g 10.9] 1,261 13,744.9 1,261 13,744.9 H0000-101
& 3 FHEHY % 5% 3,436.2 3,4%.2
ALIH2E M 1« o7,077.29 57,0772 o7,077.29 o7,077.2 111048
IHEE Hl 1125/ 3 HlHI:500/ 22/l | 0.2569 60,405 15,518 60,405 15,518

A 89,776 17,181 7,017 15,518

OtAZE AZHO0I0f (400 ¢) [I1AHIHA: 3,025 ]

SEe g 3 1.20 1,421 1,705.2 1,421 1,705.2 H0000-100
& 35 FHSHY % 6.0 % 102.3 102.3
AL H2E M 1 57,0729 57,077.2 o7,077.29 o7,077.2 11048




A 4 J] K

5 = 2 = sz |oe g A M & Hl = 8 4 & u] 3
e Ot = N e Ot = N & Ot = N & Ot = A

JHE= Hl: 1125/ SHlHI:750/ 22l | 0.2549 3,02 m 3,02 m

A 59,605 1,807 57,077 m
TOFAZE HOIH(TILIA) [3m] [J1HIA: 235,493 & &]
3= N 13 4 1,261 16,393 1,261 16,393 H0000-101
& 3 FHZHY % Tl % 1,141.5 1,147.5
ALIH2E M 1« o7,077.29 57,077.2 o7,077.29 o7,077.2 11048
Y 5= Hl: 1125/ 3HlHI:563/2 il | 0.2362 23,493 55,623.4 23,493 55,623.4

A 130,240 17,540 7,017 55,623
oIS A (1.91 cm) [I1AIOFA: 105 2]
IHEE H:5625 0.5625 105 5 105 5

A 5 5

AT (CI-AX) [14.92 kW] [D1HDH2: 3,155 &&]

3= NsE 20| ! 1,261 2,174.2 1,261 2,T14.2 H0000-101
& s FHZHY % 6] % 43.8 43.8
e {11125/ H1H1:1000/ 2218 | 0.279 3,195 883 3,195 883

A 4,101 3,218 883
MZELELEX [13ton(3.00m =) ] [I1AHIHH: 192,388 & A]
3= AR 5.2 1 1,261 19,167.2 1,261 19,167.2 H0000-101




A 4 J] K

5 = 2 = sz |oe g A M & Hl = 8 4 & u] 3
e Ot = N e Ot = N & Ot = N & Ot = A
& s FHSHY % o % 7,666.8 1,666.8
ALIIH2E M 1 57,0729 57,0172 o7,077.29 o7,077.2 11048
JHEE Bl 1071/ SHIHI:T74/ 22l | 0.2413 192,388 46,423.2 192,388 46,423.2
A 130,334 26,834 7,017 46,423
S SE2(XF4!) [10.0 ton] [DIAHIDHH: 92,722 E ]
3= &g 144 1,261 18,158.4 1,261 18,158.4 H0000-101
& 3 FHZHY % D] % 5,415 5,447.5
ALIH2E M 1« o7,077.29 57,077.2 o7,077.29 o7,077.2 11048
IHEE Hl 1286/ S Hlt|:857/ 22l | 0.2825 2,722 26,193.9 92,722 26,193.9
A 106,875 23,605 7,017 26,193
S8 (XF4]) [2.5 ton] [DIAHIIH2: 17,893 & ]
3= Ns# 23| 1 1,261 2,900.3 1,261 2,900.3 H0000-101
& 35 FHSHY % 13 % 3 3
ALIIH2E M 1 57,0729 57,017.2 o7,077.29 o7,077.2 11048
JHEE Hl 1286/ SHlH| 87/ 22l | 0.2825 17,893 5,054.7 17,893 5,054.7
A 65,408 3,21 57,077 5,054
S8 (MEIt0IE4!) [0.7 ton] [J1HIHA: 6,733 HR]
3= &g 22| 1 1,261 2,174.2 1,261 2,742 H0000-101
g 5 FHEHY % 13 % 360.6 360.6




A 4 J] K

E M = = & u]

N = o= e B = oA & Ot oA & Ot oA & Ot = A o
EIIH2E M 1« 3,608.33 35,608.3 3,608.33 3,608.3 11050
IHEE Hl: 1286/ S Hlt|:857/ 22l | 0.2825 6,733 1,902 6,733 1,902

A 40,644 3,134 3,608 1,902
HE (2IUEZLONAZEE) [320~400 mm] [2124101: 3,118 ® &]
SEe g 3 5.60| ! 1,421 7,97.6 1,421 7,97.6 #0000-100
& s FHZHY % 0.0 % 1,591.5 1,591.5
LEIIH2E A 1 3,608.33 35,608.3 3,608.33 3,608.3 111050
JHEE |:4000/ HIbl 1333/ 22/l | 0.6304 3,118 1,981.1 3,118 1,981.1

A 47,138 9,543 3,608 1,961
:3elel(Etolo) [10 ton] [I1AHIDZ: 134,000 &3]
3= &g 38| I 1,261 4,791.8 1,261 4,791.8 H0000-101
& 3 FHEHY % B w 1,868.8 1,868.8
ALIH2E M 1« o7,077.29 57,0772 o7,077.29 o7,077.2 111048
IHEE Hl:1071/3HlHI:536/ 22/l | 0.2298 134,000 30,79.2 134,000 30,79.2

A 94,530 6,660 7,017 30,793
'ELOIIEH (Rk=4!) [8~15 ton] [DIAHIDIA: 95,173 ]
3= NsE 8.0 ¢ 1,261 10,068 1,261 10,088 H0000-101
& 35 FHSHY % 23 % 2,30.2 2,30.2
AL H2E M 1 57,0729 57,072 57,0729 5,077.2 11048




A 4 J] K

L. . o |us g W= | = bl -
¢ oo 23 % g ) o | g o B @ | 23 3 o

JIHEE HI:838/Ib 5562208 | 0.1945 %, 173 18,5111 %, 173 18,5111

A 87,966 12,408 57,077 18,511
BHEIERI(XFA) [5~8 ton] (D14 46,748 B R
28 ACE 50| 1,21 6,305 1,261 6,305 000301
z g z012819 4 B % 1,134, 1,134.9
ALIHSEN 1| e 57,077.23 57,077.2 57,077.23 57,077.2 048
IHEE bl:750/ 3458/ 22061 | 0. 1683 46,148 B,709.1 46,748 B,709.1

Y 73,25 7,489 57,077 8,709
ZYOIEBWE (1.5 ton) [IIAIFA: 1,617 H&]
8es B g 10| 4 1,421 1,421 1,421 1,421 J0000-100
g g =012819 4 2| % 8.2 284.2
LB HREM i e 3,608.3 3%.608.3 3,608.3 3.6808.3 1080
JINEE 111800/ BH1H1: 1200/ 2208 | 0.3708 1,617 5.5 1,617 5.5

A 3.912 1,705 3,608 59
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NI =P
5 o S oo A FEE 2t A= s tEE H e oA 7 8 2 JI EF Ot A S
& Jt | Page | © JF | Page | & Jb | Page | & JF | Page | © Ot | Page | & Jt | Page
241 s m 48,50 % 781,44 & 748,500
323 AC 100~200VZ8 @180 | EA 80,000 897 80,000
3= N & l 1,61 X238 1,061]25.1.6,22%
L EREE LPIES 0.2m )] 83,000 1032 83,000
EREE BN 0.6m ) 220,000 | 1032 220,000
E2ENECE(ZR4) KSIFB0B0(& 44 R3) | ke 5300 597 4,90 20 4,900
CZENEEE(8EA) KSI-6080(&4 & Rd) | kg 3,850 597 3,850
F2ENEEE(3R4) KSIF60B0( & 44 R4) | ke 4850 597 4,85
CZHNBHAUE(4RE) KSI-6080(Z &) I 5817|597 57000 230 5,700
CZENEHIE(4RE) KSI-6080( 2444 I 4,950 597 4500 20 4,500
CZHNBHAUE(4RE) KSI-6080( &4 ) l 5817|597 57000 230 5,700
g 1 1.21] o328 1.27) 5% 1.27
g m 1,270 o328 1,200 5% 1,210
9534 #8-4.0mn ke 1,50 2 1,660 3 1,500
gd01E 0320400 13.2 EA 196,000 1414 169,800 | 1076 169,800
Bl B A AIA(VCT) 0X4.0 [ 2,151 1203 2,151
HENAHE (n228 kg 8,200) 129 8,200
2t L=10m [ 1,500 164 1,50 233 1,500
feolg 13,135 kg 5,000 166 50000 230 5,000
Felg 288,128 ke 32,0000 166 3,00 238 32,000
FRNTL0/0 Ce8REN kg 45000 597 450 20 4,50
8g 2u3(Y) Kuh 80| oty 80| 26 80




INIDIREED);
D) B S = It & & =R S HcH JF A S s =2 J| EF OF A
7 = = HMZOI} gl
S JF | Page | © JF | Page | & Jb | Page C Jb | Page C JF | Page | &t Jb | Page
PIC @25 1 1,08 762 1,08
030mm [ 1,880 75 1,95 714 1,880
EA 6,000] 1035 6,000
LPG, Y4t kg 229%| ol 2,392 1430 2,09
EA 64,2001 1102 64,200
g 3 ] 1,41 XY¥ 1,411 25.1.6, 245




AA 2 J| EL

= T =& =g =y g A MZ 8l =2l 4 4l u] )
1 4 187,875,180 187,875,180
1o 6,000 6,000
H3.0xW1.5xL30,32.0ton 1 2 9,700,000 95,700,000 | 12KItZp378
H3.0xW3.5%L30,34.0ton 1 2 103,000,000 103,000,000 | HeA2+P3r8
H4.0xW2.5x130,40.0ton 1 2 114,700,000 114,700,000 | HeAI+=P3r8
H3.0xW2.5%L30,33.0ton 1 2 99,700,000 99,700,000 | HKIH=P3T8
H4.0xW1.5xL30,39.0ton 1z 110,700,000 110,700,000 | HeAI+=P3r8
NEF Fes 1 m 809,800 809,800 | SALRIOE
Ho.0x4.0%B4.0 S 52,000,000 52,000,000 | EIHTSP291




